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30 : sruoH maxE 40 : keeW /srH  

 : skraM maxE 05 : .srH latoT 08  

 eludoM – 1 
: scinahceM mutnauQ dna scisyhP nredoM  

,noitaidar fo yroeht mutnauq fo snoitpmussA ,murtceps noitaidar ydob kcalB   s’knalP

regnol dna retrohs rof ,wal snaeJ hgielyaR dna wal snieW ,wal  .stimil htgnelevaw  

 eilgorBed ,msilaud elcitraP evaW  .sisehtopyh  notpmoC  tceffE   lacisyhP sti dna

,seitreporp citsiretcarahC rieht dna sevaw rettaM .ecnacifingis   dna yticolev esahP

puorg dna yticolev esahp neewteb noitaleR .yticolev puorg   neewteb noitaleR ,yticolev

.yticolev elcitrap dna yticolev puorg  

 ytniatrecnu s’grebnesieH noN( ,noitacilppa sti dna elpicnirp - fo ecnetsixe  

fo ecnacifingis lacisyhp dna seitreporP ,noitcnuf evaW.)suelcun ni nortcele   evaw

.noitcnuf evaw fo noitazilamroN dna ytisned ytilibaborP ,noitcnuf   eno fo pu gnitteS

w regnidorhcS tnednepedni emit lanoisnemid .noitauqe eva   negiE dna seulav negiE

.noitauqe evaw regnidorhcS fo noitacilppA .snoitcnuf   negiE dna seulav negiE ygrenE

fo llew laitnetop a ni elcitrap a rof snoitcnuf   .elcitrap eerf rof dna htped etinifni  

sruoH 01  

 eludoM – 2 
elE  fo seitreporP lacirtc slairetaM : 

eerF –  naeM,emit noisilloc naeM ,yticolev lamrehT ,yticolev tfirD( tpecnoc nortcele

.yroeht nortcele eerf lacissalc fo eruliaF .)emit noitaxaler ,htap eerf   eerf mutnauQ

 evitatilauq(setats fo ytisned ,rotcaf imreF ,snoitpmussA ,yroeht nortcele imreF ,)ylno –

lacirtcele rof noisserpxE .scitsitatS cariD   nortcele eerf mutnauq no desab ytivitcudnoc

eerf mutnauq fo stireM ,yroeht  .yroeht nortcele  

 snortcele fo noitartnecnoC ,slairetam gnitcudnoc imeS fo ytivitcudnoC

,srotcudnocimes cisnirtni ni selohdna  .noitca ssam fo wal   erutarepmeT  fo ecnedneped

gnitcudnocrepus dna slatem ni ytivitsiser   renssieM( dleif citengam fo tceffE .slairetam

epyT.)tceffe - epyT dna I - II  srotcudnocrepus –  lacitirc fo ecnedneped erutarepmeT

tarepmet hgiH.)evitatilauq(yroeht SCB.dleif .srotcudnocrepus eru  fo snoitacilppA  

 srotcudnocrepus – .selcihev velgaM.  
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sruoH 01  

 eludoM – 3 
: srebiF lacitpO dna sresaL  

resaL a fo setisiuqeR.)ytisned ygrene rof noisserpxe( stneiciffeoc s’nietsniE  .metsys  

.noitca resal rof noitidnoC   ,elpicnirP OCfo gnikrow dna noitcurtsnoC 2  dna resal

 resaL fo snoitacilppA .resaL rotcudnocimes – ,gnidlew resaL   .gnillird dna gnittuc

.stnatullop cirehpsomta fo tnemerusaeM  yhpargoloH –  dna gnidroceR fo elpicnirP

.,segami fo noitcurtsnocer  

itpo ni msinahcem noitagaporP .srebif lac  .ecnatpecca fo elgnA  laciremuN  

.erutrepa  ,noitaunettA .noitagaporp fo sedom dna srebif lacitpo fo sepyT   kcolB

.snoitacilppa ,noitacinummoc tniop ot tniop fo noissucsid margaid  

sruoH 01  
 

 eludoM – 4 
: erutcurtS latsyrC  

siavarB ,ecittal ecapS  ecittal – .llec evitimirp ,llec tinU  .sretemarap ecittaL   latsyrC

.smetsys  .latsyrc a ni senalp dna noitceriD  noisserpxE .secidni relliM   retni rof –  ranalp

oC .gnicaps -  ,wal s’ggarB .)CCB ,CCF,CS(srotcaf gnikcap cimotA .rebmun noitanidro

syrc fo noitanimreteD s’ggarB gnisu erutcurts lat  X–  yar  .retemotcarfid    msihpramyloP

.yportollA dna  fo erutcurtS latsyrC  tilauq ,dnomaiD fo noissucsid evita   setiksovreP  .  

sruoH 01  

 eludoM – 5 
evaw kcohS slairetaM onaN fo ecneicS dna s : 

 snoitcnitsid ,rebmun hcaM fo noitinifeD neewteb - ,cinosartlu ,citsuoca   dna cinosbus

.sevaw cinosrepus  sti dna evaw kcohs a fo noitpircseD  .snoitacilppa   fo scisaB

 ygrene dna mutnemom ,ssam fo noitavresnoc -  kcohs lamron fo noitavired

noitavresnoc cisab elpmis gnisu spihsnoitaler   snoitauqe eniknaR( -  .)snoitauqe tinoguH

sevaw kcohs gnitaerc fo sdohteM   fo noitpircsed ,ebut kcohs a gnisu yrotarobal eht ni

yddeR detarepo dnah   ,ecneicS onaN ot noitcudortnI .scitsiretcarahc sti dna ebut kcohs

.serutcurts D3 dna D2 ,D1 ni setats fo ytisneD  sisehtnyS  poT : – mottoB dna nwod –  pu

loS dna gnilliM llaB ,hcaorppa –  TNC.sdohtemleG –  crA :sisehtnys ,seitreporP

.snoitacilppA ,sdohtem sisyloryP ,egrahcsid   ,elpicnirP :epocsorcim nortcelE gninnacS

.snoitacilppa dna gnikrow  
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sruoH 01  

 

skooB txeT  

 ,txeT esicerp yeliW .1 ”scisyhP gnireenignE“ weN ,.dtL etavirP aidnI yeliW ,  

 seires kooB .ihleD – ,4102  

 ,ragasrihsK.G.P.rD ,ulunahdavA .N.M.rD .2 gnireenignE fo kooB txeT“  

”scisyhP  ihleD weN ,gnihsilbuP dnahC S , – .2102 skooB ecnerefeR  

 

: skooB ecnerefeR  

 ,txeT esicerp yeliW .1 ”scisyhP gnireenignE“ weN ,.dtL etavirP aidnI yeliW ,  

 seires kooB .ihleD – ,4102  

 ,ialliP.O.S .2 ”scisyhP etatS diloS“ noitidE htxiS .lanoitanretnI egA weN ,  

,yddeR.J.P.K dna anayakaT.K, ramuK.SootnihC .3 edam sevaw kcohS“  

”elpmis D weN .dtL .tvP aidnI yelliW , 4102,ihle  

 ,inakiraM .A .4 ”scisyhP gnireenignE“ ,detimiL etavirP gninraeL IHP ,  

ihleD – 3102  

 ,ujaravasaB .P .S .forP .5 ”scisyhP gnireenignE“ ,serotS sahbuS ,  

erolagnaB –2 

 ,nardnejaR .V .6 ”scisyhP gnireenignE“ ,.dtL ynapmoC lliH warG.cM ataT ,  

 ihleD weN - 2102  

,udiaNinaM.S .7 ”scisyhP gnireenignE“  detimiL aidnI nosraeP , – .4102  

 

 

 

 

 

 

 



                                                         scisyhP gnireenignE                                                            1YHP51 2 

 

 tnemtrapeD ,scisyhP fo  TIBJS   egaP 4 
 

 

 

 

 

 

 

 

 

 

 

eludoM  
 

xednI  
 

 egaP
on  

1  scinahceM mutnauQ dna scisyhP nredoM  

 

5 

2 
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 srebiF lacitpO dna sresaL  

75  
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eludoM -1 

scinahceM mutnauQ dna scisyhP nredoM  

,noitaidar fo yroeht mutnauq fo snoitpmussA ,murtceps noitaidar ydob kcalB   s’knalP

snieW ,wal  regnol dna retrohs rof ,wal snaeJ hgielyaR dna wal  .stimil htgnelevaw  

elcitraP evaW  .sisehtopyh eilgorBed ,msilaud  notpmoC  tceffE   lacisyhP sti dna

,seitreporp citsiretcarahC rieht dna sevaw rettaM .ecnacifingis   dna yticolev esahP

 noitaleR .yticolev puorg puorg dna yticolev esahp neewteb   neewteb noitaleR ,yticolev

.yticolev elcitrap dna yticolev puorg  

noN( ,noitacilppa sti dna elpicnirp ytniatrecnu s’grebnesieH -  ecnetsixe

fo ecnacifingis lacisyhp dna seitreporP ,noitcnuf evaW.)suelcun ni nortcelefo   evaw

cnuf .noitcnuf evaw fo noitazilamroN dna ytisned ytilibaborP ,noit   eno fo pu gnitteS

.noitauqe evaw regnidorhcS tnednepedni emit lanoisnemid   negiE dna seulav negiE

.noitauqe evaw regnidorhcS fo noitacilppA .snoitcnuf   negiE dna seulav negiE ygrenE

 rof snoitcnuf fo llew laitnetop a ni elcitrap a   .elcitrap eerf rof dna htped etinifni  

.sruoH 01  

 
:tnetnoC  

 
 murtceps noitaidar ydob kcalB  

 sevaw rettam fo tpecnoc s’eilgorB eD  

 yticoleV esahP  

 yticolev puorG  

 yticolev puorg dna yticolev esahp neewteb noitaleR  

  grebnesieH elpicnirp ytniatrecnu  

 noitauqe evaw regnidorhcS  

 seulav negiE   dna noitcnuf negiE  

 noitcnuf negiE  
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:murtceps noitaidaR ydobkcalB  

  stime dna ti no tnedicni noitaidar eritne eht sbrosba hcihw eno si ydobkcalB A

toh erom si ti nehw noitaidar debrosba eht lla  tsixe ton seod ydobkcalb eurt A .

rev serutaef sah nieW yb dengised ydobkcalb A .yllacitcarp  eurt eht ot esolc y

.ydobkcalb  A  lla fo noitaidar a time ot dnuof erutarepmet ralucitrap a ta ydobkcalb

f gnitrats murtceps suounitnoc a si tI .shtgnelevaw elbissop  muminim niatrec mor

 a ot sdnopserroc ytisnetni mumixam ehT .htgnelevaw mumixam ot htgnelevaw

 tnereffid era ereht ,ydob kcalb eht fo serutarepmet tnereffid roF .htgnelevaw ralucitrap

opserroc htgnelevaw eht ,sesaercni ydob eht fo erutarepmet eht sA  .sevruc  ot gnidn

 ygrene fo noitubirtsid ehT .edis htgnelevaw rewol sdrawot stfihs ytisnetni mumixam

 noitaidar ydob kcalb ni .gif gniwollof eht ni nwohs si  
     VU ELBISIV    RI      

Wavel ne htg

renE gy

600 K0

300 K0

200 K0

 
hgielyaR ,s’nieW -  evah kcnalP dna snaeJ  eseht tnuocca ot snoitanalpxe rieht nevig

:swollof sa stcaf latnemirepxe devresbo  

 :waL tnemecalpsiD s’nieW  

  ylesrevni si ytisnetni mumixam fo htgnelevaw eht“ taht setats wal ehT

ihw fo esuaceb ,ydob gnittime eht fo erutarepmet etulosba eht ot lanoitroporp  eht hc

 rewol eht sdrawot decalpsid teg serutarepmet tnereffid rof sevruc ygrene eht fo skaep

.”edis htgnelevaw  

 .e.i
Tm
1

 ro  λm 01×898.2=tnatsnoc=T -3 Km  

nieW   yltcerid si noissime kaep eht fo ygrene mumixam eht taht dewohs

.erutarepmet etulosba fo rewop htfif eht ot lanoitroporp  

 Em T α 5  ro  Em T × tnatsnoc = 5 
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:wal s’nieW  fo erutarepmet eht dna noissime fo htgnelevaw eht neewteb noitaler ehT

 si ecruos eht  

 deCdU T
C2

5
1

 

U erehW λ C ,λd+λ dna λ htgnelevaw fo egnar eht ni emulov tinu / ygrene eht si λd 1 

C dna  2 .stnatsnoc era  

  noitaidar ydob kcalb eht ni noitubirtsid ygrene fo wal s’nieW dellac si sihT

.murtceps  

:wal s’nieW fo skcabwarD  

  sdloh wal s’nieW  erutarepmet hgih dna noiger htgnelevaw retrohs eht rof doog

 gnidnopserroc noitaidar fo ytisnetni ni pord laudarg nialpxe ot deliaf tI .ecruos eht fo

.eulav kaep eht naht retaerg htgnelevaw regnol ot  

.1  hgielyaR - :waL snaeJ  

 eht rof noitauqe na devired hgielyaR   fo sisab eht no noitaidar ydobkcalb

 stseggus ygrene fo noititrapiuqe fo elpicnirp ehT .ygrene fo noititrapiuqe fo elpicnirp

 fo rebmun ehT .noitarbiv fo edom hcae ot dengissa si Tk ygrene egareva na taht

ar eht ni si htgnelevaw esohw emulov tinu/snoitarbiv  yb nevig si λd+λ dna λ fo egn

λπ8 -4 .λd  

 si λd + λ dna λ egnar htgnelevaw eht ni emulov tinu/ygrene ehT  

Uλ λTkπ8 = λ d -4 λd  

01x83.1 =tnatsnoc nnamztloB si k erehW - 32 .K/J  

 hgielyaR si sihT -  eht yb detaidar ygrene ylgnidroccA .noitauqe snaeJ

 sesaerced ydobkcalb .htgnelevaw gnisaercni htiw  

hgielyaR fo skcabwarD - )ehportsataC teloiV artlU ro( :waL snaeJ  

 

 hgielyaR -  htgnelevaw retrohs ta ygrene eht lla etaidar ot stciderp waL snaeJ

arfni eht ni ylniam setaidar ydob kcalb A .os neppah ton seod ti tub edis - lbisiv ro der  e

 ylpeets nwod sesaerced noitaidar fo ytisnetni dna murtceps citengamortcele fo noiger

hgielyaR eht ,suhT .shtgnelevaw retrohs rof -  rewol eht nialpxe ot sliaf waL snaeJ

artlu sa ot derrefer si sihT .murtceps eht fo edis htgnelevaw - .ehportsataC teloiv  
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.2  P :waL s’kcnal  

  regral stsisnoc ydobkcalb latnemirepxe eht fo sllaw taht demussa kcnalP

.ycneuqerf nwo sti htiw setarbiv rotallicso hcaE .srotallicso lacirtcele fo rebmun  

)i  υh fo elpitlum largetni yb nevig ygrene na sah rotallicso hcaE   si h erehw

.noitarbiv fo ycneuqerf eht si υ & tnatsnoc s’kcnalP  

.cte . . . 3 ,2 ,1 = n erehw υhn = E  

)ii   a ylevitcepser gnibrosba ro gnittime yb ygrene niag ro esol yam rotallicso nA

 eht fo seigrene ni ecnereffid si EΔ ,h/EΔ=υ erehw υ ycneuqerf fo noitaidar

o .ecalp ekat noitprosba ro noissime eht retfa dna erofeb rotallics  

 

 ydobkcalb eht fo murtceps eritne eht rof doog sdloh hcihw wal eht devired kcnalP

sa noitaidar  

 Uλ  = λd d
e

ch
Tkh 1

18
/5

  )λ/c = υ ecnis(  

 .waL noitaidaR s’kcnalP si sihT  

 

:wal snaeJ hgielyaR dna wal s’nieW ot wal s’kcnalP fo noitcudeR  

)1  .egral si λ/c = υ ,shtgnelevaw retrohs roF  

e ,egral si υ nehW Tk/υh  .egral yrev si  

  ..  . e Tk/υh 1 >>  

 ..  . e( Tk/υh -  )1 e ≈ Tk/υh  e = Tkλ/ch  

:1 nqe ni gnitutitsbuS  

Uλ  = λd dch
Tk/ch5 e

18   = deC T
C2

5
1  

C erehW  1 C dna chπ8 =  2 k/ch =  

.noitaidar fo wal s’nieW eht si sihT  

 

)2  .llams si λ/c = υ shtgnelevaw regnol roF  

.llams yrev si Tk/υh llams si υ nehW  

e gnidnapxE Tk/υh  :seires rewop sa  
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 e Tk/υh  )Tk/υh( + Tk/υh + 1 = 2 . . . +  

  h + 1 ≈ .Tk/υ  
... .detcelgen era srewop rehgih sti ,llams si Tk/υh fI  

.. e  . Tk/υh -  = 1
Tk
ch

Tk
h

 

:1 nqe ni gnitutitsbuS  

 Uλ  = λd d

Tk
ch
ch

5

8
 

    = dTk
4

8
 

.noitaidaR fo waL snaeJ hgielyaR si sihT  

:tceffE notpmoC  

   a fo gnirettacs ehT otpmoC sa dellac si nortcele na yb notohp  ro tceffe n

.gnirettacs notpmoC  

  noitcerid eht ni nortcele na yb derettacs si ’λ‘ htgnelevaw fo notohp a nehW

 derettacs eht fo htgnelevaw eht ,ecnedicni fo noitcerid eht htiw ’θ‘ elgna na gnikam

tI .sesaercni notohp  na gnikam noitcerid a ni sliocer nortcele ehT  .'λ si htgnelevaw s

'λ( htgnelevaw eht ni ecnereffid ehT .notohp fo noitcerid tnedicni eht htiw ’φ‘ elgna -

 tegrat eht fo tnednepedni si 'λ taht dnuof notpmoC .tfihs notpmoC eht dellac si )λ

dneped tub ,lairetam .gnirettacs fo elgna eht no s  

 

 λ/ch=E yb nevig si E ygrene sti ,notohp tnedicni eht fo htgnelevaw eht si λ fI

 fo htgnelevaw eht si ’λ‘ ,thgil fo yticolev eht si ’c‘ ,tnatsnoc s’kcnalP eht si ’h‘ erehw

cs eht fo htgnelevaw eht si 'λ fI .notohp tnedicni eht  si 'E ygrene sti ,notohp deretta

 yb nevig  
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  'λ/ch = 'E  

 fo ecnereffid ehT .'E ot E morf decuder si notohp derettacs eht fo ygrene ehT

 fo noitcerid tnedicni eht htiw ’φ‘ elgna na ta nortcele gniliocer yb deirrac si ygrene

.notohp  

resnoc fo swal eht gniylppA  mutnemom fo noitavresnoc dna ygrene fo noitav

 htgnelevaw ni egnahc rof noisserpxe na deniatbo notpmoC yb nevig λ  'λ = λ –  λ

 = 1(
cm

h soc )  notpmoC sa dellac si cm/h ,nortcele eht fo ssam eht si ’m‘ erehW

notpmoC .htgnelevaw  pxe tceffE .thgil fo erutan elcitrap snial  

ed( rettam fo erutan lauD - )sisehtopyH eilgorB  

 tceffe cirtceleotohp ,noitcarffid ,ecnerefretni fo nonemonehp eht stibihxe thgiL

na  eb ylno nac noitcarffid ,ecnerefretni fo nonemonehp ehT .tceffE notpmoC d

 fo nonemonehp ehT .sevaw fo mrof eht ni slevart thgil taht tpecnoc eht htiw denialpxe

 fo tpecnoc eht htiw denialpxe eb ylno nac tceffE notpmoC dna tceffe cirtceleotohp

yroeht mutnauQ  .thgil fo   si ti ecneH  .erutan elcitrap ssessop thgil taht yas ot snaem tI

 elcitrap sa llew sa erutan evaw yleman erutan laud stibihxe thgil taht dedulcnoc

.erutan  

ed - :htgnelevaW s’eilgorB  

 ‘ yticolev htiw gnivom ’m‘ ssam fo elcitrap A ’c   ygrene ssessop yb nevig  

cm = E 2 → ( )1( )noitauqE s’nietsniE  

 ycneuqerf fo mutnauq fo ygrene eht yroeht mutnauq s’kcnalP ot gnidroccA           

’υ‘ si  

υh = E  )2( →  

)2( & )1( morF  

cm  2 υh =  = λ/ ch λ/c = υ ecnis  

cm/ ch =λ  2 cm/h =  

m/h =λ v  v   ecnis c ≈  
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 neewteb noitaleR ed - ygrene citenik dna htgnelevaw eilgorB  

 yb nevig si deriuqca ygrene eht ,V laitnetop cirtcele na ni nortcele na redisnoC  

m
pmVeE
2

v
2
1 2

2  

 ’e‘ .elcitrap eht fo mutnemom eht si ’p‘ dna yticolev eht si ’v‘ ,ssam eht si ’m‘ erehW

rtcele na fo egrahc si .no  

EmVemp 22  

ed rof noisserpxe ehT -  yb nevig si htgnelevaw eilgorB  

Em
h

Vem
h

m
h

p
h

22v
 

ed - :nortcelE detareleccA na fo htgnelevaW eilgorB  

‘ ygrene sah ’V‘ ecnereffid laitnetop htiw detarelecca nortcele nA .’Ve fI   si ’m‘

.nortcele eht fo yticolev eht si ’v‘ dna ssam eht  

 nehT eV m(2/1 = v2) )1( →  

‘ fI ’p   neht ,nortcele eht fo mutnemom eht si m=p v 

evah ew ,sedis htob no gnirauqS  

p  2 m = 2v2 

mv  2 p = 2 m/  

evah ew )1( noitauqe ni gnisU  

p = Ve 2 = p ro  )m2(/ )Vem2(  

ed ot gnidroccA -  eilgorB p/h = λ  

 eroferehT λ=
Vem

h
2

=
em

h
V 2
1  
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= λ
9113

43

01206.10111.92
01626.61

V
 

   =
V

901622.1 m                    ro  = λ
V
622.1 mn  

:sevaw rettam fo scitsiretcarahC  

.1   htiw detaicossa sevaW  htgnelevaw ehT .sevaw rettam dellac era selcitrap gnivom

ed a fo ’λ‘ -  htiw gnivom ’m‘ ssam fo elcitrap htiw detaicossa evaw eilgorB

si 'v' yticolev  

 λ )vm(/h =  

.2  rettaM   si htgnelevaw eilgorB ed eht esuaceb sevaw citengamortcele ton era sevaw

ahc fo tnednepedni  .elcitrap gnivom eht fo egr  

.3  v( sevaw rettam fo yticolev ehT P  ylesrevni si htgnelevaw ehT .tnatsnoc ton si )

.elcitrap gnivom eht fo yticolev eht ot lanoitroporp  

.4   yticolev ,sevaw rettam eht fo htgnelevaw eht eb lliw regnol ,elcitrap eht rethgiL

natsnoc gnieb     .t  

.5   sihT .etinifni semoceb ti htiw detaicossa htgnelevaw eht tser ta elcitrap a roF

.sevaw rettam eht secudorp elcitrap gnivom ylno taht swohs  

yticolev puorg dna yticolev esahP : 

:noitauqe eht yb detneserper si evaw A  

 tω(nisA = y - )xk  

 eht si ’y‘ erehW Y gnola tnemecalpsid -  ralugna eht si ’ω‘ ,t tnatsni na ta sixa

 gnola tnemecalpsid eht si ’x‘ .rebmun evaw ro tnatsnoc noitagaporp si ’k‘ ,ycneuqerf

x- .’t‘ tnatsni eht ta sixa  

 

f tniop evitatneserper eht si ti neht ,evaw evissergorp a no tniop eht si ’p‘ fI  a ro

 eht ot gniwo detagaporp si ti hcihw htiw yticolev eht ,evaw eht fo esahp ralucitrap
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 dellac si evaw eht fo noitom    .yticolev esahp  

v yb nevig si evaw a fo yticolev esahp ehT esahp  .)k/ ω( =  

:yticolev puorG  

 

     sevaW laudividnI                              retfa noitairav edutilpmA

       noitisoprepuS  

 

 ni gnireffid ylthgils ,sevaw erom ro owt fo puorg A shtgnelevaw   repus era

 yticolev ehT .puorg evaw ro tekcap a si evaw tnatluser ehT .rehto hcae no desopmi

 dellac si detropsnart si puorg evaw a gnisolcne epolevne eht hcihw htiw  puorG

yticoleV  .  

y teL 1 tω(nisA = -  )xk y       dna )1( → 2  t)ω Δ+ω([nisA = - )2( → ]x)kΔ+k(  

T  tnereffid ylthgils & edutilpma emas gnivah sevaw owt eh htgnelevaw  erehW .

y  1 y & 2 ‘ ,edutilpma nommoc si ’A‘ ,’t‘tnatsni yna ta stnemecalpsid eht era  & ’ω

 ’x‘ .llams eb ot demussa era rebmun evaw dna yticolev ralugna ni ecnereffid era ’kΔ‘

id nommoc eht si ’t‘ emit ta tnemecalps  

noitisoprepus fo elpicnirp eht yB  

y = y  1 y + 2 

tω(nisA = y -  t)ω Δ+ω({nis A + )xk - }x)kΔ+k(  

2 = b nis + a nis ,tuB
2

nis
2

soc baba  

A2 = y xkktxkt
2

2
2

2nis
22

soc  

llams era kΔ dna ωΔ ecniS  

.k2 ≈ kΔ + k2 dna ω2 ≈ ωΔ+ ω2  
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.. A2 = y . xktxkt nis
22

soc  )3( →  

semoceb edutilpma eht nees si ti )3( & )1( snoitauqe morF  

         A2 xkt
22

soc  

 eht ni dettimsnart si edutilpma ni noitairav eht hcihw htiw yticolev ehT

       .yticolev puorg eht si evaw tnatluser  

v puorg =
kk(

(  

 timil eht nI
kd

d
k

 

 v puorg   =
kd

d  

:yticolev esahp dna yticolev puorg neewteb noitaleR  

:era yticolev esahp dna yticolev puorg rof snoitauqe ehT  

v puorg   =
kd

d  v& )1( → esahp  =
k

)2( →  

   .rebmun evaw eht si ’k‘ dna evaw eht fo ycneuqerf ralugna eht si ’ω‘ erehW  

v k = ω esahp  

v puorg  =
kd

d  = )v( esahpk
kd

d
 

v puorg v = esahp k +
kd

d esahpv
 

v puorg  v = esahp  k +
kd

d
d

d esahpv
 )3( →  

 = k evah eW )λ/π2(  



                                                         scisyhP gnireenignE                                                            1YHP51 2 

 

 tnemtrapeD ,scisyhP fo  TIBJS   egaP 51  
 

 gnitaitnereffiD
2

2 2

2 kd
dro

d
kd  

2
2 2

kd
dk  

)3( nqe ni siht gnisU  

v puorg  v = esahp  - λ
d

d esahpv
 

 .yticolev esahp dna yticolev puorg neewteb noitaler eht si sihT  

:yticolev elcitrap dna yticolev puorg neewteb noitaleR  

ehT  si yticolev puorg rof noitauqe  

v puorg   =
kd

d  )1( →  

)2( → )h/E(π2 = υπ2=ω tuB  

Ed
h

d 2
)3( →  

 λ/π2 = k evah eW 2 = )4( → )h/p(π  

Pd
h

kd 2  )5( →  

evah ew )5( yb )3( nqe gnidiviD  

Pd
Ed

kd
d

 )6( →  

 ew tuB P = E evah 2 .elcitrap eht fo mutnemom eht si ’P‘ erehW ,)m2(/  

m
P

m
P

Pd
Ed

2
2  

)6( nqe ni evoba eht gnisU  
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m
P

kd
d

 

vm = p tuB elcitrap v‘ erehW , elcitrap .elcitrap eht fo yticolev eht si ’  

elcitrap
elcitrap

m
m

kd
d v

v
 )7( →  

& )1( nqe morF   evah ew ,)7(  

v puorg v = elcitrap   )8( →  

..  lauqe yticolev a htiw slevart elcitrap a htiw detaicossa puorg evaw s’eilgorB ed ehT .

.flesti elcitrap eht fo yticolev eht ot  

:yticolev esahp dna yticolev puorg ,thgil fo yticolev neewteb noitaleR  

v evah eW esahp  = k/ω  

evah ew )4( & )2( nqe morf ’k‘ dna ’ω‘ fo seulav eht gnisU  

elcitrapelcitrap
esahp

c
m

cm
P
E

vv
v

22

 )9( →  

v )8( nqe morF puorg v = elcitrap  

.. v . esahp v × puorg  c = 2 

.yticolev puorg & yticolev esahp htiw thgil fo yticolev fo noitaler eht si sihT  

v ecniS puorg  v sa emas si elcitrap  eb reven nac elcitrap lairetam fo yticolev eht &

 retaerg syawla si yticolev esahp   taht swohs hcihw ,c ot lauqe neve ro naht retaerg

.c naht  
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 scinahceM lacissalC   :noitcudortnI - scinahceM mutnauQ  

slaed hcihw scisyhP fo hcnarb eht si scinahceM   fo noitom fo yduts eht htiw

 ad odranoeL  .yrutneC ht41 morf detrats stcejbo fo noitom fo yduts ehT  .stcejbo

 yna evah ton did yduts riehT  .srennigeb eht erew lacsapesialB dna oelilaG ,icniV

oc notweN yrutneC ht71 eht nI  .rehto hcae ot noitcennoc lacigol  saedi eht detadilosn

 detnuocca hcihw yroeht deifinu a evag eH  .nwo sih ot noitidda ni srekrow suoiverp fo

 aipicnirP“ krow siH  .sdnuorg nommoc no seidob fo snoitom fo sepyt lla rof

oitom fo swal eerht s’notweN  .7861 raey eht ni dehsilbup saw ”acitamehtam  erew n

 esehT  .scinahceM fo htrib eht sa dezingocer saw raey 7861  .krow sih ni dedulcni

 elpmaxe roF  .scisyhP ni yduts fo sdleif rediw eht ni tnatropmi erew swal

 cifitneics fo dnim eht ni yrutneC ht91 fo dne eht yB  .lewxaM yb scimanydortcele

ti ytinummoc   tnemenifer ylno dna etelpmoc si scinahcem fo egdelwonk eht taht saw

  .deriuqer si nwonk eht fo  

 na emaceb noitaidar ydobkcalB fo yduts eht yrutneC ht91 fo trap tsal eht nI

 ynam fo feileb dna ecnedifnoc eht tsniaga hcum saw tI  .elzzup elbulosni

tagitsevni  nI.murtceps devresbo eht tnuocca ot deliaf scinahcem nainotweN  .sro

 eht gnicudortni yb murtceps ydobkcalb eht denialpxe kcnalP xaM 0091 rebmeceD

 erew seiduts revetahW  .”scinahceM mutnauQ“ fo nigiro eht si sihT  .atnauq fo aedi

neht llit scinahcem ni edam   sdrawno 1091 morF  .scinahcem lacissalc dellac saw

 cimotabus dna cimota fo scinahcem yduts ot deyolpme neeb sah scinahcem mutnauq

 negordyh fo yroeht s’rhoB ni desu si ygrene fo noitazitnauq fo tpecnoc ehT  .selcitrap

ed 4291 nI  .murtceps - desoporp eilgorB   eilgorB ed dellac rettam fo erutan laud

 rettam fo erutan evaw fo stpecnoc eht krow sih ni esu edam regnidorhcS  .sisehtopyh

 srehto dna cariD ,grebnesieH ,regnidorhcS fo krow ehT  .ygrene fo noitazitnauq dna

w selcitrap cimotabus dna cimota fo scinahcem no   .scinahceM mutnauQ dellac sa  

scinahceM mutnauQ dna scinahceM lacissalC neewteb ecnereffiD  

 eht taht detpecca yllanoitidnocnu si ti scinahcem lacissalC ot gnidroccA

 derusaem eb nac ydob a ro elcitrap a fo ,.cte noitarelecca ,yticolev ,ssam ,noitisop

 yb detciderp seulav ehT  .yad yreve ni evresbo ew sa eurt si hcihw ,yletarucca

scinahcem lacissalc    .seulav derusaem htiw eerga ylluf  
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 ehT  .erutan ni citsilibaborp ylerup htiw nopu tliub neeb sah scinahcem mutnauQ

 erusaem ot elbissopmi si ti taht si scinahcem mutnauQ fo noitpmussa latnemadnuf

nI  .elcitrap a fo mutnemom dna noitisop eht ylsuoenatlumis   eht scinahcem mutnauq

 tibro dewolla tsrif eht fo suidar eht elpmaxe roF  .elbaborp ylerup era stnemerusaem

01 x 3.5 ylesicerp si mota negordyh ni nortcele fo - 11  si tnemirepxe elbatius a fI  .m

 deniatbo era seulav fo rebmun ,suidar eht erusaem ot detcudnoc  esolc yrev era hcihw

01 x 3.5 ot - 11  ot roirepus scinahcem lacissalc sekam ytniatrecnu fo epyt sihT  .m

 dnuof era scinahcem lacissalc yb deralced seulav etarucca ehT  .scinahcem mutnauq

lom ,smota ,suelcun fo niamod eht ni tuB  .efil yad ot yad ni eurt eb ot  eht ,.cte seluce

 emoceb seititnauq lacisyhp suoirav fo seulav eht ni devlovni seitilibaborp

.smelborp hcus tnuocca ot sliaf scinahcem lacissalc dna tnacifingisni  

:elpicnirP ytniatrecnU s’grebnesieH  

 a seipucco elcitrap a scinahcem lacissalc ot gnidroccA  ecaps ni ecalp etinifed

 si elcitrap a fo mutnemom dna noitisop eht fI .mutnemom etinifed a sessessop dna

 ta mutnemom dna noitisop sti etaluclac ot elbissop si ti ,emit fo tnatsni yna ta nwonk

art eb dluoc elcitrap eht fo htap ehT .emit fo tnatsni retal yna  skaerb tpecnoc sihT  .dec

 gnidrocca elpicnirP ytniatrecnU s’grebnesieH ot gnidael scinahcem mutnauq ni nwod

 dna noitisop eht htob ylsuoenatlumis erusaem ot elbissopmi si tI“ hcihw ot

a yrev erusaem ot troffe na ekam ew fI .yletarucca elcitrap a fo mutnemom  yletarucc

 fo tnemerusaem eht ni ytniatrecnu egral ot sdael ti ,elcitrap a fo noitisop eht

.asrev eciv dna mutnemom  

 fI ∆ x   dna xP   dna noitisop fo tnemerusaem eht ni seitniatrecnu eht era

sa nettirw eb nac ytniatrecnu eht neht elcitrap eht fo mutnemom  

 ∆ x . xP 4/h( ≥ )π  

 eht fo mutnemom dna noitisop eht fo noitanimreted suoenatlumis yna nI

citrap  eht ni tneserp yltnerehni seitniatrecnu gnidnopserroc eht fo tcudorp eht ,el

.π4/h naht retaerg ro ot lauqe si tnemerusaem  

ylralimiS ,  )1 4/h ≥ t∆.E∆      π  dna ygrene ni ytniatrecnu stneserper noitauqe sihT

 .emit ∆E ,ygrene ni ytniatrecnu si ∆t .emit ni ytniatrecnu eht si    

     )2 ∆.L∆ π4/h ≥ θ        ralugna ni ytniatrecnu stneserper noitauqe sihT

(mutnemom ∆ (tnemecalpsid ralugna dna )L ∆θ) 
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:elpicnirP ytniatrecnU fo noitacilppA  

:suelcun cimota eht ni snortcele fo ecnetsixe fo ytilibissopmI  

 idroccA :si elcitrap a fo E ygrene eht ,ytivitaler fo yroeht eht ot gn    = ²cm = E

22

2

/v1 c
cmo  

m‘ erehW o .’v‘ si yticolev sti nehw ssam eht si ’m‘ dna elcitrap eht fo ssam tser eht si ’  

 .e.i 22

42
2

/v1 c
cmE o  = 22

62

vc
cmo  )1( →  

:elcitrap eht fo mutnemom eht si ’p‘ fI  

 = vm = p  .e.i
22 /v1

v
c

mo  

  = ²p 22

222

v
v

c
cmo  

²c yb ylpitluM  

  = ²c²p 22

422

v
v

c
cmo  )2( →  

evah ew )1( yb )2( gnitcartbuS  

  ²E -  = ²c²p 22

2242

v
)v(

c
ccmo  

 m + ²c²p = ²E o
2c4 )3( →  

taht setats elpicnirp ytniatrecnu s’grebnesieH  

 ∆ x . xP ≥
4
h )4( →  
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 01 redro eht fo si suelcun eht fo retemaid ehT - 41  tsixe ot si nortcele na fI .m

 eht edisni  noitisop sti ni ytniatrecnu eht ,suelcun ∆ x  01 deecxe ton tsum - 41 .m  

     .e.i ∆ x  01 ≤ - 41 m 

mutnemom eht ni ytniatrecnu muminim ehT  

 nimxP  ≥
  4 xamx

h  ≥ 41

43

014
0136.6 01 × 5.0 ≥ - 02   s/m.gk )5( →  

 nortcele eht fo mutnemom eht ni ytniatrecnu muminim gniredisnoc yB  

      ,.e.i nimxP  01 × 5.0 ≥ -   02  p = s/m.gk )6( →  

)3( nqe redisnoC  

 m + ²c²p = ²E o
2c4 c = 2 m+²p( o )²c²  

 m erehW o  = 01 × 11.9 - 13  gk  

eb tsum ygrene sti suelcun eht ni stsixe nortcele eht fI  

  ²E 01 × 3( ≥ 8)2 01 × 5.0([ - 02 )2 01 × 11.9( + - 13 )2 01 × 3( 8)2] 

 ²E  .e.i 01 × 3( ≥ 8)2 01 × 52.0[ - 04  01 × 9264.7 + - 44 ] 

  eht fo sredro 3 eht naht erom yb rellams si ti sa mret dnoces eht gnitcelgeN

 .mret tsrif ot derapmoc edutingam  

gniyfilpmis dna sedis htob no stoor erauqs gnikaT  

  E 01 × 5.1 ≥ - 21   J  ≥ 91

21

016.1
015.1  ve veM 4.9 ≥  

  ot lauqe ro naht retaerg eb tsum ygrene sti suelcun eht ni stsixe nortcele na fI

 suelcun eht morf detceje selcitrap ateb eht taht derusaem yllatnemirepxe si tI .veM4.9

 snortcele taht swohs sihT .VeM 4 ot 3 tuoba fo seigrene evah yaced ateb gnirud

xe tonnac   .suelcun eht ni tsi  

:noitcnuF evaW  
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  dellac noitcnuf a yb detneserper si scinahcem mutnauq ni noitautis lacisyhp A

 fo seitreporp ekil evaw eht rof stnuocca tI .’ψ‘ yb detoned si tI .noitcnuf evaw

regnidorhcS gnivlos yb deniatbo si noitcnuf evaW .selcitrap   evlos oT .noitauqe

 wonk ot deriuqer si ti noitauqe regnidorhcS  

elcitrap eht fo ygrene laitnetoP )1  

dna snoitidnoc laitinI )2  

.snoitidnoc yradnuoB )3  

 :snoitauqe regnidorhcS fo sepyt owt era erehT  

)1  :noitauqe regnidorhcS tnedneped emit ehT   fo erac sekat tI  dna noitisop eht htob

ytitnauq yranigami sevlovni tI .noitcnuf evaw eht fo snoitairav emit  i. 

:si noitauqe ehT  
td

dhiV
xd

d
m

h
28 2

2

2

2

 

)2  noitauqe regnidorhcS tnednepedni emit ehT :  noitisop ylno fo erac sekat tI

.noitcnuf evaw eht fo noitairav  

:si noitauqe ehT  0)(8
2

2

2

2

VE
h

m
xd

d
 

noitauqe evaw regnidorhcS tnednepedni emiT  

 ed ehT .’v‘ yticolev htiw gnivom ’m‘ ssam fo elcitrap a redisnoC -  eilgorB

si ’λ‘ htgnelevaw  

     = λ
P
h

m
h
v

)1( →  

 .elcitrap eht fo mutnemom eht si ’vm‘ erehW  

si nqe evaw ehT  

  
)( txkieA )2( →  

.evaw eht fo ycneuqerf ralugna eht si ’ω‘ dna tnatsnoc a si ’A‘ erehW  

eciwt ’t‘ ot tcepser htiw )2( noitauqe gnitaitnereffiD  
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 2)(2
2

2
txkieA

td
d

 )3( →  

 si evaw gnillevart a fo noitauqe ehT  

 2

2

22

2

v
1

td
yd

xd
yd

 

.yticolev eht si ’v‘ dna tnemecalpsid eht si ’y‘ erehW  

ed eht rof ylralimiS - elcitrap eht htiw detaicossa evaw eilgorB  

 2

2

22

2

v
1

td
d

xd
d

 )4( →  

 erehw  .’t‘ emit ta tnemecalpsid eht si ’ψ‘  

)4( & )3( snqe morF  

 2

2

2

2

vxd
d

   

 tuB ω .htgnelevaw eht si ’λ‘ dna ycneuqerf eht si ’υ‘ erehw λ υ= v dna υπ2 =  

 2

2

2

2 4
xd

d ro 2

2

22 4
11

xd
d

 )5( →  

 
m

P
m

mmEK
22

vv
2
1.

222
2  )6( →  

  2

2

2m
h  )7( →  

)5( nqe gnisU  

 2

2

2

2

2

2

2

2

84
1

2
.

xd
d

m
h

xd
d

m
hEK  )8( →  

E.P + E.K = E ygrenE latoT  
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 V
xd

d
m

hE 2

2

2

2

8
 

 2

2

2

2

8 xd
d

m
hVE  

 VE
h

m
xd

d
2

2

2

2 8  

 08
2

2

2

2

VE
h

m
xd

d  

sihT  .noitauqe evaw regnidorhcS tnednepedni emit eht si  

:noitcnuf evaw fo ecnacifingis lacisyhP  

:ytisned ytilibaborP  eht si ²|ψ| neht ,elcitrap a htiw detaicossa noitcnuf evaw eht si ψ fI

ni emulov eht si ’τ‘ fI .emulov tinu ni elcitrap a gnidnif fo ytilibaborp   eht hcihw

 fo ytilibaborp eht nehT .nwonk ton si tneserp yltcaxe si ti erehw tub tneserp si elcitrap

|ψ| yb nevig si τd emulov latnemele niatrec ni elcitrap a gnidnif 2  dellac si ²|ψ| suhT .τd

 laer si tneve na gnidnif fo ytilibaborp ehT .ytisned ytilibaborp  .ytitnauq evitisop dna

 erehw ψ * ψ = ²|ψ| si ytisned ytilibaborp eht ,snoitcnuf evaw xelpmoc fo esac eht nI

 fo etagujnoc xelpmoC si *ψ . 

:noitazilamroN  

 τd‘ emulov a ni ’ψ‘ noitcnuf evaw gnivah elcitrap a gnidnif fo ytilibaborp ehT  ’

 neht ,’τ‘ emulov etinif ni tneserp si elcitrap eht taht niatrec si ti fI .’τd²|ψ|‘ si  

 1 ²||
0

d  

neht ,emulov etinif ni tneserp si elcitrap eht taht niatrec ton era ew fI  

 1²|| d  

 sesac emos nI 1²|| d  .tnatsnoc sevlovni dna  
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 dna stimil elbatius a nihtiw noitcnuf evaw eht fo erauqs eht gnitargetni fo ssecorp ehT

 si noitcnufevaw eht ni devlovni tnatsnoc eht fo eulav eht ytinu ot ti gnitauqe

oitcnufevaw eht ni detutitsbus si eulav tnatsnoc ehT  .detamitse  si ssecorp sihT  .n

 sa dellac si dedulcni eulav tnatsnoc htiw noitcnufevaw ehT  .noitazilamron sa dellac

.rotcaf noitazilamron dellac si tnatsnoc fo eulav eht dna noitcnufevaw dezilamron eht  

:noitcnuf evaw eht fo seitreporP  

  eht fo etats ro metsys A  noitisop ,mutnemom ,ygrene sti yb denifed si elcitrap

 ehT .denifed eb nac metsys eht ,nwonk si metsys eht fo ’ψ‘ noitcnuf evaw eht fI  .cte

 .etats sti htiw segnahc metsys eht fo ’ψ‘ noitcnuf evaw

 ti sA .devlos eb ot sah noitauqe regnidorhcS ’ψ‘ dnif oT

 si  lareves era ereht ,noitauqe laitnereffid redro dnoces a

 evah eW .tcerroc eb ton yam snoitulos eht llA .snoitulos

 eht ot elbatius era hcihw snoitcnuf evaw esoht tceles ot

 eht ssessop ot sah noitcnuf evaw elbatpecca ehT .metsys

:seitreporp gniwollof  

)1   si ’ψ‘ :erehwyreve deulav elgnis  (f noitcnuf eht redisnoC x  htiw seirav hcihw )

f seulav eerht sah )x(f noitcnuf ehT  .hparg eht ni detneserper sa noitisop 1 f ,  2 f dna 3  ta

x  f ecniS  .p = 1 f ≠ 2 f ≠ 3 (f fi taht etats ot si ti x  ehT .noitcnuf evaw eht eb ot erew )

 hcihw noitacol emas eht ta seulav tnereffid eerht sah elcitrap eht gnidnif fo ytilibaborp

  .elbatpecca ton si noitcnuf evaw eht suhT .eurt ton si  

 
 

)2  ‘ erehwyreve etinif si ’ψ : f noitcnuf eht redisnoC ( x  noitisop htiw seirav hcihw )

(f noitcnuf ehT  .hparg eht ni detneserper sa x  ta etinif ton si ) x (f tub R= x =)  .∞

 elcitrap eht gnidnif fo ytilibaborp egral setacidni ti suhT  setaloiv tI .noitacol a ta

.elbatpecca ton si noitcnuf evaw eht suhT .elpicnirp ytniatrecnu  
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)3  ‘  suounitnoc era selbairav sti ot tcepser htiw sevitavired tsrif sti dna ’ψ

erehwyreve : (f noitcnuf eht redisnoC x  noitisop htiw seirav hcihw )  ni detneserper sa

(f noitcnuf ehT  .hparg eht x  ta detacnurt si ) x  eht  ,B & A stniop eht neewteb Q=

 eht htiw detaicossa noitcnuf evaw eht niatbo oT .denifed ton si metsys eht fo etats

dorhcS evlos ot evah ew ,metsys  redro dnoces a si ti ecniS  .noitauqe evaw regni

 eb tsum evitavired tsrif sti dna noitcnuf evaw eht ,noitauqe evaw laitnereffid

 ton si noitcnuf evaw eht ,noitcnuf evaw suounitnocsid a si ti sA  .Q=x ta suounitnoc

.elbatpecca  

 

 
 

 

)4   tsum ’ψ‘ setats dnuob roF  a si ’*ψ‘ fI .edistuo dna yradnuob laitnetop ta hsinav

.edistuo dna yradnuob laitnetop ta hsinav osla tsum ψ *ψ neht ,noitcnuf xelpmoc  

  dellac era seitreporp 4 evoba eht seifsitas hcihw noitcnuf evaw ehT  negiE

snoitcnuf . 

:snoitcnuf negiE  

  snoitcnuf negiE  hcihw scinahcem mutnauQ ni snoitcnuf evaw esoht era

:seitreporp eht sessessop  
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.1  .deulav elgnis era yehT  

.2  dna erehwyreve etiniF  

.3   era selbairav rieht ot tcepser htiw sevitavired tsrif rieht dna snoitcnuf evaw ehT

.suounitnoc  

:seulav negiE  

 orhcS eht ot gnidroccA  ehT .snoitulos fo rebmun erom si ereht noitauqe regnid

E ygrene fo seulav ehT .E ygrene ot detaler era snoitcnuf evaw n  hcihw rof

.seulav negiE dellac era devlos noitauqe regnidorhcS  

noitauqe evaw regnidorhcS fo noitacilppA : 

lcitrap a fo seulav negiE ygrenE  laitnetop( llew laitnetop etinifni ,lanoisnemid eno ni e

.xob a ni elcitrap a fo ro )htped etinifni fo llew  

 

 

 

 

 

  evitisop gnola noisnemid eno ni evom ot eerf ’m‘ ssam a fo elcitrap a redisnoC

x -  neewteb noitcerid x  ot 0= x  ygrene laitnetop ehT .a=  si noiger siht edistuo

 a hcuS .etats dnuob ni si elcitrap ehT .orez si noiger eht nihtiw dna etinifni

 dellac osla si tI .llew laitnetop etinifni dellac si ecaps ni laitnetop fo noitarugifnoc

si llew eht edistuo noitauqe regnidörhcS ehT .xob a ni elcitrap  

 08
2

2

2

2

E
h

m
xd

d )1( →  ∵  = V ∞ 

 eb tonnac elcitrap si tahT .0 = ²|ψ| & 0 = ψ fi doog sdloh noitauqe eht ,edistuo roF

sllaw eht ta osla dna llew eht edistuo dnuof  

:si llew eht edisni noitauqe s’regnidorhcS ehT  

 

Y- sixA  

x           0= xx                                                                                                    a=  

V 

0=V  =V  =V  

elcitraP  X- sixA  
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 08
2

2

2

2

E
h

m
xd

d  )2( →   ∵  V 0 =  

 E
xd

d
m

h
2

2

2

2

8
 )3( →  

 mrof eht ni si sihT Ĥ ψE = ψ  

negiE na si sihT - .noitauqe eulav  

  teL 2
2

28 kE
h

m  )2( nqe ni  

  02
2

2

k
xd

d  

:si noitauqe siht fo noitulos ehT  

  k soc C = ψ x  k nis D + x  )4( →  

 ta x   0 =  → 0 = ψ  

  0 nis D + 0 soc C = 0  

 ∴ 0 = C  

 oslA x  a =  → 0 = ψ  

  ak nis D + aksoc C = 0  

0 = C tuB  

 ∴ )5(                                 0 = ak nis D  

         D       0                          )sehsinav tpecnoc evaw eht esuaceb(  

  = ak .e.i n  erehw π n ( …4 ,3 ,2 ,1 ,0 = mutnauQ  )rebmun  

   = k
a

n  )6( →  

)4( nqe ni siht gnisU  
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  x
a

nDn nis  )7( →  

.snoitcnuf evaw dettimrep sevig hcihW  

oT  .enod eb ot si noitcnuf evaw eht fo noitazilamron ,D fo eulav eht tuo dnif  

   .e.i 1
0

2 xd
a

n  )8( →  

ψ fo seulav eht gnisu n )7( nqe morf  

a
D

aD

aD

x
a
n

n
axD

xdx
a
nxdD

xdxanD

xdx
a

nD

a

aa

a

a

2

1
2

10
2

12nis
22

12soc
2

1
2

)/2(soc1

1nis

2

2
0

2

00

2

0

2

0

22

 

 etinifni lanoisnemid eno ni elcitrap a fo snoitcnuf evaw dezilamron eht ecneH

:si llew laitnetop  

  x
a

n
an nis2

 )9( →  

:seulav negiE ygrenE  

  2& 6 .qE morF  

2

22
2

2

28
a

nkE
h

m
 

 seilpmI
 

2
2soc1nis 2

2

22

8 am
hnE
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)dohtem rotarepO( dohteM evitanretlA  

 ygrene eht yb ’ψ‘ noitcnuf evaw eht gnitarepo yb deniatbo era seulav negiE ygrenE

.)rotarepo nainotlimaH( rotarepo  

 Ĥ  = V
xd

d
m

h
2

2

2

2

8
 

 0=V ,a < x < 0 llew eht edisnI  

 Ĥ  = 2

2

2

2

8 xd
d

m
h  )01( →  

si nqe eulav negiE ygrene ehT  

 Ĥ )11(→ψE=ψ  

)11( dna )01( noitauqe morF  

 E
xd

d
m

h n
2

2

2

2

8
 

.e.i  n
n E

xd
d

m
h

2

2

2

2

8
 )21( →  

  .noitauqe eulav negiE eht si tI  

 gnitaitnereffiD )9( nqe  

  x
a

n
a

n
axd

d n soc2
 

niaga gnitaitnereffiD  

  x
a

n
a

n
axd

d n nis2 2

2

2

 

 n
n

a
n

xd
d 2

2

2

 

)21( ni .nqe siht gnisU  
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 nn E
a

n
m

h 2

2

2

8
 

  = E 2

22

8 am
hn  )31( →  

 na ni elcitrap eht fo seulav negiE ygrene eht sevig tI .llew laitnetop etinifni  

 ψ esuaceb llew eht edisni elbatpecca ton si 0 = n n  nortcele eht taht snaem tI .0 =

 rof eulav ygrene tsewol eht suhT .eurt ton si hcihw llew eht edisni tneserp ton si n  1 =

.ygrene etats dnuorg ro eulav ygrene tniop orez dellac si  

E .e.i orez -  tniop  = 2

2

8 am
h  

hcihw rof setats ehT  .setats detixe dellac era 1> n  

 etinifni na ni elcitrap rof slevel ygrene dna seitisned ytilibaborp ,snoitcnuf evaW

llew laitnetop : 

  eht fo noitacol elbaborp tsom eht redisnoc su teL  sti dna llew eht ni elcitrap

.sesac eerht tsrif rof seigrene  

 I esaC 1=n →  

 .etats siht ni tneserp yllamron si elcitrap eht dna etats dnuorg eht si tI  

 si noitcnuf negiE ehT  

 ψ1  = x
a

niS
a
2

∵ )7( nqe morf  

 ψ  1  rof 0 = x  dna 0 = x a =  

ψ tuB 1  nehw mumixam si x  .2/a =  



                                                         scisyhP gnireenignE                                                            1YHP51 2 

 

 tnemtrapeD ,scisyhP fo  TIBJS   egaP 13  
 

 

ψ fo stolp ehT 1 ψ | dna x susrev 1|  2 .erugif evoba eht ni nwohs era x sesrev  

ψ| 1|2  rof 0 = x   dna 0 = x   rof mumixam si ti dna a = x   dnuorg ni .e.i .2/a =  eht etats

 ni mumixam si ti gnidnif fo ytilibaborp eht tub ,sllaw eht ta dnuof eb tonnac elcitrap

.elddim eht  

si etats dnuorg eht ta elcitrap eht fo ygrene ehT  

  E1  = 2

2

8 am
h   E = 0 

 II esaC 2=n →  

 negiE eht etats deticxe tsrif eht nI si etats siht fo noitcnuf  

 ψ2  = x
a

niS
a

22  

 ψ2  seulav eht rof 0 = x  .a ,2/a ,0 =  

ψ oslA 2  seulav eht rof mumixam si x  .4/a3 dna 4/a =  

.shparg eht ni detneserper era esehT  

ψ | 2|2  ta 0 = x   eht ta ro sllaw eht ta rehtie dnuof eb tonnac elcitrap .e.i ,a ,2/a ,0 =

ertnec   .
4

3,
4

mumixam2

2

axaxrof  

2

1  

x 0=  2/a  x a=  

1  

x 0=  2/a  x a=  
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E si etats deticxe tsrif eht ni elcitrap eht fo ygrene ehT  2 E4 = 0. 

III esaC  3=n →  

 eht nI ,etats deticxe dnoces  

 ψ3  = x
a

niS
a

32  

 ψ3 .a dna 3/a2 ,3/a ,0 = x rof ,0 =  

 ψ3  rof mumixam si x  .6/a5 ,2/a ,6/a =  

.shparg eht ni detneserper era esehT  

 

ψ | 3 |2  rof 0 = x  .a dna 3/a2 ,3/a ,0 =
6

5,
2

,
6

mumixam2

3

axaxaxrof  

E si etats deticxe dnoces eht ni elcitrap eht fo ygrene ehT 3 E 9= 0. 

:elcitrap eerf a fo seulav negiE ygrenE  

  fo ecneulfni eht rednu ton si tI .laitnetop orez sah hcihw eno si elcitrap eerf A

.0 = V .e.i dleif ro ecrof yna  

 ehT :si noitauqe regnidorhcS  

ψ | 2|2
 

x 0=  2/a  x a=  

 ψ2 

x 0=  2/a  x a=  

4/a  
4/a3  

4/a  4/a3  
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 08
2

2

2

2

E
h

m
xd

d  

ro  E
xd

d
m

h
2

2

2

2

8
 

.0 = V hcihw ni ecaps eerf ni elcitrap eerf rof doog sdloh noitauqe sihT  

  laitnetop etinifni na ni elcitrap a ro xob a ni elcitrap eht fo egdelwonk eht htiW

vo doog sdloh 0 = V llew  = V edistuo dna ’a‘ htdiw etinif a re  htdiw eht gnikat yB .∞

 = a .e.i etinifni eb ot  ygrene ehT .ecaps ni elcitrap eerf ot dednetxe si esac eht ,∞

 si llew laitnetop etinifni na ni elcitrap a rof seulav negiE  

   = E 2

22

8 am
hn  

… ,3 ,2 ,1= n erehW  

 Em
h
an 22  

a sa ’a‘ no sdneped ’n‘ ,tnatsnoc si ’E‘ nehw ereH  ∞→ n  eerf taht snaem tI .∞→

 ygrene elbissop ro seulav negiE ygrene eht si tahT .ygrene yna evah nac elcitrap

 snaem tI .suounitnoc era seulav ygrene taht swollof tI .rebmun ni etinifni era seulav

rf a suhT .ygrene fo noitazitnauq ro ssenetercsid on si ereht taht  a si elcitrap ee

.’ytitne lacissalC‘  
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eludoM – 2 

 slairetam fo seitreporp lacirtcelE  
 

:slairetam fo seitreporp lacirtcelE  

eerF – ,emit noisilloc naeM ,yticolev lamrehT ,yticolev tfirD( tpecnoc nortcele   naeM

 fo eruliaF .)emit noitaxaler ,htap eerf .yroeht nortcele eerf lacissalc   eerf mutnauQ

imreF ,)ylno evitatilauq(setats fo ytisned ,rotcaf imreF ,snoitpmussA ,yroeht nortcele –

lacirtcele rof noisserpxE .scitsitatS cariD   nortcele eerf mutnauq no desab ytivitcudnoc

eerf mutnauq fo stireM ,yroeht  .yroeht nortcele  

dna snortcele fo noitartnecnoC ,slairetam gnitcudnoc imeS fo ytivitcudnoC  

ni seloh   .noitca ssam fo wal ,srotcudnocimes cisnirtni  

 erutarepmeT slatem ni ytivitsiser fo ecnedneped   dna gnitcudnocrepus  

M( dleif citengam fo tceffE .slairetam sie epyT.)tceffe rens - II epyT dna I  

srotcudnocrepus –  erutarepmeT  SCB.dleif lacitirc fo ecnedneped

.srotcudnocrepus erutarepmet hgiH.)evitatilauq(yroeht  fo snoitacilppA  

 srotcudnocrepus – .selcihev velgaM  

                                                                                                     ruoH 01  

:tnetnoC  

 yroeht nortcele eerf mutnauQ - snoitpmussa  

 ygrene imreF  

 setats fo ytisneD  

 slatem fo ytivitsiser fo ecnedneped erutarepmeT  

  fo ytivitcudnoC slairetam gnitcudnoc imeS  
 tceffe llaH  
 yroeht SCB  

 diuqS dna selcihev velgaM  
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:tpecnoc nortcele eerF  
edurD[  L  eerf lacissalc ,yroeht ztnero nortcele  ]yroeht  

 
 eht dna smota fo tnemegnarra eht ot eud si dilos a fo noitarugifnoc elbats ehT

 era stnemele cillatem eht fo etats klub ,slatem nI .mota eht ni snortcele fo noitubirtsid

smota eseht nihtiw ,ecittal ecaps a ni smota fo yarra cirtemoeg a gnivlovni enillatsyrc  

 era hcihw stibro renni eht ni snortcele ehT .snortcele yb dednuorrus era ielcun eht

 esoht, ylisae debrutsid eb tonnac hcihw snortcele eroc mrof ielcun eht ot dnuob

 eb nac ielcun eht ot dnuob ylesool dna stibro retuo eht ni era hcihw snortcele

ae debrutsid .snortcele ecnelav dellac era dna ylis  

 smota gniruobhgien fo seiradnuob eht smota fo gnikcap esolc ot eud ,slatem nI

 rehto eht ot mota eno morf ytiunitnoc dnif snortcele ecnelav eht ,siht ot euD .palrevo

ta tnerap rieht ot denifnoc ton era yeht ybereht dna  ot eerf era snortcele esehT .mo

 era snortcele eseht sA .snortcele eerf dellac era ecneh dna latem eht nihtiw evom

 noitcudnoc sa dellac osla era yeht ,dilos ni noitcudnoc lacirtcele rof elbisnopser

.snortcele  

.yroehT nortcelE eerF lacissalC  
t rof tnuocca oT  0091 ni desoporp edurD.P slatem ni noitcudnoc lacirtcele eh

 .edurD fo yroeht eht dednetxe ztneroL.A.H 9091 nI .slatem fo yroeht nortcele eerf eht

 llewxaM dna swal lacissalc no desab si yroeht eht sA -  osla si ti scitsitats nnamztloB

lacissalc sa dellac - erf  a taht si yroeht siht ni noitpmussa cisab ehT .yroeht nortcele e

 yleerf tuoba evom nac hcihw snortcele eerf fo rebmun egral a fo stsisnoc latem

.latem eht fo ydob eht tuohguorht  

:snoitpmussA  
.1   evom hcihw snortcele eerf fo rebmun egral a niatnoc slatem llA  hguorht yleerf

.slatem eht fo eroc cinoi evitisop eht  

pa na fo noitacilppa eht rednU era snortcele eseht dleif deilp   lacirtcele rof elbisnopser

.snortcele noitcudnoc dellac ecneh dna noitcudnoc  

.2  a selucelom sag ot tnelaviuqe sa detaert era snortcele eerf ehT  eerht evah dn

.sesaG fo yroehT citeniK yebo ot demussa era dna modeerf fo seerged  

 a ta nortcele na htiw detaicossa ygrene citenik eht ,dleif cirtcele na fo ecnesba eht nI

.tnatsnoc nnamztloB eht si k erehw ,Tk )2/3( yb nevig si T erutarepmet  
1
2

vm ht
2   = 3

2
 kT 

 erehW v ht  .yticolev erauqs naem toor sa emas yticolev lamreht eht si  
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.3  rednu levart snortcele ehT  latem eht edisni laitnetop tnatsnoc a   evitisop eht ot eud

seroc cinoi   tub  yats .seiradnuob sti nihtiw denifnoc  

.4   dna snortcele eerf neewteb noitcaretni ehT evitisop   snortcele eerf dna seroc noi
]derongi ro[ elbigilgen eb ot deredisnoc era sevlesmeht  

.5  ehT  eud latem a ni tnerruc cirtcele   tfird eht fo ecneuqesnoc a si dleif deilppa na ot
.dleif eht fo noitcerid eht ot etisoppo noitcerid a ni yticolev  

 
 naeM ( :emit noisilloc ) 

 
 

 nortcele na fo snoisilloc evitucesnoc owt neewteb sespale taht emit egareva ehT“
”.emit noisilloc naem si stniop ecittal eht htiw   

  =                   erehW  -  htap eerf naem  
                                       v -  eht ot eud snortcele eht fo yticolev latot    denibmoc     

                                           fo tceffe    dna lamreht .seiticolev tfird  
 

: etoN  V sA d V<< ht  
V va  V =V= ht  

 

( :htap eerf naeM ) 
“  evisseccus eht neewteb nortcele na yb dellevart ecnatsid egareva ehT snoisilloc  

 ecittal eht htiw  stniop gnirud  .htap eerf naem dellac si noitom modnar rieht ” 
 

( :emit noitaxaleR r) 
 snortcele eht fo yticolev egareva eht ,dleif deilppa na fo ecnesba eht nI  dna orez si

.dleif deilppa na rednu eulav etinif emos sah  
 
 
 
 
 
 
 
 
 
 
v va   =  0 .dleif eht fo ecnesba eht ni  
v va   = .dleif cirtcele fo ecneserp eht ni  

 )t( emiT
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 yticolev egareva eht ,ylneddus ffo denrut si dleif eht fI v va   yllaitnenopxe secuder
.orez ot  

yllacitamehtaM  
v va  =v va

′  e-t/
r

 

 ehT ’t‘emit   dna ffo dehctiws si dleif eht tnatsni eht morf detnuoc si r    ,tnatsnoc a si
 dellac .emit noitaxaler  

 t fI  = r  
nehT v  = va v va

′ e-1 

ro  
 

 
 eht ,suhT“ emit noitaxaler  ( r  egareva eht hcihw gnirud emit eht sa denifed si )

 yticolev v( va  )  sesaerced ot
1
e

.”ffo denrut si dleif eht nehw emit eht ta eulav sti semit  

: yticolev tfirD vd 
 ecnelav eht ,noitidnoc muirbiliuqe lamreht rednU si dilos a ni nortcele   a ni

 ecrof a ecneirepxe lliw snortcele eht ,dleif tnatsnoc a rednU .noitom modnar fo etats

 sesuac dna noitom modnar eht seifidom E dleif cirtcele nA .detarelecca steg dna Ee

riuqca snortcele eht .E fo taht ot etisoppo noitcerid a ni tfird ot snortcele eht  a e

ni yticolev egareva tnatsnoc  icolev sihT .dleif eht ,yticolev tfird eht dellac si yt  Vd. 

 ot etisoppo etats ydaets a ni evom snortcele eerf hcihw htiw yticolev egareva ehT“

 dellac si latem a ni dleif cirtcele eht fo noitcerid eht .”yticolev tfird  

:yticolev tfird rof noisserpxE  

 dna m ssam fo nortcele eht latem eht ot deilppa si E dleif cirtcele tnatsnoc a fI

 =F ,ecrof a ecneirepxe lliw e egrahc - .Ee  

 =F - Ee  nortcele eht no ecrof gnivird  hcihw  tluser s v yticolev tfird eht ni d  ,  

T f ecnatsiser eht neh  si noitom sti ot dereffo ecro  

Fr  = vm d
   erehw  emit noisilloc naem  

 ,etats ydaets eht nI  

Fr  F =  

 ,e,i vm d  = Ee  

 

 

 
 

 

v =  va
𝟏
𝒆

 𝐯 𝐯𝐚
′  

Vd  = � 𝑬𝒆
𝒎

�  
E

vd

x
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: etoN    ,ytisned tnerruC  = J I
A

 

  

  

 

slatem ni ytivitcudnoc lacirtcelE  

 

 

 

 

 si ytivitcudnoc suhT m rep snortcele fo rebmun eht ot lanoitroporp 3  .  

 :snortcele fo ytiliboM  

 eht rednu lairetam a ni tfird nac snortcele eht hcihw htiw esae eht serusaem sihT

dleif cirtcele na fo ecneulfni  

v tfird eht fo edutingam eht sa denifed si snortcele fo ytilibom ehT“  yticole

 snortcele eht yb deriuqca rep   tinu  deilppa .”dleif  

  = vd
E

 )1( ………  

 wal s’mho morF  

 σ  = E J 

σ  = J 
E
 

      = I
EA

       esuaceb ,J  = I
A
 

 

 = ven dA  
EA

 

 σ en =  

 

 

 

( ytivitcudnoc fo eulav eht retaerG σ) ( ytilibom fo eulav eht si retaerg , ) 

 

 

 

𝝈  = 𝐞𝐧 𝟐 

𝐦
 

  =
𝝈
𝐞𝐧

 

 = J ven d 

 

veAn = I d 
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:yroeht nortcele eerf lacissalc fo seruliaF  

 eerf lacissalc morf denialpxe eb nac seitivitcudnoc lamreht dna lacirtcelE

 erutarepmet ,taeh cificeps sa hcus stcaf eht tnuocca ot sliaf tI .yroeht nortcele

 fo ecnedneped dna ytivitcudnoc fo ecnedneped  nortcele no ytivitcudnoc lacirtcele

.noitartnecnoc  

)a( yticapac taeh cificepS  

 si emulov tnatsnoc ta latem fo taeh cificeps ralom ehT  

Cv  = 3
2
R 

 eht yb yticapac taeh cificeps eht ot noitubirtnoc eht yllatnemirepxe tuB

 eb ot dnuof si snortcele noitcudnoc  

Cv 01 = -4 TR  

 eht rehtruF .eulav latnemirepxe eht naht rehgih hcum si eulav detciderp eht suhT

 .erutarepmet dna yticapac taeh cificeps eht neewteb pihsnoitaler on setacidni yroeht

 ot lanoitroporp yltcerid si yticapac taeh cificeps eht ,revewoh yllatnemirepxE  eht

.erutarepmet etulosba  

:erutarepmet no ytivitcudnoc lacirtcele fo ecnednepeD )b(  

.yroeht nortcele eerf lacissalc eht fo snoitpmussa niam eht ot gnidroccA  
3
2
k  = T 1

2
vm ht

2  

v ht   = �3 Tk  
m

 

 v ht √T 

 emit noisilloc naem ehT    .yticolev lamreht eht ot lanoitroporp ylesrevni si  
1

v ht
 

1
√T

 

 ytivitcudnoc yllacirtcelE   yb nevig si  

  = en 2τ
m

 

1
√T

 

 

      deniatbo yllaciteroehT  yroeht  
𝟏

√𝐓
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                         taht dnuof si ti yllatnemirepxe tuB  

 

A niag   eht htiw gnihctam ton si yroeht eht fo noitciderp eht taht dnuof si ti

.stluser latnemirepxe  

:noitartnecnoc nortcele no ytivitcudnoc lacirtcele fo ecnednepeD )c(  

 ytivitcudnoc lacirtcele yroeht lacissalc ot gnidroccA  .yb nevig si  

  = en 2τ
m

 

 α σ eroferehT n 

 snortcele fo noitartnecnoc regral htiw ,slatem tnelavirt dna tnelavid taht snaem sihT

slatem tnelavonom naht ytivitcudnoc lacirtcele rehgih hcum ssessop dluohs w ,  si hcih

.tcaf devresbo eht ot noitcidartnoc   erehW  ’n‘ sa taht dnuof si ti yllatnemirepxe

cni  ,sesaer   .g.E[ slatem tnelavonom fo ytivitcudnoc ehT .esaercni ot dnuof ton si

 ,cniz :.g.E[ slatem tnelavirt dna tnelavid fo taht naht retaerg si ]revlis ,reppoc

muinimula .]  

:ETON [ 01×1.31 era muimdac dna cniz rof snoitartnecnoc nortcele ehT 82 m/ 3  dna

01×82.9 82 m/ 3     fo seulav eht ,revlis dna reppoc rof taht naht rehgih hcum era hcihw

01×54.8 era hcihw 82 m/ 3 01×58.5 dna 82 m/ 3  era hcihw muimdac dna cniZ .ylevitcepser

01×90.1 seitivitcudnoc evah slatem tnelavid 7/ 01x51.0 dna mΩ 7/  hcum era esehT .mΩ

ressel  revlis dna reppoc slatem tnelavonom fo taht naht ,  era hcihw fo seulav eht

01x88.5 7/ 01x3.6 dna mΩ 7/ ylevitcepser mΩ ].  

  

:yroeht nortcele eerf mutnauQ  

 dlonrA yroeht nortcele eerf lacissalc fo seruliaf eht rof tnuocca oT oS dlefremm  

 sesu ylevisnetxe yroeht ehT .yroeht nortcele eerf mutnauq htiw pu emac  s’iluaP

elpicnirP noisulcxE   niam eht tuB .nortcele fo seulav ygrene eht gnitcirtser rof

 .deniater era yroeht nortcele eerf lacissalc fo snoitpmussa  

:snoitpmussA  

.1  t fo seulav ygrene ehT  dewolla ehT .dezitnauq era snortcele noitcudnoc eh

et ni dezilaer era seulav ygrene  .seulav ygrene fo tes a fo smr  

pxe
𝟏
𝐓
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.2   sa rucco slevel ygrene dewolla suoirav eht ni snortcele fo noitubirtsid ehT

elpicnirp noisulcxe s’iluaP rep  yebo osla dna   imreF eht – q cariD  mutnau

.scitsitats  

.3   oS .lairetam eht tuohguorht tnatsnoc si eroc noi evitisop ot eud dleif ehT

 denifnoc yats tub latem eht edisni laitnetop tnatsnoc a ni levart snortcele

.seiradnuob sti nihtiw  

.4  tniop ecittal eht dna snortcele eht neewteb noitcartta eht htoB  eht ,s

 erofereht dna derongi si sevlesmeht snortcele eht neewteb noisluper

.eerf detaert era snortcele  

setats fo ytisneD )E(g , : 

 .slairetam dilos ni snortcele rof slevel ygrene dewolla fo srebmun egral era erehT

 rehto hcae ot esolc slevel ygrene fo puorg A  ygrene hcaE   .dnab ygrene sa dellac si

nortcele wef a revo daerps si dnab - mm1 nI   .segnar ygrene tlov 3  eht fo emulov

 na ni slevel ygrene dettimrep noillib dnasuoht a naht erom a eb lliw ereht ,lairetam

nortcele wef fo egnar ygrene - iht fo esuaceB   .stlov  eb ot raeppa seulav ygrene eht ,s

 sa detats si ti yllacinhcet ti tneserper oT .daerps dnab a revo suounitnoc yllautriv

 si ygrene eht no slevel ygrene fo ytisned fo ecnedneped ehT .slevel ygrene fo ytisned

 yb detoned ( g s hparg ehT  .)E  fo noitairav swoh ( g  .E susrev )E  fo ytisned dellac si tI

  .noitcnuf setats  

“  ecnalav eht ni lavretni ygrene tinu rep slevel ygrene dewolla fo rebmun eht si tI

emulov tinu fo lairetam htiw detaicossa dnab ”  segnahc E sa dnab ygrene na nI  . ( g  )E

 .segnahc osla  

 

  na redisnoC E neewteb lavretni ygrene na ni daerps dnab ygrene 1 E dna 2   .

E woleB 1 E evoba dna 2  .spag ygrene era ereht ( g  ta setats fo ytisned eht stneserper )E
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 taht demussa si ti ,llams si Ed sA .E ( g  ehT  .Ed+E dna E neewteb tnatsnoc si )E

 egnar ni setats fo ytisned   .Ed)E(g yb detoned si )Ed+E( dna E  

   ,yb nevig si setats fo ytisneD  = Ed )E(g  Ed  

 

                                                             =c erehW  a si tsnoc  .tna  

  ot lanoitroporp si )E( g raelc si tI   lavretni eht ni  Ed  

 

 

 

 imreF ygrene  (EF):  ni slevel ygrene dewolla N era ereht ,smota N gnivah latem a nI

 tI .secnereffid ygrene yb detarapes era slevel ygrene eht dnab ygrene eht nI .dnab hcae

 ygrene hcae ,elpicnirp noisulcxe s’iluaP ot gnidroccA .lairetam eht fo citsiretcarahc si

occa nac level  rehto eht dna pu nips htiw eno ,snortcele owt fo mumixam a etadomm

 txen ehT .level tsewol eht morf srucco slevel ygrene fo pu gnillif ehT .nwod nips htiw

 eht ni snortcele eht lla llit no os dna level ygrene txen eht seipucco snortcele fo riap

cca era latem  sihT .tnacav tfel era ,slevel ygrene dewolla fo rebmun llitS .detadommo

 rof ylppus ygrene lanretxe on si ereht nehw erutcip eht si  eht .snortcele  

 

 

 

 

E C = )E(g
½

Ed  
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 taht demussa si ti ,llams si Ed sA .E ( g  ehT  .Ed+E dna E neewteb tnatsnoc si )E

 egnar ni setats fo ytisned   .Ed)E(g yb detoned si )Ed+E( dna E  

   ,yb nevig si setats fo ytisneD  = Ed )E(g  Ed  

 

                                                             =c erehW  a si tsnoc  .tna  

  ot lanoitroporp si )E( g raelc si tI   lavretni eht ni  Ed  

 

 

 

 imreF ygrene  (EF):  ni slevel ygrene dewolla N era ereht ,smota N gnivah latem a nI

 tI .secnereffid ygrene yb detarapes era slevel ygrene eht dnab ygrene eht nI .dnab hcae

 ygrene hcae ,elpicnirp noisulcxe s’iluaP ot gnidroccA .lairetam eht fo citsiretcarahc si

occa nac level  rehto eht dna pu nips htiw eno ,snortcele owt fo mumixam a etadomm

 txen ehT .level tsewol eht morf srucco slevel ygrene fo pu gnillif ehT .nwod nips htiw

 eht ni snortcele eht lla llit no os dna level ygrene txen eht seipucco snortcele fo riap

cca era latem  sihT .tnacav tfel era ,slevel ygrene dewolla fo rebmun llitS .detadommo

 rof ylppus ygrene lanretxe on si ereht nehw erutcip eht si  eht .snortcele  

 

 

 

 

E C = )E(g
½

Ed  
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 taht demussa si ti ,llams si Ed sA .E ( g  ehT  .Ed+E dna E neewteb tnatsnoc si )E

 egnar ni setats fo ytisned   .Ed)E(g yb detoned si )Ed+E( dna E  

   ,yb nevig si setats fo ytisneD  = Ed )E(g  Ed  

 

                                                             =c erehW  a si tsnoc  .tna  

  ot lanoitroporp si )E( g raelc si tI   lavretni eht ni  Ed  

 

 

 

 imreF ygrene  (EF):  ni slevel ygrene dewolla N era ereht ,smota N gnivah latem a nI

 tI .secnereffid ygrene yb detarapes era slevel ygrene eht dnab ygrene eht nI .dnab hcae

 ygrene hcae ,elpicnirp noisulcxe s’iluaP ot gnidroccA .lairetam eht fo citsiretcarahc si

occa nac level  rehto eht dna pu nips htiw eno ,snortcele owt fo mumixam a etadomm

 txen ehT .level tsewol eht morf srucco slevel ygrene fo pu gnillif ehT .nwod nips htiw

 eht ni snortcele eht lla llit no os dna level ygrene txen eht seipucco snortcele fo riap

cca era latem  sihT .tnacav tfel era ,slevel ygrene dewolla fo rebmun llitS .detadommo

 rof ylppus ygrene lanretxe on si ereht nehw erutcip eht si  eht .snortcele  

 

 

 

 

E C = )E(g
½

Ed  
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“  dellac si )K0( erutarepmet orez etulosba ta level deipucco tsehgih eht fo ygrene ehT

ygrene imreF eht  na  dellac si level ygrene eht d level imreF ” E' yb detoned si tI . f' 

imreF  ygrene , 𝐸 𝑜𝐹 =
ℎ2

8𝑚
�

3𝑛
𝜋

�
2 3⁄

 

                                                       𝐸 𝑜𝐹 = 𝐵𝑛2 3⁄  

 erehW 𝐵 = ℎ2

8𝑚
�3

𝜋
�

2 3⁄
 01×58.5 = tnatsnoc a si - 83 J  

E ygrene imreF F E fo smret ni desserpxe eb nac lareneg ni T ,erutarepmet yna ta oF  

noitaler eht hguorht  

 𝐸𝐹 = 𝐸 𝑜𝐹 �1 − 𝜋2

21
� 𝑇𝑘

𝐸 𝑜𝐹
�

2
� 

 yrev si stekcarb eht nihtiw mret dnoces eht ,erutarepmet hgih ylemertxe ta tpecxE

 erutarepmet yranidro ta ecneH .ytinu ot derapmoc llams E fo seulav eht oF   nekat eb nac

E ot lauqe eb ot F. 

ei E   , F = E oF  

 ta suhT  a ( imreF eht erutarepmet 𝐸𝐹)  etulosba ta ygrene imref eht tub gnihton si

erutarepmet (𝐸 𝑜𝐹 .)  

imreF - :scitsitats cariD  

 lacitsitats a gniyebo ygrene eriuqca snortcele eerf eht muirbiliuqe lamreht rednU

imreF sa nwonk elur -  cariD .scitsitats  imreF -  eht htiw slaed noitubirtsid cariD

 ygrene dettimrep ehT .slevel ygrene dettimrep eht gnoma snortcele fo noitubirtsid

 noitcnuf etats eht fo ytisned ehT .lairetam nevig eht fo scitsiretcarahc eht era slevel  g

( htiw segnahc )E   ygrene  fo rebmun ehT .dnab a ni  fo emulov tinu eht ni slevel ygrene

 si )Ed+E( & E egnar ygrene eht ni lairetam eht ( g .Ed)E  

 srehto lla morf tnereffid si hcihw eulav ygrene nwo sti evah lliw nortcele hcaE

 E egnar ygrene htiw snortcele fo rebmun ehT .nips etisoppo htiw eno eht tpecxe  &

( +E )E(N si emulov tinu ni )Ed  slevel ygrene fo rebmun eht fo tcudorp eht si hcihw Ed

.rotcaf imref eht dna egnar emas eht ni  

..  = Ed )E( N . f(E × ) g( .Ed)E  
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 tuB f(  dna )E g( .E htiw ylno segnahc T erutarepmet a ta )E  si tahT  nevig a ta Ed)E(N ,

iw egnahc erutarepmet .E ht  

 gnoma snortcele fo noitubirtsid lautca eht stneserper E  susrev  Ed)E(N fo tolp ehT

 si noitubirtsid ehT .serutarepmet tnereffid ta lairetam eht rof setats elbaliava eht

imreF sa nwonk – imreF .noitubirtsid cariD - liated eht stneserper noitubirtsid cariD  de

 rednu lairetam a fo slevel ygrene elbaliava suoirav eht gnoma snortcele fo noitubirtsid

.snoitidnoc muirbiliuqe lamreht  

imreF - :snoitidnoc eerht gniwollof eht ni deredisnoc eb nac noitubirtsid cariD   tA

f E susrev )E(N fo tolp ehT.K0>>T dna K0 >T ta ,K0=T  eht ni si sesac eerht eht lla ro

.gif  

 

 

rotcaf imreF , )E( f : e ehT af slevel ygrene eht ni snortcel  tonnac level imreF woleb r

 esuaceb erutarepmet yranidro tA  .erutarepmet orez etulosba evoba ygrene eht brosba

 imreF evoba slevel ygrene tnacav on era ereht  teg dluoc snortcele hcihw otni level

 eht ,modnar era snoitaticxe eht hguohT .ygrene lamreht eht gnibrosba retfa otni

 a yb denrevog yllacitametsys eb lliw slevel ygrene suoirav ni snortcele fo snoitubirtsid

.etats ydaets eht ta noitcnuf lacitsitats  

 orp ehT  a ta deipucco si E ygrene htiw etats ygrene nevig a taht )E(f ytilibab

yb nevig si T erutarepmet ydaets ,
1

1)( )(
Tk
EE F

e
Ef

 

  f  eht dellac si )E( imreF  .rotcaf  

“ ,suhT  ygrene nevig a fo noitapucco fo ytilibaborp eht si rotcaf imreF  a rof etats

muirbiliuqe lamreht ni lairetam ”. 

)i(  E<E rof noitapucco fo ytilibaborP f 0 = T ta K 

0=T nehW E<E& K f 

 )E(f  = 1
e− +1
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  = 1
0+1

 

E < E rof 1 = )E(f F 

,ecneH E<E & ,deipucco ylniatrec si level ygrene eht snaem 1 = )E(f  F  eht lla ot seilppa

E woleb slevel F  .  

 0=T tA  slevel ygrene eht lla ,K woleb  level imreF eht   era deipucco lla  .  

)ii(  E > E rof noitapucco fo ytilibaborP F 0 =T ta K 

0= T nehW E > E & K  F  

 )E(f   = 1
e +1

  = 1
 

E > E rof 0 = )E(f F 

 0=T tA  slevel ygrene eht lla K evoba   era level imreF deipucconu  .  

 nI 0=T ta ,sesac owt evoba eht fo weiv  ygrene tnereffid rof )E(f fo noitairav eht K

 .gif ni sa noitcnuf pets a semoceb ,seulav  

)iii(   .serutarepmet yranidro ta noitapucco fo ytilibaborP  

 tA E <<E rof 1 sniamer ytilibaborp fo eulav eht hguoht ,serutarepmet yranidro F  ti

 emoceb E fo seulav eht sa 1 morf gnisaerced strats

E ot resolc F  .  

 = E tA EF& 0 > T  k 

 )E(f  =
1

e
o
Tk +1   

 

 = 1
1+1

 

 =)E( f 1
2
 

E>E rof ,rehtruF f  ytilibaborp eht ,  v eula  V )E(f fo tolp suhT .yldipar orez ot ffo sllaf  s

serutarepmet tnereffid ta E  .erugif ni sa si  

erutarepmeT imreF : 

 eht fo ygrene lamreht egareva eht hcihw ta erutarepmet eht si erutarepmet imreF“

 eerf ni nortcele   ta ygrene imreF eht ot lauqe semoceb dilos a 0 ”K .  lamreht eht tuB

 tcudorp eht yb nevig si snortcele yb dessessop ygrene Tk fo . 

 T = T nehw snaem tI F, Tk F E = 0F  .seifsitas si  

 tuB  ,sesoprup lacitcarp lla EF E= oF  

 

)E( f  

E

5.0

0 EF

0.1

T > 0 K

T = 0 K
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 T  F  =
k

EF   

 a ylno si erutarepmet imreF  yranidro ta neve esuaceb tpecnoc lacitehtopyh

 fo edutingam a ni ygrene lamreht eviecer ot snortcele rof elbissop ton si ti erutarepmet

EF E ta elpmaxe roF  . F 3 = e ,V  TF .ezilaer ot detareggaxe etiuq si hcihw K 00843 =  

 

yticoleV imreF :“  dellac si level imref eht ypucco hcihw snortcele eht fo yticoleV ehT

V yticolev imref F .”  

 

 2

2
1

FF vmE  

     VF  =
2

1
2
m
EF  

 

 rof noisserpxE slatem ni ytivitcudnoc lacirtcelE  

 gnidroccA s’dlefremmoS ot   yebo snortcele eerf eht ,yroeht nortcele eerf mutnauq

imreF -  yebo ot nwonk era hcihw selucelom sag ot derapmoc sa scitsitatS cariD

llewxaM -  nnamztloB ecneH .scitsitats  F gniylppa yb - gnisu yb dna scitsitats D  eht  

 noitauqe tropsnart nnamztloB  noisserpxe eht si ytivitcudnoc lacirtcele rof  

 

                               𝝈  = 𝐞𝐧 𝟐 𝛌
𝐦∗𝐕𝐟

 

m erehW * .nortcele na fo ssam evitceffe eht si  

si ytivitsiser lacirtcele rof noisserpxe ehT  

                                  𝝆  = 𝐦∗𝐕𝐟
𝐞𝐧 𝟐 𝛌

 

 eerF mutnauQ fo stireM :yroehT nortcelE  

)a  :taeh cificepS  

 eht brosba latem a ni snortcele eerf eht lla yroeht nortcele eerf lacissalc ot gnidroccA

 sa tuB .taeh cificeps fo eulav egral a ni stluser tI .detaeh si latem a nehw ygrene taeh

e wef a ylno ,yroeht nortcele eerf mutnauq rep  ygrene gniypucco era taht snortcel

E level ygrene imreF ot esolc slevel F  rehgih ot deticxe teg ot ygrene taeh eht brosba
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 yrev si taeh cificeps fo eulav eht ecneH .taeh cificeps rof etubirtnoc dna slevel ygrene

.llams  

oeht nortcele eerf mutnauq ot gnidroccA yb nevig si sdilos fo taeh cificeps eht yr  

Cv 01 = -4 TR  

.seulav devresbo yllatnemirepxe eht htiw llew seerga tluser evoba ehT  

 

)b  :ytivitcudnoc lacirtcele fo ecnedneped erutarepmeT  

 ,evah eW   = en 2τ
m∗

 

  = en 2

m∗ vf
 )1( …………    esuaceB τ =

vf
 

 

 ,yroeht nortcele eerf mutnauq rep sA Ef  dna Vf  .erutarepmet fo tnednepedni era

 tuB  .sa denialpxe si dna erutarepmet no tnedneped si  

  eht fo snoi gnitarbiv yb derettacs teg yeht latem a ni esrevart snortcele eerf eht sA

us ni rucco snoitarbiv ehT .ecittal  ecalp sekat snoi fo tnemecalpsid eht taht yaw a hc

 a ni ylevitceffe tneserp eb ot demussa eb yam snoi ecneH .snoitcerid lla ni yllauqe

 aera fo noitces ssorc ralucric r2  fo evitcepserri snortcele eht fo htap eht skcolb hcihw

i r ereh[ hcaorppa fo noitcerid ]noitarbiv fo edutilpma eht s . 

 ybereht ,ylevitceffe erom rettacs noitces ssorc fo aera regral fo snoitarbiv ehT

 gnicuder  
1
r2  )2( .………  

tuB  

)a  edutilpma fo erauqs eht ot lanoitroporp si ydob gnitarbiv eht fo E ygrene ehT  

)b  .ygrene lamreht ot eud si E  

)c   si E .T erutarepmet ot lanoitroporp  

r2   T  
1
T

 )3(..…..………  

 )3( & )1( gnirapmoC  

 suhT  
1
T

 

 eht suhT  tcaxe  fo ecnedneped  .denialpxe si T no  

:noitartnecnoc nortcele dna ytivitcudnoc lacirtcelE .)c  
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 taht stseggus ledom nortcele eerf ehT   ’n‘ noitartnecnoc nortcele ot lanoitroporp si

s slatem tnelavirt tub gnivah muillag dna munimula sa hcu   nortcele erom

slatem tnelavonom fo taht naht noitartnecnoc ,  naht ytivitcudnoc lacirtcele rewol evah

.revlis dna reppoc sa hcus slatem tnelavonom  

idroccA .yroeht nortcele eerf mutnauq ot gn  

  = en 2

m
�

vf
� 

 taht noitauqe evoba eht morf raelc si tI   oitar eht & ’n‘ htob no sdneped �
vf

�. 

:rotcudnocimeS a fo ytivitcudnoC lacirtcelE rof noisserpxE  

 eb nac sreirrac egrahc eht ,yroeht nortcele eerf fo sisab eht nO  gnivom eb ot demussa

 eht ot etubirtnoc snortcele eht dna seloh eht htoB .rotcudnocimes a edisni yleerf

.rotcudnocimes eht fo ytivitcudnoc  

 

  fo wolf eht ot eud rotcudnocimes a ni ytivitcudnoc eht ,htiw trats ot redisnoc su teL

mes a redisnoC .ylno snortcele  a hcihw ni ,A noitces ssorc fo aera fo rotcudnoci

 a hguorht evom snortcele ehT .snortcele fo yticolev eht eb v teL .gniwolf si I tnerruc

 egral a ,yroeht nortcele eerf fo noitpmussa eht rep sA .dnoces eno ni v ecnatsid

t yleerf wolf snortcele eerf fo rebmun  ssorc fo aera esohw rotcudnocimes eht hguorh

.A si noitces  

.vA = dnoces/snortcele eht yb tpews emulov ehT  

N fI e  cirtcele fo edutingam eht si e dna ,emulov tinu / snortcele fo rebmun eht si

N = dnoces/wolf egrahc eht ,neht ,nortcele eht no egrahc e  .vAe  

cniS ,I tnerruc eht si dnoces/wolf egrahc e  

N = I e .vAe  

 N = )A/I( = J ytisned tnerruC e ve                 )1( ……  

 ,yb nevig si eµ ,ytilibom nortcele ehT  

µe /v = ,E        )2( ……  

erehW  .dleif cirtcele eht si E ,  

,semoceb )1( .qE ,)2( .qE morf ,v rof gnitutitsbuS  

  N = J e ( e µe ) E                  )3( ……  

 ,noitauqe eht yb nevig si ,wal s’mho eht tuB  

 = J    E   erehw  .sreirrac egrahc eht fo ytivitcudnoc eht si  
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 fI e  s’mho neht ,lairetam rotcudnocimes eht ni snortcele ot eud ytivitcudnoc eht si

,semoceb wal  

   = J e , E                                         )4( ……  

 ,)4( dna )3( sqE gnirapmoC  

,yb nevig si snortcele  fo ytivitcudnoc  

  e N = e eµe                             )5( ……  

 fI .yticirtcele fo noitcudnoc eht ot seloh fo noitubirtnoc eht redisnoc su tel woN h  si

eht  N ,seloh eud ytivitcudnoc h µ dna emulov tinu/seloh fo rebmun eht si h  eht si

 ot eud ytivitcudnoc rof noitauqe eht ,)5( qE ot ytiralimis ni neht ,seloh fo ytilibom

,sa nettirw eb nac seloh  

h N = h µ e h       )6( ……  

rotcudnocimes a rof ytivitcudnoc latot ehT   fo mus eht yb nevig si e  dna h . 

         ,e.i   = e  + h   N  = e  e µe    N  + h  e µh  

 N( e  = e µe N + h µh)   )7( ……  

 

na roF  cimeS cisnirtnI  )rotcudnocimeS eruP( rotcudno  

 eht ot lauqe syawla si seloh fo rebmun eht ,rotcudnocimes cisnirtni fo esac eht nI

 ot lauqe eb ti teL .snortcele fo rebmun ni , N   .e.i e   N= h   = , ni . 

 ,)7( .qE gnisu yB i   ,sa nettirw eb nac rotcudnocimes cisnirtni na fo ytivitcudnoc eht  

  i   =ni  e µ( e µ + h)                                                              8( …… ) 

sreirrac egrahc fo noitartnecnoC : 
N( noitartnecnoc eloh dna )eN( noitartnecnoc nortcele rof snoisserpxE h  nevig a ta )

: erutarepmet  

 noitcudnoc eht ni snortcele fo rebmun ehT“  dellac si lairetam eht fo emulov tinu/dnab

.”noitartnecnoc nortcele eht   ytiralimiS “  tinu/dnab ecnelav eht ni seloh fo rebmun eht

.”noitartnecnoc eloh eht dellac si lairetam eht fo emulov   ,lareneg nI  fo rebmun eht“

lairetam eht fo emulov tinu/seirrac egrahc   .”noitartnecnoc reirrac dellac si  

  ∴  Ne  =  4√2
h3 (πme

∗ Tk )3/2e�
EF−Eg

Tk �      

C N fo noitaulave eht redisno h oc eloh eht , .dnab ecnelav eht ni noitartnecn  

             ,e.i ∴   Nh =  4√2
h3 (πmh

∗ Tk )3/2e−EF/ Tk     

 htoB eN   dna Nh E( yrene imreF no tnedneped era F) 
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 :srotcudnocimes rof noitca ssam fo waL  

N noitartnecnoc nortcele rof evah eW e N noitartnecnoc eloh dna h  ,snoitauqe eht ,  

  ∴  Ne  =  
4√2
h3 (πme

∗ Tk )3/2e�
EF−Eg

Tk �                dna , 

∴   Nh =  
4√2
h3 (πmh

∗ Tk )3/2e−EF/ Tk  

 fo ecnedneped eht ees ew ,snoisserpxe evoba eht nI N htob e N& h E no F  su teL .

N tcudorp eht redisnoc e N& h    .  

Ne Nh =  
23  

h6 (π Tk )3(me ∗ mh ∗)3/2eEg/ Tk  

 tcudorp eht taht swohs noitauqe evoba ehT Ne Nh   E no dneped ton seod F  sniamer tub ,

 a .rotcudnocimes nevig eht rof erutarepmet nevig a ta tnatsnoc  

                                    𝐍𝐞 𝐍𝐡   .tnatsnoc a =  

 .srotcudnocimes cisnirtni dna cisnirtxe htob rof elbacilppa si noitidnoc sihT  

N,rotcudnocimes cisnirtni na roF e   N= h   n = i  reirrac egrahc cisnirtni eht si  in ,erehw

.ytisned  

 

N   nehT  e Nh   n  = 2
i   .tnatsnoc a =  

 

fo wal eht dellac si noitauqe evoba ehT  srotcudnocimes rof noitca ssam  .  wal ehT“

 tcudorp eht ,cisnirtni ro cisnirtxe rehtie lairetam rotcudnocimes nevig a rof ,taht syas

epmet yna ta tnatsnoc a sniamer noitartnecnoc reirrac egrahc eht fo  eht fi neve ,erutar

.”deirav si gnipod  

crepuS ytivitcudno  

  .slairetam dna slatem emos ni devresbo nonemonehp eht si ytivitcudnoc repuS

 yrucrem erup  fo ytivitsiser lacirtcele eht taht devresbo 1191 ni sennO hgnilremmaK

. K2.4 tuoba ta orez ot yltpurba spord  ehT  .etats gnitcudnoc repus dellac si etats sihT

 si ytivitcudnocrepus hcihw ta erutarepmet ehT. rotcudnocrepus dellac si lairetam

 si deniatta T erutarepmet lacitirc dellac c. 

:latem a fo ytivitsiser fo ecnedneped erutarepmeT  

 srotcudnoc doog era slatem llA   fo ytivitcudnoc lacirtcele ehT .yticirtcele fo

 fo wolf eht ot ,latem a fo ecnatsiser lacirtcele ehT .erutarepmet eht htiw seirav latem

 eht nehW .snoitarbiv ecittal yb snortcele noitcudnoc fo gnirettacs ot eud si ,tnerruc
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dutilpma eht sesaercni erutarepmet  ybereht ,sesaercni osla snoitarbiv ecittal fo e

non( latem fo ecnatsiser fo ecnedneped ehT .ecnatsiser eht gnisaercni -

)etats gnitcudnocrepus   no  sesaerced ecnatsiser ehT .erugif ni nwohs si erutarepmet

eulav muminim a sehcaer dna erutarepmet htiw  r sa nwonk ,ecnatsiser laudise   = T ta

   .latem eht ni seitirupmi ot eud si K0 = T ta ecnatsiser laudiser ehT .K0  

 

b desserpxe si noitairav ehT elur s’nesseihttaM y  

 ρ = ρ o )T(ρ +  

ρ‘ ,lairetam nevig eht fo ytivitsiser eht si ’ρ‘ erehW o  dna ytivitsiser laudiser eht si’

ytivitsiser fo trap tnedneped erutarepmet eht si ’)T(ρ‘  ytivitsiser laedi dellac . 

:rotcudnocrepus a fo ytivitsiser fo ecnedneped erutarepmeT  

non eht ni rotcudnocrepus a fo ecnatsiser ehT -  htiw sesaerced etats gnitcudnocrepus

erutarepmet   eht dna  fo ytivitsiser lacirtcele  eht fo emos  hsinav syolla dna slatem

erutarepmet niatrec a woleb yleritne   .  ot slairetam niatrec yb dereffo ecnatsiser ehT“

 sihT .erutarepmet dlohserht a woleb orez ot pord yltpurba tnerruc cirtcele fo wolf eht

ellac si nonemonehp  d ytivitcudnocrepus   lacitirc“ dellac si erutarepmet dlohserht dna

 morf noitisnart seogrednu lairetam a hcihw ta erutarepmet ehT“ ”.erutarepmet

 eht dellac si ytivitsiser sti gnisol etats gnitcudnocrepus ot etats lamron  lacitirc

met noitisnart ro erutarepmet cT erutarep .”  eht ,erutarepmet noitisnart eht evobA

iw ti woleb dna etats lamron eht ni si ecnatsbus  .etats gnitcudnocrepus ni eb ll  ehT

 yrev ton si tI .slairetam gnitcudnocrepus tnereffid rof tnereffid si erutarepmet lacitirc

neserp eht ot evitisnes ec  ms fo  .seitirupmi fo tnuoma lla  
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  yroehT SCB )ytivitcudnocrepus fo noitanalpxE( : 

 fo nonemonehp eht denialpxe 7591 ni )SCB( reffeirhcS dna repooC ,needraB

 tI .yroeht SCB dellac si tI .sriap repooc fo noitamrof eht no desab ytivitcudnocrepus

 mutnauq a si .tpecnoc lacinahcem  

 a sehcaorppa nortcele na nehw ,rotcudnocrepus a ni tnerruc fo wolf eht gniruD

ecrof bmoluoC a si ereht latem eht fo ecittal noi evitisop  fo   eht neewteb noitcartta

nortcele  noi ecittal eht dna   dna l gnisuac noitom ni tes si eroc noi suht  .noitrotsid ecitta

 eht fo ssam eht rellamS itisop  .noitrotsid eht eb lliw regral ,eroc ev  ecittal ehT

mret a ni dezitnauq era snoitarbiv fo s  .snonohP  na woN rehto   nortcele nissap  siht yb g

lliw ecittal detrotsid  na ti htiw tcaretni d si nortcele siht fo ygrene eht suht   osla

nopu dekool si noitcaretni sihT .decuder   nonohp eht aiv tcaretni snortcele owt eht fi sa

eif snoitarbiv ecittal eht esuaceb( ,dl   era snoitarbiv eseht fo atnauq dna dezitnauq era

snonohp ene fo gnirewol ni gnitluser ) .snortcele eht rof ygr   na noitcaretni siht ot euD

 ni evom ot dnet yeht dna snortcele eht neewteb spoleved noitcartta fo ecrof tnerappa

.sriap  sihT  s si noitcaretni snortcele owt eht nehw tsegnort   etisoppo dna lauqe evah

dna snips  .atnemom f eht ot sdael sihT  .sriap repooc fo noitamro “ sriap repooC   a era

 etisoppo htiw snortcele eht neewteb noitcaretni eht yb demrof snortcele fo riap dnuob

.”dleif nonohp a ni atnemom dna nips  

 snortcele fo gniriap dna llams oot si ecrof evitcartta eht serutarepmet lamron tA

.ecalp ekat ton seod  rewol tA taht erutarepmet   eht erutarepmet lacitirc eht woleb si

 noitcartta fo ecrof tnerappa  eht sdeecxe bmoluoC   owt neewteb noisluper fo ecrof

 snortcele  fo noitamrof eht ot gnidael riap repooc s  .  a scinahcem mutnauq ot gnidroccA

a si noitcnuf evaw A  .ytitne elgnis sa detaert si riap repooc  hcus hcae htiw detaicoss

 dna riap repooc gnippalrevo trats sriap repooc ralimis htiw detaicossa snoitcnuf evaw  



                                                         scisyhP gnireenignE                                                            1YHP51 2 

 

 tnemtrapeD ,scisyhP fo  TIBJS   egaP 35  
 

hcihw  xe  eht fo emulov eritne eht revo yllautriv ecneh dna sriap noillim a revo sdnet

 egral yllaniF .rotcudnocrepus rebmun  smrof sriap repooc fo   eht gnidia eno noinu a

 sriap repooc fo noinu eritne eht oS .rehto eht fo noitom  eno sa evom erofereht lliw

tinu  ehT . oc eht yb emocrevo si riap repooc eno yna yb decneirepxe ecnatsiser -

yletamitlU .noinu eht ni sriap rehto eht fo noitca evitarepo  nehw   a ni wolf snortcele

 ecnatsiser ehT .gnirettacs retnuocne ton od sriap repooc fo mrof eht ni lairetam

itcudnoc dna sehsinav ytivitcudnocrepus nonemonehp eht suht dna egral yrev si ytiv . 

 

 

dleif citengam fo stceffE ( H dleif lacitirc c :)  

 a ni ylno stixe latem a fo etats gnitcudnocrepus ehT

 ehT .htgnerts dleif dna erutarepmet fo egnar ralucitrap

 eht ni tsixe ot etats gnitcudnocrepus eht rof noitidnoc

f dna erutarepmet fo noitanibmoc emos taht si latem  dlei

 repuS .eulav lacitirc a naht ssel eb dluohs htgnerts

tcudnoc  ytivi  eht fo erutarepmet eht fi raeppasid lliw

T sti evoba desiar si nemiceps c  gnorts yltneiciffus fi ro

 .deyolpme si dleif citengam  eht yortsed ot deriuqer dleif citengam muminim ehT“

crepus  dellac si lairetam eht ni ytivitcudno H dleif lacitirc c .”  

 ehT  dleif lacitirc sa  erutarepmet fo noitcnuf a   si  eb nac dna cilobarap ylraen

yb detneserper ylbanosaer  

Hc H = o�𝟏 − � 𝐓𝟐

𝐓𝐂
𝟐��  erehW Ho 0 ta dleif citengam lacitirc eht si .K ˚  

 naht retaerg dleif citengam gniylppa yB Ho  emoceb reven nac lairetam eht ,

 eb ton deen dleif lacitirc ehT .erutarepmet wol eht eb yam revetahw rotcudnocrepus

 gnir gnitcudnocrepus ni gniwolf tnerruc egral tub lanretxe  nac flesti  lacitirc ecudorp

ed dna dleif .ytivitcudnocrepus syorts   

:tceffe renssieM  

  xulf citengam eht slepxe dleif citengam a ni tpek lairetam gnitcudnocrepus A

 semoceb suht dna erutarepmet lacitirc eht woleb delooc si ti nehw ydob sti fo tuo

 tcefrep citengamaid  renssieM dellac si tceffe sihT . .tceffe  

 epyT  fo  srotcudnocrepus  

:srotcudnocrepus I epyT.1  

 lamroN
 etats

Super 
conducting 

 state 

 Tc
 )K(T

)T(Hc

Ho
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 etelpmoc tibihxe slairetam esehT tceffe renssieM  ah dna ev   dleif lacitirc denifed llew

H .c   sessessop dna etats gnitcudnocrepus eht ni citengamaid tcefrep era esehT  evitagen

 .tnemom citengam  

 ehT l si dleif eht nehw gnitcudnocrepus eht ni sniamer lairetam  lacitirc eht naht sse

 tI .dleif xe  slep  yletaidemmi retam eht fo ydob eht morf ecrof fo senil citengam eht

H retfa c  stisnart lairetam eht  .e.i lairetam eht setartenep xulf eht dna etats lamron ot

eM  tceffe renssi H .tnesba si c  fo redro eht fo si T 1.0  ssel ro . H ecniS  c  neve ,wol yrev

 nac dleif citengam kaew sA .nonemonehp eht yortsed nac dleif citengam kaew

 osla era yeht dna ylisae erom lairetam eht etartenep

 dellac .rotcudnocrepus tfos  

 

 
 

.2 srotcudnocrepuS II epyT : 

H sdleif lacitirc owt gnivah era slairetam esehT 1c  H dna 2c  ssel dleif eht roF . Hneht 1c  

( )dleif lacitirc rewol  yletelpmoc dleif citengam eht slepxe ti ,  xulf on si ereht dna

noitartenep  dna citengamaid tcefrep a semoceb tI . lairetam eht  i  repus eht ni s

 .etats gnitcudnoc H retfA c1  eht fo ydob eht sllif yllaitrap dna setartenep xulf eht

 stnemalif eseht desaercni si dleif eht sA .stnemalif dellac slennahc hguorht lairetam

H yb dna nedaorb c  2 t(  ,etats gnitcudnocrepus dna lamron htob sessessop lairetam eh

 dellac si etats eht ecneh exiM‘ ’etatS d  .   sa ot derrefer osla si sihT ‘ etats xetrov  ’  erehw

.rotcudnocrepus a si ti yllacirtcele tub etats dexim yllacitengam a ni si lairetam eht  

A cH retf 2 si ecnatsiser eht dna etats lamron ot stisnart lairetam eht  tinif .e  epyT   II

rac nac srotcudnocrepus cH neewteb si dleif citengam eht nehw stnerruc regral yr 1  dna

cH 2. 

cH 2 cH naht retaerg sdlof a ynam si dleif lacitirc reppu eht 1  .dleif lacitirc rewol eht

 eseht ecneh lairetam eht etartenep nac T01 fo redro eht fo dleif citengam gnorts ylnO

 dellac era  repus drah epyT .rotcudnoc -  eht ni desu era srotcudnocrepus II

tnemelE  Tc )K(  

 muinimulA  

 muimdaC  

 muillaG  

muidnI  

 niT  

 yrucreM  

 daeL  

691.1  

25.0  

90.1  

04.3  

27.3  

21.4  

571.7  
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 01 evoba sdleif citengam hgih fo stengam gnitcudnocrepus eht fo gnirutcafunam

.alseT  

 
 

giH  srotcudnocrepus erutarepmet h  

  rotcudnocrepuS s 001 evoba erutarepmet noitisnart a htiw  K˚ era   hgih sa nwonk

 erutarepmet rotcudnocrepus s nI .   taht nwohs saw ti 7891 m  sa hcus slaireta

aBY 2 uC 3O7- x(,x )1.0≤   diuqil fo taht evoba llew si hcihw erutarepmet lacitirc evah

lla ta muileh diuqil eriuqer ton od yeht ecneH .)K77( negortin  gnilooc rof  esehT .

1 sa nwonk era sdnuopmoc -2- itsnoc eht sa dnuopmoc 3  oitar eht ni era tneserp tneut  ,1

.3 & 2  

        T on era eseh o slatem t r  sa deifissalc sedixo era yeht ,dnuopmoc cillatem retni

scimarec  .  fo sedixo fo sepyt tnereffid era srotcudnocrepus erutarepmet hgih llA

 dellac erutcurts latsyrc fo epyt ralucitrap a raeb dna ,reppoc setiksvoreP   latsyrc

fo rebmun ehT   .erutcurts   tnerruc ehT .sesaercni eulav cT eht sesaercni sreyal reppoc

T hgih eht ni C reppoc ot lellarap ni gnorts si tI  .tnedneped noitcerid si slairetam -

reppoc ot ralucidneprep ni kaew dna senalp negyxo -   .senalp negyxo  

epyT era slairetam cT hgiH - otcudnocrepus II  ylisae ton dna elttirb era yeht dna sr

 ehT .sdoirep gnol revo elbatsnu dna stnerruc egral yrrac ot elbanu ,seriw otni demrof

 SCB eht ni sa ecittal nortcele fo noitcaretni ot eud ton si sriap nortcele fo noitamrof

ac seod tahw raelc ton si ti llitS  .yroeht  gnieb si hcraeseR  .sriap fo noitamrof eht esu

 .noitcerid siht ni gnitcudnoc  hgih tnecer htiw ereht ton era seitluciffid dias evoba ehT

 srotcudnoc repus erutarepmet erehw   yb decalper era stnemele htrae erar eht  htumsiB

 

tnemelE  
Tc )K(  

mulatnaT  

illahT mu  

muiboiN  

5.4  

4.2  

3.9  
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 ro muillahT  ( .)K001 dnuora c eno yadoT  moor fo ytilibissop eht tuo elur tonna

.ytivitcudnocrepus erutarepmet  

:srotcudnocrepuS fo snoitacilppA  

 yllacitengaM detativeL  )selcihev velgaM( selciheV : yllacitengaM  detativel   selcihev

 citengam ehT .selcihev velgaM dellac era noitativel   fo elpicnirp eht no desab si

ehT .tceffe renssieM   sdleif gnorts owt eht neewteb noisluper  eht yb decudorp

tnerruc cirtcele dna tengam gnitcudnocrepus  setativel  elcihev eht  taolfa tes si dna .  ehT

 gnitaolfa  dellac si elpicnirp siht yb selcihev eht fo tengaM noitativeL ci . 

 tnerruc cirtcele eht dna elcihev eht edisni tpek si tengam gnitcudnocrepus ehT swolf  

 eht ni muinimulA  .yaw ediug   si no dehctiws si elcihev eht ni dleif citengam eht ecnO

 ediug eht ,etativel ot tuoba si ti sA .yaw ediug eht fo dleif citengam eht yb delleper

 ni dedivorp stnemges eht yb drawrof elcihev eht sleporp yaw  eht muinimulA   ediug

iw dedivorp si elcihev ehT .yaw  .sleehw elbatcarter ht t yllaitinI  eht no snur elcihev eh

ivel si ti ecno ,yaw ediug t .ydob eht otni detcarter era sleehw eht ria ni deta   thgieh ehT

 elihW .mc51 ot 01 tuoba si yaw ediug evoba detativel si elcihev eht hcihw ot

o nward era sleehw eht ,gnippots ihev eht dna tu  eht no selttes ylwols elc ediug  yaw   yb

 evah ton od yeht ,tceffe citengam rednu taolf selcihev hcus ecniS .ecnatsid a gninnur

.levart sselesion dna ,noitpmusnoc rewop ssel ,noitcirf  
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eludoM -3 

srebiF lacitpO dna sresaL  

 s’nietsniE resaL a fo setisiuqeR.)ytisned ygrene rof noisserpxe( stneiciffeoc  .metsys  

.noitca resal rof noitidnoC  fo gnikrow dna noitcurtsnoC ,elpicnirP  OC 2  dna resal

 resaL fo snoitacilppA .resaL rotcudnocimes – ,gnidlew resaL  llird dna gnittuc  .gni

 cirehpsomta fo tnemerusaeM .stnatullop  yhpargoloH –p idroceR fo elpicnir  dna gn

.segami fo noitcurtsnocer  

.srebif lacitpo ni msinahcem noitagaporP  .ecnatpecca fo elgnA  laciremuN  

.erutrepa  ,noitaunettA .noitagaporp fo sedom dna srebif lacitpo fo sepyT   kcolB

id .snoitacilppa ,noitacinummoc tniop ot tniop fo noissucsid marga  

ruoH 01  

 
 

:tnetnoC  
 

 nietsniE ’ stneiciffeoc s  

 metsys resal a fo setisiuqer laitnessE  

 noitalupoP  etats elbatsatem dna noisrevni  

 oC 2 resal  

 resal rotcudnocimeS  

 resal fo snoitacilppA  

 yhpargoloH  

  laciremuN erutrepa  

 noitaunetta  
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:noitcudortnI  

 rof sdnats resaL drow ehT L  thgi A  yb noitacifilpm S  detalumit E  fo noissim

R  .noitaida  ,ecnerehoC ekil seitreporp sah tI .thgil seifilpma hcihw ecived a si tI

idinU sucoF ,citamorhconoM ,lanoitcer .cte ,ytiliba  

  rettam htiw evaw citengamortcele na fo noitcaretnI  niatrec seriuqer

 eno morf elucelom a ro mota na fo noitisnart ot sdael noitcaretni ehT .snoitidnoc

 sbrosba ti etats rehgih ot etats rewol morf si noitisnart eht fI .rehtona ot etats ygrene

ene tnedicni eht  trap a stime ti etats rewol ot etats rehgih morf si noitisnart eht fI .ygr

.ygrene sti fo   

 fI   ,slevel ygrene owt eht neewteb ecnereffid eht si E∆  

     nehT E( = E∆  2 - E1 eluoJ )  

 ,kcnalP xaM ot gnidroccA h = E∆  E( = 2-E1) 

  E( = 2 - E1 .zH     h/)  

 eerhT :elbissop era hcihw ,snoitcaretni fo sepyt  

)1  noitprosba/noitprosba detalumitS /noitprosba decudnI  

)2  noissime suoenatnopS  

)3  .noissime detalumitS  

h  .snotohp dellac ygrene fo mutnauq hguorht sekat noitprosbA ro noissimE   dellac si

 .ygrene notohp ro ygrene mutnauq  

01×626.6 = h -  43 ‘ dna tnatsnoc s’kcnalP si seluoJ .ycneuqerf eht si ’  

)1  :noitprosba/noitprosba detalumitS /noitprosba decudnI  

 fo tluser a sa metsys yb notohp tnedicni na fo noitprosba eht si noitprosba decudnI

grene rewol a morf detavele si metsys eht hcihw  eht nierehw ,etats rehgih a ot etats y

ene eht si setats owt eht fo ygrene ni ecnereffid notohp eht fo ygr   metsys eht redisnoC

E setats ygrene owt gnivah  1 E dna 2 E ,  2 E > 1 h ygrene fo notohp a nehW .   tnedicni si

E level ta mota na no 1 gih a ot seog mota eht ,  eht gnibrosba yb level ygrene reh

.ygrene  
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level dnuorg ta si mota na nehW  E( 1  elbatius fo evaw citengamortcele na fi ,)

 ycneuqerf   rehgih ot deticxe gnitteg fo ytilibissop si ereht ,mota eht ot deilppa si

E( level 2  sa detneserper si tI .debrosba si notohp tnedicni ehT .)  

   notohP + motA motA → * 

si notohp debrosba eht fo ycneuqerf ehT  

  E( = 2-E1  .h/)  

noitprosba fo etar ehT  N ot lanoitroporp si 1U  

 N‘ erehW 1 U‘ ,etats ygrene rewol eht fo ytisned rebmun eht si ’ t si ’  ygrene eh

.noitaidar tnedicni fo ytisned  

 α noitprosba decudni fo etaR N1U  

B = noitprosba fo etaR 21 N1U  

B‘ erehW 21  decudni fo tneiciffeoC nietsniE dellac tnatsnoc ytilanoitroporp eht si ’

.noitprosba  

.1  :noissimE suoenatnopS  

 eht yb notohp a fo noissime ehT  a ot etats ygrene rehgih a morf metsys a fo noitisnart

 suoenatnops dellac si ygrene lanretxe na fo dia eht tuohtiw etats ygrene rewol

.noissime  E‘ teL 1 E‘ dna ’ 2 E taht hcus ,lairetam a ni slevel ygrene owt eb ’ 2 E> 1 E . 1  si

E dna level dnuorg 2  rehgih eht si h .level E= 2-E1  ehT .ygrene eht ni ecnereffid eht si

E( level rehgih ta mota 2 E( level rewol ta taht ot derapmoc sa elbatsnu erom si ) 1  .)  

  lanretxe yna fo dia eht tuohtiw notohp eht stime mota noissime suoenatnops nI

 sa detneserper si ssecorp ehT .noissime suoenatnops dellac si tI .ygrene  

   motA  * notohP + motA →  
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hp dna noitcerid emas evah ton yam noissime suoenatnops ni dettime snotohp ehT  esa

.tnerehocni si tI .seitiralimis  

 .cte emalf eldnaC ,sblub cirtcele gniwolG :xE  

 

N no sdneped noissime suoenatnopS 2  eht ni tneserp smota fo rebmun eht si hcihw

    .level rehgih  

 ehT  noissime suoenatnops fo etar  α N2 

    noissime suoenatnops fo etar ehT A = 12 N2 

A‘ erehW 12 ’  suoenatnops fo tneiciffeoc nietsniE dellac tnatsnoc ytilanoitroporp eht si

.noissime  

.2  :noissimE detalumitS  

 a fo ecneulfni eht rednu metsys a yb notohp a fo noissime eht si noissime detalumitS

 rehgih a morf stisnart metsys eht hcihw ot eud ygrene thgir eht tsuj fo notohp gnissap

 .etats ygrene rewol a ot etats ygrene  

 

etalumits dellac si dettime suht notohp ehT  ,esahp emas eht evah lliw dna notohp d

 noitalumits eht dellac notohp gnissap eht fo taht sa tnemevom fo noitcerid dna ygrene

.notohp  

 E level rehgih ta si mota eht yllaitinI 2 h ygrene fo notohp tnedicni ehT .   secrof

ed teg ot mota eht - l rehgih morf deticxe E leve 2 E level rewol ot 1 h .e.i . E= 2–E  1  eht si

.ygrene ni egnahc  
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 noitalumits eht dellac notohp gnissap eht fo taht sa tnemevom fo noitcerid dna ygrene

.notohp  

 E level rehgih ta si mota eht yllaitinI 2 h ygrene fo notohp tnedicni ehT .   secrof

ed teg ot mota eht - l rehgih morf deticxe E leve 2 E level rewol ot 1 h .e.i . E= 2–E  1  eht si

.ygrene ni egnahc  
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 a fo ecneulfni eht rednu metsys a yb notohp a fo noissime eht si noissime detalumitS

 rehgih a morf stisnart metsys eht hcihw ot eud ygrene thgir eht tsuj fo notohp gnissap

 .etats ygrene rewol a ot etats ygrene  

 

etalumits dellac si dettime suht notohp ehT  ,esahp emas eht evah lliw dna notohp d

 noitalumits eht dellac notohp gnissap eht fo taht sa tnemevom fo noitcerid dna ygrene

.notohp  

 E level rehgih ta si mota eht yllaitinI 2 h ygrene fo notohp tnedicni ehT .   secrof

ed teg ot mota eht - l rehgih morf deticxe E leve 2 E level rewol ot 1 h .e.i . E= 2–E  1  eht si

.ygrene ni egnahc  
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 emas eht yltcaxe fo notohp a time ot mota deticxe eht setalumits notohp tnedicni ehT

 ,esahp emas evah snotohp owt dettime ehT .snotohp tnedicni eht fo taht sa ygrene

dna noitcerid ,ycneuqerf   si noitca fo dnik sihT .notohp tnedicni eht htiw noitaziralop

.noitca gnisal rof elbisnopser  

 motA  *  notohP + )notohP + notohP( + motA →  

N ot lanoitroporp yltcerid si noissime detalumits fo etar ehT 2U N‘ erehw , 2  eht si ’

 eht ni tneserp smota fo rebmun U‘ dna level ygrene rehgih .ytisned ygrene eht si ’  

 ehT  α noissime detalumits fo etar N2U  v  

B = noissime detalumits fo etar ehT 12 N2U  ,  

B‘ erehw 12 feoC s’nietsniE dellac tnatsnoc ytilanoitroporp eht si ’  detalumits fo tneicif

.noissime  

E  B & A s’nietsni )ytisned ygrene rof noisserpxE(stneiciffeoC  

E setats ygrene  owt  redisnoC 1 E dna 2 N teL  .smota fo metsys a fo 1 N dna 2  on eht eb

.on ( smota fo  E setats ygrene eht ni )noitalupop ytisned 1 E dna 2 .ylevitcepser  

  ygrene eht eb νU teL( )emulov tinu / tnedicni  teL  . w fo snoitaidar  ni htgneleva

 λ dna λ egnar eht .smota fo metsys eht no tnedicni eb  λd +  

  dνU nehT  .metsys eht fo emulov tinu / tnedicni ygrene eht νU eb teL ν 

 ytisned ygrene eht stneserper  ycneuqerf fo ν .redisnoc su tel  

.1   decudnI fo esaC ehT :noitprosba  

 a decudni fo esac eht nI eht ni mota na )nehw( noitprosb   nehW  .etats dnuorg

 ycneuqerf fo noitaidar a sbrosba ν  =
h

EE 12  E level eht stneisnart sekam ti neht 2. 

 .oN  mulov tinu rep emit tinu rep noitprosba hcus fo etaR dellac si e   fo

.noitprosba  

 B = noitprosba fo etar ehT 21 N1    .νU  

 B erehW 21   tnatsnoc ytilanoitroporp eht si eoc nietsniE dellac  fo tneiciff

.noitprosba decudni  
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:noissimE suoenatnopS .2  

 E etats deticxe eht ni mota nA 2 E etats dnuorg ot noitisnart sekam 1  eht yb

 ycneuqerf fo notohp fo noissime ν .oN  .    emit tinu rep snoissime suoenatnops hcus fo

 eht ot lanoitroporp si hcihW  .noissime suoenatnops fo etaR dellac si emulov tinu rep

N etats ygrene rehgih eht ni ytisned .on 2. 

 ehT  α noissime suoenatnops fo etar N2 

A = noissime suoenatnops fo etaR 12 N2   .νU  

A erehW 12  tnops fo tneiciffeoc nietsniE dellac si .noissime suoena  

.3  :noissime detalumitS  

E etats eht ni mota na no tnedicni v ycneuqerf fo noitaidar a nehW 2  etalumits hcihW  .

 eht a noitisnart drawnwod ekam ot mot  sesuac dna  .snotohp detalumits fo noissime eht  

  noissime detalumits  fo etar ehT  N2. 

B = noissime detalumits fo etaR 12 UvN2 

B erehW 12  ffeoc nietsniE eht dellac ytilanoitroporp fo tnatsnoc eht si  fo tneici

oissime detalumits  .n N dnA 2 E etats ygrene rehgih  eht ni ytisned ,oN eht si 2  tA  .

.muirbiliuqe lamreht  

,muirbiliuqe lamreht tA  

)noissime detalumits fo etaR + noissime suoenatnops fo etaR( = noitprosba fo etaR  

B 21 N1U A = 12 N  2 B + 12 N2U  

U  B( 21 N  1 - B 12 N2 A = ) 12 N2 

U  = A 12 N2
(B 21 N1−B 12 N2)

 

,e.i      U  = A 12
B 12

� N2

�B 21
B 12

N1−N2�
� 

=A 12
B 12

� 1

�B 21
B 12

N1
N2

�−1
�                                                 )1( →  
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,wal s’nnamztloB yB  

N2=N1e−�E2−E1
TK � N = 1 e-h TK/  

,.e.i  N1 N/ 2 e = h TK/  

 )1( .nqE   semoceb

1

1

12

2112

12

Tk
h

e
B
BB

AU
 )2( →  

,wal s’kcnalP yB  

1

18
3

3

Tk
h

e
c
hU

)3( →  

)3( & )2( noitauqe gnirapmoC  

A 12
B 12

 hπ8 = 3 c/ 3 & B 21
B 12

 B .e.i    1=  21 B = 12  

.noissime detalumits eht ot lauqe si noitprosda decudni fo ytilibaborp ehT  

ytitnedi fo eht fo esuaceB ,  dluoc stpircsbus eht A dna deppord eb 12 B& 12   eb nac

r  eroferehT .B & A sa detneserpe ned ygrene rof noitauqe eht  lamreht ta ytis

si muirbiliuqe , 

1

1

Tk
h

e
B
AU

 

oc nietsniE fo snoisulcnoC - :tneiciffe  

:ycneuqerf no noissime fo erutan fo ecnednepeD  

  redisnoC A 12
B 12

 hπ8 = 3 c/ 3                                      )1( →  

A fI 12  B fI .hgih si noissime suoenatnops fo ytilibaborp eht ,eulav hgih sah 12   hgih sah

.hgih si noissime detalumits fo ytilibaborp eht ,eulav  

          rehtruF 𝐀 𝟏𝟐
𝐁 𝟏𝟐

  α 3 
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 ecniS  E slevel owt eht neewteb ecnereffid ygrene eht ,noitidnoc lamron ni ,h/EΔ = 1 

E dna 2 egral si  

A 12
B 12

A   ro    1 >>  12 B >> 12  

rom si noissime suoenatnops fo ytilibaborp eht suhT .noissime detalumits eht naht e  

noitca resal rof noitidnoC : 

.1  :etatS elbatS ateM  “  etats eht si tI  na rof yats selucelom ro smota eht hcihw ni

01 fo redro eht fo emit gnol yllausunu -3 01 ot -2 dnoces .”  

 

 
 

 

      .noitca gnisal ni elor tnatropmi na syalp etats sihT  gniveihca ni spleh ytreporp sihT

,noisrevni noitalupop  nI  01 fo redro fo yats mota elbatsatem naht rehto etats deticxe -8 

.dnoces  

.2  :noisrevnI noitalupoP  “  a fo noitalupop eht hcihw ta metsys eht fo etats eht si tI

 ralucitrap  si level ygrene rehgih  eb ot edam  ygrene rewol eht fo taht naht retaerg

.level ” 

 E teL 1 E , 2 E , 3 E metsys eht fo slevel ygrene eht eb 3 E> 2 E> 1 E . 2  elbatsatem eht si

E etats eht morf deticxe teg smotA  .metsys eht fo etats 1 E ot 3  lanretxe fo snaem yb

 ot snoitisnart suoenatnops ogrednu smota esehT .emit trohs rof ereht yats dna ecruos

E2 E dna 1  ehT . E etats eht ta smota 2  hcihw ni dehcaer si egats A .emit regnol rof yats

E etats ta smota fo rebmun eht 2 E ta smota fo rebmun eht naht erom si 1  si hcihw

.noisrevni noitalupop sa nwonk  
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:etoN  

:gnipmuP  “ dellac si noisrevni noitalupop gnicudorp fo ssecorp ehT  .gnipmup ”  si tI

 eb nac tI .level ygrene rehgih ot level ygrene rewol morf smota gniticxe fo ssecorp eht

.sdohtem tnereffid yb deveihca  

.a   :gnipmup lacitpO   .ebut hsalf gnitarepo yb ro thgil ytisnetni hgih gnisU

.resaL ybuR:xE  

.b   :egrahcsiD cirtcelE  gniylppa yB  fo setalp eht neewteb laitnetop hgih yrev

.resaL nogrA :xE  .gnipmup ot sdael egrahcsid steg sag ebut egrahcsid  

.c  motA - :noisilloC motA   dna mota fo sepyt rehto htiw edilloc smota deticxE

eH :xE  .etats deticxe ot smota rehto gnirb ot ygrene sti refsnart - aL eN .res  

.d  :dohteM lacimehC   sihT  .ygrene etarebil snoitcaer lacimehc cimrehtoxE

.resaL eyD :xE  .smota eht gnipmup ni desu si ygrene detarebil  

.e  : tnerruC gnisU   tupni tnerruc fo gninut eht resal edoid rotcudnocimes nI

talupop eveihca ot sreirrac egrahc eht sgnirb  .noisrevni noi  

:metsyS resaL a fo setisiuqeR  

)1  ticxe ehT noitca gnipmup rof ecruos noita  : “  hcihw ecruos lanretxe eht si tI

 rehgih ot smota eht gnipmup rof mrof etairporppa na ni ygrene sedivorp

slevel ygrene ”. 

)2  evitcA :muidem  “ ehT   eht hcihw ni metsys mutnauq  snoitca gnisal& gnipmup

metsys evitca na dellac si ,rucco ”. 

)3   resaL ytivac )rotanoseR( : “ sI  b dednuob muidem evitca na srorrim owt y ”.  
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C  nobra OC( edixoid 2) resal : 

 

:noitcurtsnoC  

 
 fo retemaid a gnivah ebut egrahcsid a fo stsisnoc resal edixoid nobraC  a dna mc5.2

 ,edixoid nobrac fo erutxim a htiw dellif si ebut egrahcsid ehT .m5 tuoba fo htgnel

htiw 3:2:1 fo oitar eht ni sesag muileh dna negortin  H secart 2  fo  retaw ruopav  .

 tuoba era deniatniam serusserP  6 - rrot 71 . 

 ylluf eno ,srorrim enalp yllacitpo owT  dexif era derevlis flah eno rehto dna derevlis

.sixa sti ot lamron ebut eht fo edis rehtie no   ylluf eht morf ytivitcelfer %001 si erehT

.rorrim derevlis flah eht morf tuo semoc thgil resal desiralop dna rorrim derevlis  

 

:gnikroW   

batius a nehW  eht fo egrahcsid wolg a sedortcele owt eht ssorca deilppa si egatlov el

 sag morf eerf tes era snortcele ynam egrahcsid eht gniruD. ebut ni detaitini si sessag

 htiw edilloc ot nigeb yeht emit hcihw ta edortcele evitisop sdrawot evom dna smota

N2 dna  O2 celom  seticxe hcihw ,htap rieht ni selu N2  tsrif eht ot deticxe era selucelom

1=V level lanoitarbiv   fo etats elbatsatem a si hcihw N2 elucelom  

              e1 +N2 ->e2 +N2* 

 erehW e1  dna e2 erofeb snortcele eht fo seulav ygrene eht era  noisilloc eht retfa dna  

ylevitcepser , dna  N2  dna N2*  eht seulav ygrene eht era N2  etats dnuorg eht ni selucelom

i.e, .etats 1=V & 0=V  
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OC eht fo ynam ,esiwekiL 2  desiar eb osla lliw selucelom  etats ygrene )100( rieht ot

 roF.)etats elbatsatem ton si hcihw( N2  eht, etats elbatsatem eht si 1=V ecnis selucelom

rcni ot sdael hcihw emit gnol ylevitaler rof ereht niamer selucelom  noitalupop fo esae

 etats 1=V ni  nehw taht os N2 htiw sedilloc etats elbatsatem eht ni elucelom  

 

OC 2  ygrene fo gnihctam fo esuaceb, etats dnuorg eht ni selucelom tnanoser ,slevel  

 eht morf ecalp sekat refsnart ygrene N2 OC ot 2  )100( eht ot detavele hcihw. elucelom

N, saerehw etats 2 . etats dnuorg eht ot snruter elucelom  

    i.e,  N2* OC+ 2 ->N2+ OC 2* 

erehW , OC 2 OC dna 2 OC fo seigrene era * 2  etats deticxe dna dnuorg eht ni elucelom

.ylevitcepser  

)100( eht fo noitalupop eht suhT  E ro 5 OC fo level 2  eht sdael hcihw yldipar sesaercni

)010(,etats dnuorg setoned su teL .noisrevni noitalupop , )020( , )001(  dna   setats )100(  sa

E1 E, 2 E, 3 E, 4 E dna 5  ni nwohs sa ylevitcepser slevel ecnO .erugif   noitalupop eht

E neewteb dehsilbatse si noisrevni 5  eht ot tcepser htiw level E3 E & 4  owt neht slevel

OC nihtiw ecalp sekat noitisnart resal 2 .sag  
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noitisnart esohT s  era  

noitisnarT .1  t 5E morf  noitaidar eht sevig hcihw 4E o 6.01 htgnelevaw fo ,mμ   si hcihw

.noiger )RI(derarfni raf rednu semoc  

rehtonA .2   htgnelevaw fo noitaidar ot esir sevig hcihw level 3E ot 5E morf noitisnart

 .noiger RI raf rednu semoc osla si hcihw mμ6.9  

OC ehT 2 celom H & eH htiw noisilloc ogrednu level 2E eht ni selu 2  ruopav O

OC.etats dnuorg eht ot nwod emoc & yltneiciffe selucelom 2  na htiw setarepo resal

  rewop %03 fo yltneiciffe  ni deniatniam ylsuounitnoc eb nac sttaw olik wef fo tuptuo

.muidem a  

muillaG -  edinesrA :resal rotcudnocimeS :resaL  

 p detacirbaf yllaiceps a si resal edoid rotcudnocimeS A -  taht ecived noitcnuj n

il tnerehoc stime  drawrof si ti nehw thg .desaib  ehT   notohp dettime eht fo htgnelevaw

ca eht nopu sdneped .latsyrc eht fo ygrene noitavit  

noitcurtsnoC :  eht ni nwohs sa si resal rotcudnocimes fo margaid citamehcs A .erugif  

ehT   depod ylivaeh fo stsisnoc sAaG fo latsyrc elgnis a si edoid resal edinesra muillag

P-  N ehT .snoitces  n- P dna muirullet fo gnipod yb demrof noitces -  demrof noitces

01 fo redro eht fo si hgih yrev si noitartnecnoc gnipod dna cniz htiw gnipod 71   ot

01 91 mc/smota 3  eht fo si edis sti fo hcae dna llams yrev si edoid eht fo ezis llarevo ehT.

.mm1 fo redro  

p ehT - j n  eht nopu gnidneped stI. mμ001 ot mμ1 gniyrav htdiw eht fo reyal noitcnu

 snoitacirbaf fo emit eht ta tsixe taht snoitidnoc erutarepmet dna noisuffid  

 

p fo weiv lanoitces ssorC - .resal edoid noitcnuj n  



                                                         scisyhP gnireenignE                                                            1YHP51 2 

 

 tnemtrapeD ,scisyhP fo  TIBJS   egaP 96  
 

 lellarap fo riap A a dehsilop era latsyrc eht fo senalp p eht ot selgna thgir t -  reyal n

eseht.   gnitcelfer fo elor eht yalp senalp  .srorrim esehT   tneiciffus sedivorp senalp

 hguorht noitca gnisal eht niatsus ot noitcelfer ehT .kcabdeef   sedis gniniamer owt rehto

noitcnuj eht ot ralucidneprep   era  taht os, snotohp fo snoitcelfer sserppus ot denehguor

 gnisal eht poleved ton lliw yeht ehT .noitca   snoitces n dna p eht fo secafrus dne

 drawrof hcihw hguorht sedortcele htiw tcatnoc era noitcnuj eht fo enalp eht ot lellarap

.deilppa si egatlov saib  

gnikroW :   np depod ylivaeh fo margaid dnab ygrene ehT -  nwohs sa si noitcnuj

 eht ssorca mrofinu si level imreF eht ,muirbiliuqe lamreht tA  .noitidnoc desaibnu

n no gnipod hgih yrev fo esuaceB .noitcnuj -  eht otni dehsup si level imreF ,edis

tcele dna dnab noitcudnoc nab noitcudnoc eht fo noitrop eht ypucco snor  woleb gniyl d

 .level imreF eht P nO - imreF eht ,edis   seloh dna dnab ecnelav eht nihtiw seil level

 eht nehW  .level imreF eht evoba seil taht dnab ecnelav eht fo noitrop eht ypucco

tcele desaib drawrof si noitcnuj  ni noiger noitcnuj eht otni detcejni era seloh dna snor

nortcele eht ,tnerruc drawrof wol tA .snoitartnecnoc hgih -  stluser noitanibmocer seloh

 drawrof eht sA  .DEL a sa stca noitcnuj eht dna snotohp fo noissime suoenatnops ni

 yllaudarg desaercni si tnerruc  reirrac eht eulav dlohserht a sehcaer ti nehw dna

 snortcele fo snoitartnecnoc egral eb lliw ereht noiger noitcnuj eht ni noitartnecnoc

 eht ni deniatta si noisrevni noitalupop fo noitidnoc tluser a sA  .dnab eht nihtiw

hw ni enoz worran sihT  .noiger worran  hci noitalupop   na sa dellac si srucco noisrevni

 detalumits sreggirt ylsuoenatnops dettime notohp a egats taht ta ,noiger evitca

nortcele detalumits sihT  .noissime -   .noitaidar tnerehoc secudorp noitanibmocer eloh  

 

p fo margaid level ygrenE - oid noitcnuj n resal ed  

)a(  .gnisaib retfA )b(         gnisaib erofeB  
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nortcele detalumits ehT -  fo noitaidar tnerehoc fo noissime sesuac noitanibmocer eloh

 htgnelevaw fo thgil stime resal sAaG ,erutarepmet moor tA  .htdiwdnab worran yrev

A0009 0 PsAaG dna  A0056 ta setaidar resal 0. 

 si maeb resal dettime eht fo htgnelevaw ehT  

  = Ch
Eg

    h  erehW =  .tsnoc s’kcnalP  

:resal rotcudnocimes fo segatnavdA  

.1  tcapmoc era yehT  

.2  tneiciffe era yehT  

.3  elbats ylhgih era yehT  

:resal fo seitreporP  

.1  ecnerehoC  dettime ehT :  esahp ni si dereggirt gnitteg retfa noitaidar

.noitaidar tnedicni eht htiw  

sepyt owt fo si ecnerehoC  

.a  ecnerehoc emit ro laropmeT  

.b  ecnerehoC laitapS  

.2  yticitamorhconoM  yna naht citamorhconom ylhgih si maeb resal ehT :

.snoitaidar rehto  

.3  ytilanoitceridinU  resaL :  nac tI .noitcerid eno ylno ni slevart maeb

.gnidaerps tuohtiw ecnatsid gnol levart  

.4  ytilibasucoF .tops enif ylemertxe na ot desucof eb nac maeb resal A :  

.5  ytisnetnI  sttawillim wef morf yrav yam resal eht fo tuptuo rewop ehT  :

rene siht tuB   .sttawolik wef ot  yrev fo maeb a ni detartnecnoc si yg

 nevig yletamixorppa si maeb resal fo ytisnetni ehT  .noitces ssorc llams

 yb  

2
201 mWPI  

  .resal yb detaidar rewop eht si p erehW  

eH fo esac nI -  ,resal eN 01x8236 = - 01 01 x01 =P dna m -3  ,W  

eht   si ytisnetni gnidnopserroc  

2113
2

01 015.201001
018236

1 mWI  
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 evah dluow erutarepmet eht ,blub netsgnut morf ytisnetni evoba eht niatbo oT

01x6.4 ot desiar eb ot 6  si blub eht fo erutarepmet gnitarepo lamron ehT  .K

.K0002 yletamixorppa  

:resal fo noitacilppA  

.1  lew resaL gnid  ehT .dedlew eb ot ecafrus eht no llaf ot dewolla si maeb resaL :

 ehT .detareneg taeh eht ot eud gnitlem strats ecafrus eht dna debrosba si maeb

 fo srotcaf tnatropmi eht era lairetam eht fo ytivisuffid lamreht dna ytivitcelfer

 ytivitcelfer ehT .gnidlew  ,ygrene eht esaercni oT .ssel si desaeler ygrene eht ,erom si

 eht ,gnitlem eht gniruD .etihparg ro edixo cirpuc rehtie htiw detaoc si ecafrus eht

 suoenegomoh a semoceb ti dna lairetam eht fo ecafrus eht no etalumucca seitirupmi

 a smrof dna erutcurts dilos .gnilooc no tnioj regnorts  

 ton seod resal ,gnidlew resal nI .etarucca dna worran yrev si gnidlew resal ehT

 noitanimatnoc on ecneH .dedlew eb ot lairetam eht htiw tcatnoc lacisyhp yna evah

.gnidlew ot eud egnahc ton od lairetam eht fo seitreporp ehT .srucco   gnidlew resaL

.tnemnorivne pohskrow lamron ni tuo deirrac eb nac  

 

.2  :gnittuc resaL   steg latem eht ,tops ynit a otno sucof ot dewolla si resal eht nehW

OC .noitrotsid lacisyhp on eb lliw erehT .deziropav 2  .gnittuc resal eht rof desu si resal

 ylesrevni dna maeb resal eht rof rewop tupni eht nopu sdneped gnittuc resal ehT

 sag eht fo erutan eht no sdneped osla tI .lairetam eht fo ssenkciht eht ot lanoitroporp

 desu ylnommoc si negyxO .maeb resal eht htiw desu  yllaixaoc nwolf si sag ehT .sag

 ti dna deziropav teg ot latem eht spleh sag eht fo noitsubmoc ehT .maeb eht htiw

 lairetam eht stuc resaL .gnittuc rof deriuqer si hcihw rewop resal eht secuder

.yletarucca  
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.3  :gnillirD  retam tsedrah eht llird nac maeb resaL  eloh a htiw lairetam elttirb a ro lai

 yna tuohtiw ,scimarec ,senotsmeg ni seloh ekam ot desu si resaL .mµ01 retemaid fo

 oN .sresal gnisu yb edam eb nac seloh lanoisnemid llams yreV .egamad

.tcatnoc lacisyhp on si ereht sa srucco noitanimatnoc  

 

.4   tnemerusaeM :erehpsomta eht ni stnatullop fo   fo sepyt suoirav era erehT

 ,edixonom nobrac fo sedixo ,negortin edulcni hcihw erehpsomta eht ni stnatullop

 ,euqinhcet lanoitnevnoc nI  .srettam etalucitrap fo rebmun a dna edixoid ruhplus

elloc era erehpsomta eht fo selpmas  sisylana lacimehc eht dna sthgieh derised ta detc

 atad eht revetahW  .stnatullop eht fo noitisopmoc eht tuo dnif ot tuo deirrac si

 eht ,euqinhcet resal eht ni saerehW  .atad emit laer a ton si dohtem siht ni deniatbo

av ytisned cirehpsomta eht sesnes resal  noiger lacol deriuqer eht gninnacs yb noitair

 .atad emit laer a si hcihw ,atad eht dleiy sessecorp atad cinortcele dna  

 yaw eht fo esu edam si resal ,tnatullop fo tnemerusaem rof resal fo noitacilppa eht nI

 si metsys )gnignaR dna noitceteD oidaR( RADAR sa  derrefer netfo si ti ecneH  .desu

 eht ,metsys RADIL eht nI  .euqinhcet )gnignaR dna noitceteD thgiL( RADIL a sa

 eht dna resal deslup fo stsisnoc trap gnittimsnart gniviecer   evacnoc a fo stsisnoc trap

  .rossecorp atad a dna rotceted otohp ,rorrim  
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 secalp ta gnirettacs seogrednu maeb resal eht ,tuo deirrac era stnemerusaem nehW

 etalucitrap fo noitartnecnoc rehgih ot eud noitsegnoc si ereht erehw erehpsomta eht ni

 fo ecnatsid ehT  .rorrim evacnoc eht yb deviecer si thgil derettacs kcab ehT  .rettam

oc  yaled emit fo sisab eht no detaluclac si noitats gnirusaem eht morf noitsegn

 eht gninnacs yB  .thgil derettacs kcab eht fo noitpecer dna noissime eslup eht neewteb

 tnereffid rof deppam eb nac stnatullop fo noitartnecnoc eht ,noitats eht dnuora ecaps

citrev  noitamrofni yna edivorp tonnac dohtem sihT   .erehpsomta eht fo noitces la

 sA  .selcitrap gnirettacs eht fo erutan eht gnidrager t’nseod euqinhcet siht   eht edivorp

 erom owt gniwollof selcitrap gnirettacs eht fo erutan eht gnidrager noitamrofni

a seuqinhcet   .dewollof er  

.1  euqinhceT noitprosbA : 

 

 

 

 ehT  .erehpsomta eht morf detcelloc elpmas eht hguorht dessap si maeb resal ehT

 eht hguorht sessap maeb eht elihW  .rotceted a htiw dedrocer si maeb dettimsnart

 seogrednu ti ,elpmas  fo ecneserp eht nopu gnidneped seerged suoirav fo noitprosba

 nopu gnidnepeD  .fo esirpmoc etalucitrap eht taht ecnatsbus lacimehc fo epyt tcaxe

 eht fo noitisopmoc eht ,gnidrocer eht ni devresbo nrettap noitprosba citsiretcarahc eht

c stnatullop cirehpsomta    .denimreted eb dluo  

 

  elpmaS detcelloC  
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.2  gnirettacS kcaB namaR  ot tcepxe ew ,citamorhconom ylhgih si resal ecniS :

 eht ni gnirettacs namaR ot eud tuB  .murtceps eht ni enil eno ylno ees

 rehtie no yllacirtemmys nees eb lliw ytisnetni wol fo senil lareves ,murtceps

eht fo edis   eht fo taht ot esolc eb lliw seulav htgnelevaw erehT  .enil tnedicni

  .sdnab edis sa dellac era senil lartceps lanoitidda esehT  .thgil tnedicni

 era seicneuqerf ni stfihs ehT  .sdnab edis tnereffid ecudorp sessag tnereffiD

yb suhT  .stfihs namaR sa demret  namaR eht gnivresbo   kcab eht fo murtceps

 eht fo noitisopmoc eht ssessa nac eno elpmas sag eht ni thgil derettacs

  .stnatullop  

                                                       -d                    d+  

 

 

                                        murtcepS derettacS kcaB namaR  

yhpargoloH  

 3 gnicudorp fo euqinhcet eht si yhpargoloH -  no tcejbo na fo egami lanoitnemid

2-   .ecnerefretni fo nonemonehp eht yb ,dia gnidrocer lanoitnemid  B dna A  owt era

 euD .selgna tnereffid ta ecafrus evitisnesotohp no tnedicni smaeb tnerehoc ro lacitnedi

efretni ot ved no dedrocer era segnirf ecnerefretni ,tceffe ecner  eht gnipole

.etalp cihpargotohp  

 

 

 

 

 

:noitcurtsnoc margoloH fo elpicnirP  

  ytisnetni rieht yb deziretcarahc era tcejbo na morf detcelfer evaw thgiL

 ytisnetni htob nehW  .esahp dna )edutilpma fo erauqs(  eht fo setubirtta esahp dna

 

 



                                                         scisyhP gnireenignE                                                            1YHP51 2 

 

 tnemtrapeD ,scisyhP fo  TIBJS   egaP 57  
 

cer si tcejbo lanoisnemid eerht morf gnimoc evaw  ,etalp cihpargotohp a no dedro  si ti

 si )margoloh( etalp cihpargotohp dedrocer nehW .margoloh fo noitcurtsnoc dellac

i lanoisnemid eerht eht ,ecruos thgil tnerehoc a yb detanimulli  lanigiro eht fo egam

.ssecorp noitcurtsnocer sa nwonk si egami fo noitamrof sihT .demrof si tcejbo  

:margoloH a ni noitairav esahp gnidroceR  

  fo tnorf ni decalp si etalp cihpargotohp a tcejbo na fo margoloh gnidrocer nI

noC .ecnatsid elbatius a ta tcejbo na  ehT .tcejbo eht no tnedicni thgil tnerehoc a redis

 secnatsid tnereffid ylthgils levart tcejbo eht no stniop ybraen owt morf detcelfer thgil

 eht suhT .tcejbo eht no htped ni noitairav ot eud etalp cihpargotohp eht gnihcaer ni

p eht ta evirra stnorf evaw owt  ecneH .esahp tnereffid ylthgils a ni etalp cihpargotoh

 dna sesahp tnereffid evah lliw tcejbo eht no stniop tnereffid morf detcelfer thgil eht

 yrrac margoloh eht ni dedrocer segnirf ehT .maeb ecnerefer eht htiw erefretni

ffid esahp eht gnidrager noitamrofni .ecnere  

:sesahp owt era ereht yhpargoloh nI  

)1  gnidroceR  

)2  .egami eht fo noitcurtsnoceR  

sdohtem owt sah gnidroceR  

)1  tnorf evaW  .euqinhcet noisivid  

)2  .euqinhcet noisivid edutilpmA  

)1  euqinhcet noisivid tnorf evaw yb tcejbo na fo egami eht fo gnidroceR  

  dednapxE  si ti fo noitrop A .deniatbo si ecruos resal eht morf maeb resal tnerehoc

 sa tcejbo eht no tnedicni ot edam si noitrop rehto dna rorrim eht no tnedicni ot edam

gif eht ni nwohs . 
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 ecer ti taht os noitisop elbatius a ta decalp si etalp cihpargotohP  thgil eht sevi

 mrof rorrim eht morf detcelfer thgil ehT .tcejbo eht dna rorrim eht htob morf detcelfer

 no tniop hcae morf detcelfer thgil ehT .maeb ecnerefer dellac si tI .tnorfevaw enalp a

T .maeb tcejbo dellac si tI .tnorfevaw lacirehps a mrof tcejbo eht  ecnerefretni eht suh

.etalp cihpargotohp eht no dedrocer era smaeb owt eht fo stceffe  

  eht ,senoz ralucric ni evaw enalp eht tcesretni evaw lacirehps eht sA

 dna evitcurtsnoc gnivah sgnir ralucric cirtnecnoc fo stsisnoc nrettap ecnerefretni

etni evitcurtsed  dellac si tI .ecnerefr .etalp enoZ robaG  

 decalpsid si hcae fo ertnec ehT .setalp enoz hcus fo rebmun fo stsisnoc margoloH

 eht nrettap dedrocer eht nI .rehto eht morf gniruobhgien   dna rehto hcae palrevo senoz

.margoloh a dellac si tI .depoleved si mlif eht ecno ,tnerappa emoceb  

)2  :euqinhcet noisivid edutilpma yb tcejbo na fo egami eht gnidroceR  

 

 tnedicni ot edam si tI .deniatbo si ecruos resal eht morf maeb resal tnerehoc dednapxE

 si hcihw thgil eht fo noitrop eht stcelfer rettilps maeb ehT .rettilps maeb eht no

ht no tnedicni si rettilps maeb eht morf thgil dettimsnart ehT .rorrim eht no tnedicni  e

 lacirehps detcelfer dna rorrim eht morf tnorfevaw enalp detcelfer ehT .tcejbo

 eht no ecnerefretni seogrednu tcejbo eht no stniop tnereffid morf stnorfevaw

 no dedrocer era segnirf ecnerefretni ehT .ecalp elbatius a ta tpek etalp cihpargotohp

pargotohp eht  fo margoloh eht semoceb etalp cihpargotohp depoleved ehT .etalp cih

 .tcejbo eht  

:margoloh eht morf egami eht fo noitcurtsnoceR  

  noitcerid emas eht ni margoloh eht no tnedicni ot edam si maeb resaL lanigirO

 eht ta ti no tnedicni saw maeb ecnerefer eht sa  seogrednu maeb ehT .gnidrocer fo emit

 gnitutitsnoc hcae morf gnitanigiro stelevaw yradnoceS .margoloh eht ni noitcarfer
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 edis noissimsnart eht no egami laer etareneg dna ylevitcurtsnoc erefretni etalp enoz

.edis tnedicni eht no egami lautriv dna  

 

 

 

lacitpO  srebiF  

:noitcelfeR lanretnI latoT  

  morf yawa sdneb ti muidem rerar ot resned morf slevart thgil fo yar a nehW

 fo elgna eht ,muidem resned eht ni sesaercni ecnedicni fo elgna eht sA .lamron eht

ecnedicni fo elgna ralucitrap a roF .sesaercni osla noitcarfer  “ eht dellac  lacitirc

elgna  fo elgna eht ro aidem eht gnitarapes ecafrus eht sezarg yar detcarfer eht ,”

 ,elgna lacitirc eht naht retaerg si ecnedicni fo elgna eht fI .°09 ot lauqe si noitcarfer

 dellac si sihT .muidem emas eht ot kcab detcelfer si yar thgil eht  lanretnI latoT“

celfeR .”noit  

 si yar tnedicni eritne ehT .ygrene fo ssol on si ereht ,noitcelfer lanretni latot nI

.kcab detcelfer  

 XX 1 n xedni evitcarfer fo muidem gnitarapes ecafrus eht si 1  fo muidem dna

n xedni evitcarfer 2 n ,  1 n > 2. 

AO dna OA 1 .syar detcarfer dna tnedicni era   θ1 θ dna 2  ecnedicni fo elgna era

θ ,noitcarfer fo elgna dna  2 θ > 1 θ ,OB yar eht roF . c BO .elgna lacitirc eht si 1  eht si

 retaerg elgna na htiw tnedicni OC yar ehT .ecafretni eht sezarg hcihw yar detcarfer

θ naht c CO gnola kcab detcelfer yllatot si 1  .  
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rF ,wal s’llenS mo  

 n1 θnis  1 n = 2 θnis 2 

,noitcelfer lanretni latot roF  

 θ1 θ= c θ dna 2 °09=  

 n1 θnis  c n = 2 )1=°09nis esuaceb(  

 θc nis = - n(¹ 2 n/ 1) 

  .ygrene thgil fo noitprosba ro ssol on si ereht noitcelfer lanretni latot nI  

 eht gnola denruter si ygrene eritne ehT  lanretni latoT dellac si suhT .thgil detcelfer

.noitcelfer  

:srebiF lacitpO  noitacinummoc lacitpo ni desu era yehT  hcihw   fo elpicnirp eht no

.)RIT(noitcelfer lanretni latoT  

  .epahs ni lacirdnilyc si tI .scirtceleid tnerapsnart morf edam si rebif lacitpO

ehT  n xedni evitcarfer fo eroc sa dellac si trap lacirdnilyc renni 1  si trap retuo ehT .

n xedni evitcarfer fo gniddalc sa dellac 2 n , 1 n> 2  dna eroc neewteb ytiunitnoc si erehT .

si srebif hcus fo rebmuN .tekcaj enahteruylop a edisni desolcne si gniddalC .gniddalc  

.elbac a mrof ot depuorg  

 



                                                         scisyhP gnireenignE                                                            1YHP51 2 

 

 tnemtrapeD ,scisyhP fo  TIBJS   egaP 97  
 

 dna eroc eht fo ecafretni eht sekirts eroc fo dne eno hguorht gniretne thgil ehT

 lanretni latot seogrednu dna elgna lacitirc eht naht retaerg elgna htiw gniddalc

 ti ,noitcelfer lanretni latot hcus fo seires retfA .noitcelfer  .eroc eht fo tuo segreme

 prahs yrev diova ot nekat eb tsum eraC .ediugevaw a sa skrow rebif lacitpo eht suhT

dnu ot sliaf yar thgil eht ,sdneb prahs ta esuaceb rebif eht ni sdneb  lanretni latot ogre

.noitcelfer  

 

:erutrepA laciremuN dna ecnatpeccA fo elgnA  

 θ‘ elgna na ta tnedicni OA yar thgil a redisnoC 0 θ‘ teL .rebif eht otni sretne ’ 1  ’

 lacitirc a ta tnedicni BO yar detcarfer ehT .BO yar eht rof noitcarfer fo elgna eht eb

09( elgna ˚- θ1  eht fI .CB gnola gniddalc dna eroc neewteb ecafretni eht sezarg B ta )

a  .noitcelfer lanretni latot seogrednu ti ,elgna lacitirc naht retaerg si ecnedicni fo elgn

θ suhT 0 θnis dna elgna ecnatpecca ediugevaw eht dellac si 0  laciremun eht dellac si

.erutrepa  

 n teL 0 n , 1 n dna 2 dalc dna eroc ,muidem eht fo secidni evitcarfer eht eb  gnid

.ylevitcepser  

,wal s’llenS morF  

 no θnis  0 n = 1 θnis  1                        )1( →  
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,wal s’llenS morF  

 tA ‘B  ’   09( si ecnedicni fo elgna eht -   θ1) 

 n1 09(nis -θ1 n = ) 2 09nis  

 n1 θsoc 1 n = 2 

 θsoc 1 n = 2 n / 1                    )2( →  

.nqe morF )1(  

1
0

1
0 nis

n
nniS  

=   𝑛1
𝑛𝑜

√1 − 𝑠𝑜𝑐 2𝜃1                      )3( →  

nqe gnisU  . )3( ni )2(  

2
1

2
2

0

1
0 1

n
n

n
nniS  

 =
�𝑛1

2−𝑛2
2

𝑛𝑜
 )4( →  

n ,ria si muidem gnidnuorrus ehT  o 1 =  

2
2

2
10 nnniS  

 erehW S θni o .erutrepa laciremun dellac si  

A.N =  �𝑛1
2 − 𝑛2

2 

θ ot lauqe ecnedicni fo elgna yna rof eroferehT i θ naht ssel ro ot lauqe 0  tnedicni eht ,

.etagaporp ot elba si yar  

     θi θ < 0 

0niniS Si  
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𝜃𝑛𝑖𝑠 𝑖 < �𝑛1
2 − 𝑛2

2 

𝜃𝑛𝑖𝑠 𝑖 < 𝑁. 𝐴 si  .noitagaporp rof noitidnoc eht  

:egnahC xednI lanoitcarF  “  neewteb ecnereffid xedni evitcarfer eht fo oitar eht si tI

.”rebif lacitpo na fo eroc eht fo xedni evitcarfer eht ot gniddalc dna eroc eht  

 = Δ
1

21

n
nn

 

neewteb noitaleR  :Δ dna A.N  

 = Δ redisnoC 𝑛1−𝑛2
𝑛1

 

121 nnn   

evah eW  

A.N  =  �𝑛1
2 − 𝑛2

2  = �(𝑛1 + 𝑛2)(𝑛1 − 𝑛2) 

gniredisnoC 1n , n≈ 2 

 = �(𝑛1 + 𝑛2)𝛥𝑛1 

𝑁. 𝐴 =  �2𝑛1
2𝛥 

𝑁. 𝐴 =  𝑛1√2𝛥 

A.N sesaercni Δ fo eulav eht ni esaercnI  

 gnirehtag thgil eht secnahne tI  yrev desaercni eb tonnac eulav Δ .rebif eht fo yticapac

.noitrotsid langis nretni noisrepsid ladomretni ot sdael ti esuaceb hcum  

V- :rebmun  

 “  yb denimreted si rebif eht ni noitagaporp rof detroppus sedom fo rebmun ehT

V dellac retemarap a - rebmun ”. 

  eht fI neht ,ria si muidem gnidnuorrus  
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 = V 𝑑𝜋
𝜆

�𝑛1
2 − 𝑛2

2 

 n ,retemaid eroc eht si ’d‘ erehW 1 n dna 2  dna eroc fo secidni evitcarfer era

.rebif eht ni gnitagaporp thgil fo htgnelevaw eht si ’λ‘ ,ylevitcepser gniddalc  

 = V 𝑑𝜋
𝜆

( 𝐴𝑁 ) 

a yb dednuorrus si rebif eht fI  n xedni evitcarfer fo muidem 0  ,neht ,  

 = V 𝑑𝜋
𝜆

�𝑛1
2−𝑛2

2

𝑛0
 

 sedom fo rebmun ,yb nevig si rebif eht yb detroppus sedom fo rebmun eht ,1> V roF

V ≈ 2 .2/  

:srebif lacitpo fo sepyT  

 eht dna mrofinu si gniddalc fo xedni evitcarfer eht rebif lacitpo na nI  xedni evitcarfer

edni evitcarfer eht taht hcus yaw ralucitrap a ni yrav yam ro mrofinu eb yam eroc fo  x

sixa eht morf sesaerced  idar la  .y  

:srebif fo sepyt tnereffid eht era gniwolloF  

.1  rebif edom elgniS  

.2    rebif edomitlum xedni petS  

.3  ebif edomitlum xedni dedarG r 

 

rebif edom elgniS :  si ereht ;eulav mrofinu sah gniddalc dna eroc fo xedni evitcarfeR

.enirambus ni desu era yehT .eroc ot gniddalc morf xedni evitcarfer ni esaercni na  
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.2  :rebif edomitlum xedni petS   egral sah eroc tub rebif edom elgnis ot ralimis si tI

 si DEL ro resaL .erugif ni nwohs sa sedom fo rebmun egral etagaporp nac tI .retemaid

.sknil atad ni noitacilppa na sah tI .thgil fo ecruos a sa desu  

 
 

.3  :rebif edomitlum xedni dedarG  G dellac osla si tI  fo xedni evitcarfer ehT .NIR

 evitcarfer ehT .ecafretni gniddalc eroc eht sdrawot sixa eht morf sesaerced eroc

 htap cidoirep a sekat dna sdneb syar tnedicni ehT .erugif ni nwohs si eliforp xedni

doirep emas htiw shtap tnereffid evah syar ehT .sixa eht gnola  si DEL ro resaL .

 knurt enohpelet ni desu si tI .lla fo evisnepxe eht si tI .thgil fo ecruos a sa desu

.seciffo lartnec neewteb  
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:srebif lacitpo ni noitrotsid langiS  

  lanretni latot sevlovni rebif lacitpo eht hguorht langis a fo noitagaporp ehT

oitcelfer  .selgna suoirav ta detcelfer era syar eht ,rehtruF .semit ynam syar thgil fo n

 ta detcelfer syar eht naht secnatsid retaerg levart selgna rehgih ta detcelfer syar ehT

 rebif eht fo dne eht ta evirra ton od syar eht lla ,tluser a sA .selgna rewol

uoenatlumis  eht ecniS .rebif eht hguorht slevart ti sa snedaorb eslup thgil eht dna yls

.detrotsid eb ot dias si langis eht ,eslup tupni eht htiw hctam ton seod eslup tuptuo  

  fo dnik rehtona ,thgil citamorhconom fo daetsni desu si thgil etihw fI

niS .srucco noitrotsid  ,seiticolev tnereffid sah shtgnelevaw tnereffid fo noitaidar ec

 citamorhc dellac si noitrotsid sihT .ylsuoenatlumis tuptuo eht ta evirra ton od yeht

.noisrepsid  

  nI .srebif xedni pets edomitlum ni elbaredisnoc etiuq si noitrotsid langis ehT

if xedni dedarg  eht fo strap tnereffid ni seiticolev tnereffid htiw slevart thgil eht ,sreb

 raen retsaf levart syar ehT .eroc eht gnola yllaidar seirav xedni evitcarfer eht sa eroc

 eht dna emit emas eht ta tsomla tuptuo eht ta evirra syar eht lla ecneH .ecafretni eht

ngis  naht ssel si noitrotsid eht rebif xedni pets edom elgnis a nI .decuder si noitrotsid la

 taht .srebif xedni pets edomitlum ni  

:srebif lacitpo ni noitaunetta langiS  

 slevart thgil sa rewop lacitpo fo ssol eht si noitaunettA  ebif a hguorht r  si tI .

 desserpxe /lebiced ni ertemolik   wolla lliw noitaunetta rewol htiw rebif A  .]mk/bd[
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P fI .noitaunetta rehgih htiw rebif a naht reviecer sti hcaer ot rewop erom ni   tupni eht si

P dna rewop tuo   eht ,’L‘ htgnel fo rebif a hguorht gnissap retfa rewop tuptuo eht si

tta naem yb nevig si mk/bd fo stinu ni ,rebif eht fo ’α‘ tneiciffeoc ro tnatsnoc noitaune  

ni

tuo

p
p

L 01gol01
mk/Bd  

.smsinahcem eerht yb desuac eb nac noitaunettA  

.tneiciffeoc noitaunettA  
hW  htiw ytisnetni ni ssol syawla lliw ereht muidem lairetam a ni slevart thgil ne

 .wal strebmaL dellac si wal a syebo ytisnetni ni ssol a hcus. dellevart ecnatsid ro  
 syebo ssol ytisnetni ehT .dellevart ecnatsid htiw ytisnetni sti ni ssol si erehT  

l s’trebmaL .wal s’trebmaL morf .e.i wa  

- Pd
Ld
α   P    P   ytisnetni laitini  

 L   muidem eht ni detagaporp ecnatsid  
-  ti taht smrifnoc ngis ev si  rewop ni esaerced  

− Pd
Ld
  = α   P    )1(  

 erehW α -  tneiciffeoc noitaunetta  ro  tneiciffeoc noitaunetta erbif  ro  noitaunetta  ro
.ssol erbif  

Pd
P

  = - α Ld   
 ,sedis htob gnitargetnI  

 ∫ pd
p

 =  -α∫ ld   

 

∫ 𝑃𝑑
𝑃

𝑃 𝑡𝑢𝑜
𝑃 𝑛𝑖

=  −  𝛼 ∫ LdL
o    P erehW tuo  deviecer thgil fo ytisnetni →

 tuptuo ta  
  P  ni  tupni ta dehcnual thgil fo ytisnetni →  

[𝑙n P]P ni

P tuo  = - α[L]o 
L

 

 

ln�P tuo
P ni

�  = - L 

 

α  = - 1
L
ln�P tuo

P ni
� 

 
 ecnedneped eht sA  eht sekat osla α ,erutan ni cimhtiragol si ytisnetni fo ssol fo

 ]leB osla si tinu esohw cimhtiragol osla si noitairav ytisnetni dnuos sa[ leB sa tinu  
 

α  = - 1
L
 gol 01 �P tuo

P ni
� htgnel tinU/leB  
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 ,tinu regral si leB sA α  / lebiced ni desserpxe si ertemolik  d( B )mk/  
 

 α  = - 1
L
 gol 01 �P tuo

P ni
� d01 B mk /  

 

 

 
 
 

P * : etoN  ni P & tuo   ttaw ni desserpxe  
 *  ni L  mk  

smsinahcem eerht yb desuac eb nac noitaunettA . 
 

 fo epyT na ni noitaunettA  :rebif lacitpO  

.1 noitprosbA  sessol :-  sa hcus snoi latem ekil seitirupmi yb snotohp fo noitprosbA

  .fo edam si rebif eht hcihw fo ssalg acilis eht ni reppoc dna tlaboc ,muimorhc ,nori

 ehT  .smota ytirupmi fo snortcele htiw tcaretni snotohp gnissecorp langis gniruD

era smota  ed dna deticxe -  .scitsiretcarahc tnereffid fo snotohp gnittime yb eticxe  

 .ygrene fo ssol a si ti ecneH esuac )HO( snoi lyxordyh sa hcus ytirupmi rehto ehT  s

.ssol noitprosba tnacifingis   dellac si flesti lairetam rebif yb snotohp fo noitprosba ehT

cisnirtni  .noitprosba  

 .2 gnirettacS  sessol  fo ezis eht ot elbarapmoc si notohp eht fo htgnelevaw eht nehW :

 eht fo esuaceB  .ecalp sekat gnirettacs eht neht elcitrap eht non - ytimrofinu   ni

.gnirettacs a ot sdael htgnel htiw segnahc xedni evitcarfer eht ,gnirutcafunam    sihT

 eht ot lanoitroporp ylesrevni si tI  .gnirettacs hgielyaR sa dellac si gnirettacs fo epyt

 sag deppart ot eud ecalp sekat osla snotohp fo gnirettacS  .htgnelevaw fo rewop htruof

.gnirutcafunam fo emit eht ta devlossid ton era hcihw selbbub  

 .3 noitaidaR  sessol ipocsorcam ot eud rucco sessol noitaidaR :  cipocsorcim dna sdneb c

 .sdneb  

 .a  erutavruc fo suidar lacitirc gnivah era srebif lacitpo llA :gnidneb cipocsorcaM

idar fo noitacificeps taht woleb tneb si rebif eht fI .rerutcafunam eht yb dedivorp  fo su

 eht yfsitas ton lliw ecafretni gniddalc eroc eht no tnedicni yar thgil eht ,erutavruc

.rewop lacitpo fo ssol sesuac sihT  .RIT fo noitidnoc  

= α  - 01
𝐿

gol 10�P tuo
P ni

� mk / Bd  
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 .b non ot eud si srebif lacitpo ni ssol rewop lacitpO :gnidneb cipocsorciM -  ytimrofinu

hw srebif lacitpo eht fo  gnirutcafunam ot eud si ytimrofinu noN  .dial era yeht ne

 ot eud tcefed ehT .rebif eht no pu tliub erusserp laretal osla dna stcefed non -

ytimrofinu   a edisni rebif lacitpo gnicudortni yb emocrevo eb nac )sgnidneborcim(

.tekcaj enahteruylop nehtgnerts doog  

A  noitacilpp bif lacitpo fo e :r )FO ni noitacinummoc tniop ot tnioP (  
 
 
 
 
 
 
 
 
 
 
 
 

 A rebif   lanoitidart a ot ralimis hcum yrev si metsys noitacinummoc citpo
 strevnoc rettimsnart A .stnenopmoc rojam eerht sah dna metsys noitacinummoc

erbif lacitpo na ,slangis thgil ot slangis lacirtcele   reviecer a dna slangis eht stimsnart
 eht fo dne rehto eht ta slangis eht serutpac rebif   lacirtcele ot meht strevnoc dna

.slangis  
  .stiucric evird yrassecen yb detroppus ecruos thgil a fo stsisnoc rettimsnart ehT

is lacirtcele otni detrevnoc si eciov tsriF  dezitigid si tI .recudsnart a gnisu slang  
(  hcihw ,langis dezitigid ehT .redoc a gnisu )slangis lacirtcele yranib ot detrevnoc

 ni ecruos thgil ehT .rettimsnart lacitpo na ot def si ,noitamrofni eciov eht seirrac
ime )edoid resal ro DEL( rettimsnart lacitpo  dettimsnart si hcihw ,thgil detaludom st

 lacitpo hguorht rebif  a htiw egnar RI eht ni si ecruos eht yb dettime thgil ehT .
.mn0551 ro mn0031 ,mn058 fo htgnelevaw  

 si rotceted otohp a yb detceted si langis thgil detaludom eht dne rehto eht nO
si dna deifilpma   srecudsnart elbatius a ot def si tuptuo ehT .redoced a gnisu dedoced

.mrof oediv ro oidua na otni ti trevnoc ot  
 

 :metsys noitacinummoc lacitpo fo segatnavdA  

)1   eud mrof golana ro latigid rehtie ni noitamrofni fo tnuoma egral yrev seirrac tI

 egral sti ot .htdiwdnab  

)2   t’nseod ti ,oS .erutan cirtceleid era rebif lacitpo gnikam rof desu slairetam ehT

R dna citengamortcele yna seviecer ro secudorp - .secnerefretni F  

 ecioV

 gnittimsnarT
  dne

 lacirtcelE
 golana

  eciov fo mrof
   redoC  lacitpO

    rettimsnart

 ecioV  lacirtcelE
 golana

  
   redoceD  otohP

     rotceted
gnivieceR

 dne 

metsys noitacinummoc erbif lacitpo tnioP fo tnioP
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)3   dna ssentcapmoc rieht fo esuaceb tropsnart ot reisae hcum era srebiF

.thgiewthgil  

)4  pmoc ylisae si tI .metsys cinortcele htiw elbita  

)5  .egnar erutarepmet hgih ni detarepo eb nac tI  

)6  .esion detcudnoc yna pu kcip ton seod tI  

)7  .erutsiom dna noisorroc yb detceffa toN  

)8  .snoitaidar raelcun yb detceffa teg ton seod tI  

)9  itpo si langis eht esuaceb detareneg era skraps oN .langis lac  
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eludoM -4 

erutcurtS latsyrC  
ecittal siavarB ,ecittal ecapS – .sretemarap ecittaL.llec evitimirp ,llec tinU   latsyrC

.smetsys  .latsyrc a ni senalp dna noitceriD  noisserpxE .secidni relliM   retni rof –  ranalp

oC .gnicaps -  noitanidro srotcaf gnikcap cimotA .rebmun   s’ggarB .)CCB ,CCF,CS(

 ,wal eteD  noitanimr s’ggarB gnisu erutcurts latsyrc fo  X– .retemotcarfid yar  

.yportollA dna msihpramyloP  fo erutcurtS latsyrC   fo noissucsid evitatilauq ,dnomaiD

 .setiksovreP  

sruoH 01  

:tnetnoC  

  ecapS ecittal  

 siavarB  ecittal  

   llec tinu  

 sretemarap ecittal  

 smetsys latsyrc  

 latsyrc a ni senalp dna snoitcerid  

 ralliM  secidni  

 renalp retni rof snoisserpxe  

 oC - noitanidro  .rotcarf gnikcap cimota rebmun  

 wal sggarB  

 sggarB  X- retemortceps yaR  

 msihpromyloP  yportolla dna  
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erutcurtS latsyrC  
 

etats dilos ehT  

•  )diuqil a ni sa( denoitisop ylmodnar eb yam sdilos ni smotA –  suohpromA

)sessalg .g.e( sdiloS  

• na ni degnarrA   nrettap gnitaeper ,ylredro  lairetam eht nihtiw –  enillatsyrC

sdiloS  

 

  si latsyrc A  cidoirep lanoisnemid eerht ni era selucelom ro smota hcihw ni eno

 ehT .snoitcerid tnereffid ni tnereffid ro emas eb yam yticidoirep ehT .tnemegnarra

 .ecittal latsyrc ro ecittal ecaps dellac era selucelom ro smota eht fo snoitisop cidoirep

 lacirtemoeg ehT“  si stniop ecittal fo smret ni erutcurts latsyrc a fo noitatneserper

.”ecittal ecaps dellac  

 
?slatsyrc ni smota fo tnemegnarra eht ebircsed ew od woH  

ecittal fo sepyt owt era erehT  

)1  ecittal siavarB  

)2  ecittal siavarB noN  

 

 lla hcihw ni eno si ecittal siavarB A   lacitnedi era stniop ecittal eht ta smota eht

.tnelaviuqe era stniop ecittal eht lla ro  

 non A -  era stniop ecittal eht fo emos hcihw ni eno si ecittal siavarB non -

tnelaviuqe non A . -  eht si sisaB .sisab a htiw ecittal eht sa nwonk osla si ecittal siavarB

tes  .ecittal siavarB eht ot raen detacol smota fo  
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  siavarB tnereffid erom ro owt fo noitisoprepus eht si ecittal siavarB noN

siavarB stneserper stniop lacitnedi ,.cte C,B ,A stniop ,margaid eht nI  .ecittal   ecittal

non stneserper lacitnedi ton era hcihw ,.cte `CC ,`BB ,`AA saerehw - .ecittal siavarB  

 

 
  

 erutcurtS latsyrC = sisaB + ecittaL ecapS  

 
 

srotceV sisaB  

  .nigiro eht eb ’O‘ teL .stniop fo syarra lanoisnemid owt redisnoC dnA   eb

tcev etanidrooc eht .sro  

 

  R rotcev ecittal ro noitisop ehT  si R n = 1 n + a 2 n erehw b  1 n dna 2  sregetni era

.stniop ecittal no sdneped eulav esohw  

 n( ,B roF 1 n , 2 )0,1( = )  

 n( ,C roF 1 n , 2 )1,1( = )  
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  siavarB tnereffid erom ro owt fo noitisoprepus eht si ecittal siavarB noN

siavarB stneserper stniop lacitnedi ,.cte C,B ,A stniop ,margaid eht nI  .ecittal   ecittal

non stneserper lacitnedi ton era hcihw ,.cte `CC ,`BB ,`AA saerehw - .ecittal siavarB  

 

 
  

 erutcurtS latsyrC = sisaB + ecittaL ecapS  

 
 

srotceV sisaB  

  .nigiro eht eb ’O‘ teL .stniop fo syarra lanoisnemid owt redisnoC dnA   eb

tcev etanidrooc eht .sro  

 

  R rotcev ecittal ro noitisop ehT  si R n = 1 n + a 2 n erehw b  1 n dna 2  sregetni era

.stniop ecittal no sdneped eulav esohw  

 n( ,B roF 1 n , 2 )0,1( = )  

 n( ,C roF 1 n , 2 )1,1( = )  
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  siavarB tnereffid erom ro owt fo noitisoprepus eht si ecittal siavarB noN

siavarB stneserper stniop lacitnedi ,.cte C,B ,A stniop ,margaid eht nI  .ecittal   ecittal

non stneserper lacitnedi ton era hcihw ,.cte `CC ,`BB ,`AA saerehw - .ecittal siavarB  

 

 
  

 erutcurtS latsyrC = sisaB + ecittaL ecapS  

 
 

srotceV sisaB  

  .nigiro eht eb ’O‘ teL .stniop fo syarra lanoisnemid owt redisnoC dnA   eb

tcev etanidrooc eht .sro  

 

  R rotcev ecittal ro noitisop ehT  si R n = 1 n + a 2 n erehw b  1 n dna 2  sregetni era

.stniop ecittal no sdneped eulav esohw  

 n( ,B roF 1 n , 2 )0,1( = )  

 n( ,C roF 1 n , 2 )1,1( = )  
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 n( ,D roF 1 n , 2 )1,0( = )  

 n( ,E roF 1  , n2 ( = ) - )0,1  

 

.sretemaraP ecittaL dna lleC tinU  

  gnola noititeper no hcihw ,ecittal ecaps eht fo noitrop tsellams eht si llectinu A

 sisab sah llec tinU .flesti ecittal ecaps eht setareneg srotcev sisab eerht fo noitcerid eht

srotcev 𝑎⃗  , 𝑏�⃗ &𝑐 .γ & β ,α selgna laicafretni dna  

 

 

 

 

 

 

 

 

 

 srotcev sisab ehT 𝑎⃗, 𝑏�⃗ , 𝑐 .sretemarap ecittal eht era γ & β ,α selgna laicafretni dna  

 tniop ecittal eno ylno sah llec tinu hcaE  srenroc sti ta stniop thgie era ereht esuaceb

.sllec tnecajda thgie yb derahs si tniop hcae dna  

non dna llec evitimirP -  evitimirp llec : redisnoC ,  snoisnemid owt ni ecittal siavarB a

 srotcev sisab htiw llec tinu A .erugif ni nwohs sa 1a & 1b   eht ta stniop ecittal ruof sah

 srotcev sisab htiw llec tinu rehto ehT .llec evitimirp a si tI .xetrev 𝑎2����⃗   dna 𝑏2����⃗   na sah

 ton si hcihw ,srenroc eht ta stniop ruof htiw gnola retnec eht ta tniop ecittal lanoitidda

non si sihT .srotcev sisab eht fo tniop gniteem eht - .llec evitimirp  

 .secitrev eht ta era ti ni stniop eht lla htiw llec tinu a si llec evitimirp A   A non -
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O 

X- sixa  

Y- sixa  

Z- sixa  

  

 c 

b 

a 
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:smetsys latsyrC  

 tsys latsyrc neves era erehT  dna epahs lacirtemoeg fo sisab eht no deman sme

 .yrtemmys  

  ehT .ecittal siavarB 41 otni dedivid rehtruf era smetsys latsyrc neves ehT

 lanoitidda na sah ecittal deretnec ydob A .srenroc eht ta ylno stniop sah ecittal elpmis

 llec eht fo ertnec eht ta tniop  eno stniop lanoitidda xis sah ecittal deretnec ecaf a dna

 mottob eht ta eno stniop lanoitidda owt sah ecittal deretnec esab ehT  .ecaf hcae no

.ecaf pot eht ta rehto dna ecaf  

siavarB 41 eht dna smetsys latsyrc neves ehT   gniwollof eht ni detneserper era secittal

:elbat  

T neves eh   latsyrC
smetsys   tsoM morF(

 tsael ot cirtemmys
)cirtemmys  

secittaL siavarB 41 ehT  

.1    cibuC  
09=γ=β=α; c=b=a o 

:xE -  ,lCaN ,uC ,uA
FaC ,2 OlcaN 2 

 

)CS( elpmis  
muinoloP  

ydob -
deretnec  B(

)CC  
 ,norI

muinimorhC
netsgnuT &  

ecaf -
deretnec  F(

)CC  
tilaH(LCaN

 kcoR ro )e
 ,tlaS

 ,muinimula
dlog ,reppoc  
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.2  lanogarteT  
b=a  ;  c≠ 09=γ=β=α o 
:xE - OnS 2  ,
OiT 2 OSiN, 4. 

S elpmi  ydob -
deretnec    

  

  

.3  cibmohrohtrO  
a    c≠b≠ 09=γ=β=α o 

 :xE -            ,4OSaB,3ONK
.4OSgM  

S elpmi  esab -
deretnec  

ydob -
deretnec  

ecaf -
deretnec  

    

.4  cinilconoM  
a    c≠b≠ 09=γ=α o≠β 

:xE - OSaC 4 H2. 2 ,O  
OSeF 4 aN , 2 OS 4 

S elpmi  esab - deretnec  

 
 

.5  cinilcirT  
a   c≠b≠ 09≠γ≠β≠α o 

:xE - K2 rC 2O7  ,
OSuC 4 H5. 2O 

 

   

.6  lardehobmohR  
)lanogirt(  

o09≠γ=β=α  c=b=a  
:xE - iB ,ztrauq ,eticlac  

,bS,sA ,enilamruot  
  

   

.7  lanogaxeH  
b=a   c≠ 09=β=α o 

021=γ o 
:xE - 

OiS 2 IgA,dC,gM,nZ  
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ID FO SECIDNI RELLIM :SENALP DNA SNOITCER  

  a ni snoitcerid dna senalp eht nialpxe ot srebmun eerht decudortni sah relliM

 .secidni relliM dellac era srebmun esehT .latsyrc  

  A noitcerid fo secidni relliM   eht ni stniop owt neewteb rotcev a yllacisab si

iwollof yb denifed eb nac noitcerid ynA .latsyrc :erudecorp elpmis a gn  

.1   ruoy nihtiw noitisop tneinevnoc ni si ti taht os ,rotcev noitisop eht esoohC

oc nesohc - .metsys etanidro  

.2   eht fo smret ni sexa eerht eht fo hcae otno rotcev eht fo noitcejorp eht dniF

.snoisnemid llec tinu  

.3  xe ew xednI relliM eht teg oT  dna ,rebmun elohw fo tes a sa rotcev eht sserp

.stekcarb erauqs ni esolcne  

:elpmaxE -  

 
.snoitcerid fo secidni rellim htiw gnola llec tinu cibuc A  

:senalp fo secidni rellim dnif ot erudecorP  

.1   sixa z dna y ,x gnola senalp eht fo stpecretni eht dniF  

.2   sserpxE  .c ,b ,a stnatsnoc ecittal fo selpitlum sa stpecretni eht  

.3  .srebmun eseht fo lacorpicer eht tuo dniF  

.4   hcae ylpitlum dna rotanimoned eht fo )MCL( elpitlum nommoc tsael eht dniF

.MCL htiw mret  

.5  d ,secidni rellim dellac era .l ,k ,h fo mrof eht ni si tluser ehT )l k h( yb detone  
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stpecretnI  slacorpiceR  srebmun elohW   relliM

secidni  

c     b   a2  1/1      1/1      2/1   2        2         1  )2  2  1(  

     b   a2  /1      1/1        ½  0        2         1  )0  2  1(  

   a – c2     b       1/1 - ½        1/1          2 2         1   2( 2   )1  

-    b2   a –c -       ½      1/1 -  1/1  -         1       2 -2 ( 2     1 2) 

 secidni relliM eht gniniatbo rof selpmaxe weF  

 secidni rellim fo noitaluclaC  

 deton eb dluohs stniop gniwolloF  

.1  .nigiro eht fo edis evitagen eht no sixa fo gnittuc setacidni tigid evitagen ehT  

.2  .sixa gnidnopserroc ot lellarap si enalp eht taht setacidni xedni oreZ  

.3  .secidni rellim emas evah senalp fo tes lellarap A  

:elpmaxE  

  2 ,1 ,4 stpecretni evah senalp ehT  

.1  2:1:4=z:y:x  

.2   slacorpiceR  

.3  4=MCL  

.4  ×4  ×4 : 1×4 :  

2:4:1 .e.i 2 ,4 ,1 era secidni rellim ehT  

 owt ehT  .llec tinu eht nihtiw senalp eht ward nac ew secidni relliM eht gniwonk yB

o aedi eht sevig woleb nwohs serugiF t gniward f .llec tinu eht ni htiw senalp eh  

 

)1  )011( secidni relliM htiw enalp eht swohs .giF ehT  

 
)011( secidni relliM htiw enalP  

)2  )020( secidni relliM htiw enalp eht swohs .giF ehT  
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)020( secidni relliM htiw enalP  

 

 fo tnemegnarra dna gnicaps eht serutcurts latsyrc fo yrtemmys eht ot euD

 sa nwonk era esehT .snoitcerid lareves ni emas eht eb yam smota tnelaviuqe  

 a sa nwonk si snoitcerid tnelaviuqe fo puorg A .snoitcerid snoitcerid fo ylimaf  

alimiS  .>l k h < yb detoned  fo ylimaf a sa nwonk era senalp tnelaviuqe fo tes eht ylr

 .}l k h{ yb detoned si senalp  

 
snoitcerid fo secidni relliM  

 

 
>l k h < yb detoned si snoitceriD fo ylimaF dna }l k h{ yb detoned si senalp fo ylimaF  
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 a sa nwonk si snoitcerid tnelaviuqe fo puorg A .snoitcerid snoitcerid fo ylimaf  

alimiS  .>l k h < yb detoned  fo ylimaf a sa nwonk era senalp tnelaviuqe fo tes eht ylr

 .}l k h{ yb detoned si senalp  

 
snoitcerid fo secidni relliM  

 

 
>l k h < yb detoned si snoitceriD fo ylimaF dna }l k h{ yb detoned si senalp fo ylimaF  
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retni rof noisserpxE -  ni gnicaps ranalp :secidni relliM fo smret  

  eht era l ,k ,h  .senalp fo ylimaf a ot sgnoleb hcihw CBA enalp a redisnoC

 NO ralucidneprep ehT .senalp fo tes eht stneserper hcihw ,enalp siht fo secidni relliM

retni eht stneserper enalp eht ot O nigiro eht morf - d gnicaps ranalp  ylimaf siht fo NO=

α elgna na ekam NO teL .senalp fo 1 β , 1 γ , 1 tiw .ylevitcepser sexa z ,y ,x eht h  

 
era sexa eerht eht no enalp eht fo stpecretni ehT  

l/a=CO     ;      k/a =BO      ;    h/a =AO  

.egde ebuc eht fo htgnel eht si ’a‘ erehW  

ew ,erugif morf nehT  evah  

a
hd

ha
d

AO
d

/
soc 1  
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a
kd

ka
d

BO
d

/
soc 1  

a
ld

la
d

CO
d

/
soc 1  

    erugif eht morF 2
1

222 zyxNO  

2
1

122122122 socsocsoc dddd  

 

                              ,tuB 1socsocsoc 121212
  lanogohtro eht rof

setanidrooc  

 fo seulav eht gnitutitsbuS soc 1, soc 1 soc , 1  ,)2( noitauqe ni  

 ,teg eW  

1
222

CO
d

BO
d

AO
d  

 

1
222

a
ld

a
kd

a
hd  

 

1222

2

2

lkh
a
d  

222 lkh
ad  

 retni neewteb noitaler eht si sihT -  ebuc eht fo egde eht dna ’d‘gnicaps ranalp

 siht taht deton eb dluohs tI  .’a’  ni secittal evitimirp ot ylno elbacilppa si alumrof

.smetsys lanogartet dna cibmohrohtro ,cibuc  

 

      111 dna 011 ,001 senalp eht neewteb gnicapS  

222 lkh
ad lkh

 

 ,001 =l k h fi aad
0012001  

                                       ,011=l k h fI
2011 22011

aad  
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                                       ,111=l k h fI
3111 222111

aad  

 

 ecittal ebuc a rof ’a‘ tnatsnoc ecittal ecaps rof noisserpxE  

 ht eb ’ρ‘ ,tnatsnoc ecittal eht eb ’a‘ teL  eht eb ’n‘ dna lairetam eht fo ytisned e

.llec tinu a ni selucelom fo rebmun  

llectinuehtfoemuloV
llectinuaniselucelomfossamlatoT

 

 eht ot lauqe si ecnatsbus fo elom olik eno ni selucelom eht fo ssam latot ehT

.gk ni desserpxe elucelom eht fo thgiew ralucelom  

  hcae fo ssam eht eroferehT N/M = elucelom A 

N erehW A rebmun ordagavA si  

 elucelom eht fo ssam latot ehT  =
AN

Mn
 

c=b=a ecittal cibuc a roF  

.. a = llec tinu eht fo emulov eht . 3 

 = si)ρ( ytisned eht ,ecneH
ANa

Mn
3  

 

 
AN

Mna3
 

 
3
1

AN
Mna  

.1  :)CS( erutcurts cibuc elpmiS  
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.2  :)CCB( erutcurts cibuc deretnec ydoB  

 
.3  :)CCF( erutcurts cibuc deretnec ecaF  

 

 

 

 

 

 eht fo seitreporP tinU llec  )cibuC(  

.1 :llec tinu a fo emuloV  

 lareneg ehT si llec tinu a emulov eht gnidnif rof noisserpxe  

2
1

222 socsocsoc2socsocsoc1cbaV  

,c,b,a erehW ,   dna  .sretemarap ecittal dellac era  

 dna c=b=a metsys cibuc roF = = 09= 0. 

 eroferehT a =V 3. 

.1  oC - :rebmun noitanidro  

 tseraen fo rebmun eht si tI s’ruobhgien   nihtiw llew mota nevig a gnidnuorrus yltcerid

.latsyrc a  

oc ehT - 6 = si erutcurts cibuc elpmis ni mota na rof rebmun noitanidro  

oc ehT - 8= si erutcurts cibuc deretnec ydob ni mota na rof rebmun noitanidro  

oc ehT - eretnec ecaf ni mota na rof rebmun noitanidro 21= si erutcurts cibuc d  

.2  :llec tinu rep smota fo rebmuN  

  eht ta dna secaf eht fo retnec eht ta ,srenroc eht ta era smota llec tinu a nI

.ydob eht fo retnec  

8/1 erahs renroc eht ta detautis mota nA  ht .llec tinu a ot trap  

1 erahs ecaf eht ta detautis mota nA .llec tinu a ot trap 2/  

.llec tinu a ot trap lluf eno erahs ydob eht fo retnec eht ta detautis mota nA  
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.1  .smota renroc 8 era ereht erutcurts cibuc elpmis a nI  

.. )8/1( = llec tinu/smota renroc eht lla fo erahs latoT .  × 1= 8  

.. lec tinu/smota fo rebmun ehT . 1 = ebuc elpmis ni l  

.2   eht ta mota na dna smota renroc 8 era ereht erutcurts cibuc deretnec ydob a nI

.llec tinu eht fo retnec  

.. )8/1( = llec tinu rep smota renroc eht lla fo erahs latoT .  × 1 = 8  

1= ydob eht fo retnec eht ta mota na fo erahs ehT  

..  ehT . 2=1+1 = ebuc deretnec ydob ni llec tinu rep smota fo rebmun  

.3   deretnec ecaf 6 dna smota renroc 8 era ereht erutcurts cibuc deretnec ecaf a nI

.llec tinu a ni smota  

.. × )8/1( =llec tinu/renroc eht ta smota fo erahs latot.  1=8  

 eht lla ta smota fo erahs latoT × )2/1( = llec tinu/secaf  3=6  

.. 4 = 3+1 = ebuc deretnec ecaf ni llec tinu/smota fo rebmun ehT .  

.4  )FPA( rotcaf gnikcap cimotA  

 gnikcap cimota sa nwonk si llec tinu a ni smota yb deipucco ecaps eht fo noitcarf ehT

co emulov latot eht fo oitar eht si tI .rotcaf  eht ot llec tinu eht ni smota eht yb deipuc

.llec tinu eht fo emulov elbaliava latot  

.1  :)CS( erutcurts cibuc elpmiS  

 elpmis a nI .llec tinu eht fo srenroc thgie eht fo hcae ta tniop ecittal eno ylno si erehT

idiuqe xis yb dednuorrus si mota na erutcurts cibuc oc eht ecneH .srobhgien tnats -

 eht ,sllec tinu 8 yb derahs si renroc eht ni mota hcae ecniS .6 si rebmun noitanidro

1 = 8× )8/1( si llec tinu eno ni smota fo rebmun latot  

  owt fo sretnec eht neewteb ecnatsid eht si ’r2‘ ecnatsid robhgien tseraen ehT

tseraen  .smota gnirobhgien  

 

 

 

 

 

 

 

a = r2 ecnatsid robhgien tseraen ehT  

1 = llec tinu rep stniop ecittal fo rebmun ehT  
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 = v llec tinu a ni smota eht lla fo emuloV 4
3

rπ 3 

a = V = llec tinu fo emuloV 3 )r2( = 3 

= F.P si rotcaf gnikcaP %2525.0
683

4v
3

3

r
r

V
 

.2  :)CCB( erutcurts cibuc deretnec ydoB  

 
  ta si mota eno dna srenroc thgie ta tneserp era smota thgie erutcurts CCB a nI

oc ehT .retnec eht -  = si llec tinu rep smota fo rebmun ehT .8 si rebmun noitanidro

)8/1([  × 2 = 1+]8  

 ecittal ehT si tnatsnoc  

)BA( 2 a =  2 a + 2 a2 = 2 

 )CA( 2 )BA( = 2 )CB( + 2 

)r4( 2 a2   = 2    a   + 2     a3 = 2 

   tnatsnoc ecittaL
3

4ra  

 = v llec tinu rep smota eht lla fo emuloV 3

3
42 r  

a = V llec tinu eht fo emuloV 3  =
33

46 3r
 

   = rotcaf gnikcap cimotA %8686.0
8
3

463
338

V
v

3

3

r
r

 

.3  :)CCF( erutcurts cibuc deretnec ecaF  

      era smota xis dna llec tinu eht fo srenroc eht ta era smota thgie erutcurts CCF a nI

 ehT .stniop 21 yb dednuorrus si mota retnec ehT .secaf xis eht fo retnec eht ta tneserp

oc - eht dna sllec tinu 8 yb derahs si mota renroc hcaE .21 si rebmun noitanidro   ecaf

.sllec tinu gnidnuorrus 2 yb derahs si mota deretnec  
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..  si llec tinu rep smota fo rebmun ehT . = 1
8

× 8 +  6 × 1
2

= 4 

 

 

 

 

 

 

 

 ebuc deretnec ecaf fo suidar cimotA  

r4 =     BA  

)BA( 2 a = 2 a+ 2 

)r4( 2 a2 = 2 

 = a tnatsnoC ecittaL
2

4r
 

 = r2 ecnatsid robhgien tseraeN
2

2a
 

llec tinu ni smota eht lla fo emuloV  ,  = v 3

3
44 r  

llec tinu fo emuloV , a = V 3  =
22

46 3r
 

..  = rotcaf gnikcap ehT . %4747.0
236

2
463

2261
V
v

3

3

r
r

  

 

sretemaraP  CS  CCB  CCF  

oC - rebmun noitanidro  6 8 21  

)r( suidaR cimotA  
2
a

 
4
3a

 
4
2a

 

llec tinu rep smotA  1 2 4 

rotcaf gnikcap cimotA  
6

 
8
3

 
6
2
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:waL s’ggarB  

  sa gnitca si mota hcaE .senalp s’ggarB dellac senalp lellarap fo tes a redisnoC

 eb lliw selgna niatrec ta maeb detcelfer eht fo ytisnetni ehT .retnec gnirettacs a

mumixam   tnecajda owt morf sevaw detcelfer owt neewteb ecnereffid htap eht nehw

 .λ fo elpitlum largetni na si senalp  

 

 

 
 

 teL  ’d‘   fo htgnelevaw eht eb ’λ' ,senalp tnecajda owt neewteb ecnatsid eht eb

x tnedicni eht -  syar eht neewteb ecnereffid htap ehT .elgna gnicnalg eht eb ’θ‘ ,yar

yb nevig si B & A ta detcelfer  

 DB + BC =  

 θnisd2 = θnis d + θnis d =  

isnetni thgil detcelfer eht roF  ,λn = θnisd2 ecnereffid htap eht ,mumixam eb ot yt

irettacs fo redro eht si ’n‘ erehw .wal s’ggarB dellac si sihT .gn  
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:waL s’ggarB  

  sa gnitca si mota hcaE .senalp s’ggarB dellac senalp lellarap fo tes a redisnoC

 eb lliw selgna niatrec ta maeb detcelfer eht fo ytisnetni ehT .retnec gnirettacs a

mumixam   tnecajda owt morf sevaw detcelfer owt neewteb ecnereffid htap eht nehw

 .λ fo elpitlum largetni na si senalp  

 

 

 
 

 teL  ’d‘   fo htgnelevaw eht eb ’λ' ,senalp tnecajda owt neewteb ecnatsid eht eb

x tnedicni eht -  syar eht neewteb ecnereffid htap ehT .elgna gnicnalg eht eb ’θ‘ ,yar

yb nevig si B & A ta detcelfer  

 DB + BC =  

 θnisd2 = θnis d + θnis d =  

isnetni thgil detcelfer eht roF  ,λn = θnisd2 ecnereffid htap eht ,mumixam eb ot yt

irettacs fo redro eht si ’n‘ erehw .wal s’ggarB dellac si sihT .gn  

 

 

 



                                                         scisyhP gnireenignE                                                            1YHP51 2 

 

 tnemtrapeD ,scisyhP fo  TIBJS   egaP 601  
 

x s’ggarB - :retemortceps yar  

 x s’ggarB fo margaid citamehcs ehT -  si tI .gif ni nwohs si retemortceps yar

retni dna tnatsnoc ecittal enimreted ot desu - x )1 sah tI .’d‘ecnatsid ranalp -  ecruos yar

 noitazinoI )3 .reinrev dna elacs htiw dedivorp elbat ralucric a no dexif latsyrC A )2

rebmahc . 

 
 x fo maeb detamilloc A - S stils eht gnissap retfa syar 1 S dna 2  llaf ot dewolla si

 lacitrev tuoba detator eb nac elbat ehT .elbat ralucric a no detnuom C latsyrc a no

V reinrev yb derusaem eb nac noitisop stI .sixa 1 ht ot dexif si rebmahc noitazinoi nA .  e

 reinrev yb derusaem si hcihw fo noitisop ehT .elbat eht ot dehcatta mra regnol V .2   nA

 tnerruc noitazinoi eht erusaem ot rebmahc noitazinoi eht ot detcennoc si retemortcele

x detcarffid yb decudorp - S .latsyrc eht morf syar  3  S dna 4 l ot stils dael eht era  eht timi

 detcarffid eht fo ytisnetni eht erusaem nac ew ereH .maeb detcarffid eht fo htdiw

.maeb  

 x fI -  na sekam maeb detcelfer neht ,latsyrc eht no ’θ‘ elgna na ta tnedicni syar

 detsujda eb nac rebmahc noitazinoi eht ecneH .maeb tnedicni eht htiw θ2 elgna  teg ot

.mumixam semoceb tnerruc noitazinoi eht llit maeb detcelfer eht  

 x eht yduts ot selgna tnedicni tnereffid rof tnerruc noitazinoi fo tolp A -  yar

.gif ni nwohs si murtceps noitcarffid  
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  swohs ’θ‘ fo seulav tnereffid rof tnerruc noitazinoI ni esir ehT  s’ggarB taht

 era skaeP .cte λ3 ro λ2 ro λ = θnisd2 .e.i .’n‘ fo seulav suoirav rof deifsitas si wal

θ ta devresbo 1 θ , 2 θ , 3 P fo seitisnetni htiw .cte 1 P , 2 P, 3 .cte  

 θnisd2 .e.i 1 θnisd2 : 2 θnisd2 : 3 λ3 : λ2 : λ =  

retni latsyrc ehT - d‘gnicaps renalp λn = θnisd2 gnisu derusaem eb nac ’  

d fI 1 d , 2 d , 3 retni eht eb -  )111( & )011( ,)001( senalp eht rof gnicaps ranalp

.ylevitcepser  

 nwohs eb nac tI - 

:latsyrc cibuc roF  d1 d: 2 d: 3  = 1: 1
√2

: 1
√3

 

CCF roF   : d1 d: 2 d: 3  = 1: 1
√2

: 2
√3

 

CCB roF   : d1 d: 2 d: 3  = 1: 2
√2

: 1
√3

 

msihpromyloP  yportollA dna  

 taht sesahp dilos lareves ni ezillatsyrc ot ecnatsbus a fo ytiliba eht si msihpromyloP
.serutarepmet tnereffid ta serutcurts ecittal tnereffid ssessop  

 noitisopmoc lacimehc ni egnahc yna tuohtiw serutcurts tnereffid evah slatem ynaM

 eht nehw  lausunu ot detcejbus era yeht nehw ro ,deirav si erusserp ro erutarepmet

.stnemtaert lacinahcem ro lamreht  .msihpromylop sa nwonk si nonemonehp sihT  

5351 si nori erup fo tniop gnitlem ehT 0  lareves ni tixe yam norI .C  ciportolla

smrof  ,α elpmaxe   δ dna γ  ni o ecnetsixe ehT .etats dilos  rehto eht ot mrof eno f

.detaeh si nori eht hcihw ot erutarepmet no sdneped  

 
OR 
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 eht si yportollA seitreporp   tnemele na hcihw fo eutriv yb  epyt eno naht erom evah nac

seitreporp lacimehc lacitnedi evah hcihw fo lla erutcurts fo   ytreporp lacisyhp rieht tub

 .reffid etihparg dna dnomaiD ;selpmaxe roF  

  RO  

 tnereffid rednu mrof enillatsyrc eno naht erom ni tsixe sdnuopmoc ro stnemele ynaM

nonemonehp sihT .erusserp dna erutarepmet fo snoitidnoc  msihpromylop demret si eh  

etam eht fi dna .yportolla dellac si dilos latnemele na si lair  

 eF( norI :elpmaxE – )62 = Z  

 eht evoba diuqiL 9351 .C  δ- ri  9351 dna 4931 neewteb )CCB( no °C                                                                                             .

γ- a 219 neewteb )CCF( nori  4931 dn °C                                                                                           

α-  neewteb )CCB( nori -  219 dna 372 °C    .  

nori  α → ( 219 ) nori  γ →   nori δ)0041( → ( 9351 ) nori diuqil  

 CCB                 CCF                            CCB  

 enillatsyrc eerht ni srucco nobrac dilos ,eruP .nobrac si yportolla fo elpmaxe rehtonA

 smrof – .senerelluf wolloh ,egral dna ;etihparg ,dnomaid  

:dnomaiD fo erutcurts latsyrC  

  ccf 2 fo noitisoprepus eht sa deredisnoc eb nac ecittal dnomaid ehT ecittalbus  

no  yb llec tinu eht fo lanogaid ydob eht gnola rehto eht morf decalpsid si hcihw fo e

)4/1( ht  tneserp eb lliw mota nobrac a suhT  .lanogaid eht fo htgnel eht   fo retnec eht ta

,nordehartet  htiw   tseraen sti sa ecittalbus rehto eht fo smota nobrac ruof srobhgien  

oc eht suhT  .nordehartet emas eht fo srenroc ruof ta detacol -  fo rebmun noitanidro

llec tinu rep tneserp smota nobrac 8 eb lliw ereht dna 4 si dnomaid  .  hcae si tahT

 si mota nobrac ,nordehartet a fo retnec eht ta  etisoppo yllanogaid ta era smota nobrac 4

ni  A5.3 si tnatsnoc ecittal ehT .senalp eht o A65.6 si htgnel dnob eht dna o. 

 .erutcurts dnomaid gnivah era eG dna iS ekil srotcudnocimes ehT  

 CCF nA .llec tinu/smota 4 sah ecittal  tuB   owt fo sesirpmoc ecittal dnomaid eht

bus CCF gnitartenepretni - .ecittal  

.8 = 4x2 si ecittal dnomaid eht ni llec tinu rep smota fo rebmuN ,eroferehT  

 = rotcaF gnikcaP cimotA dnA %43
61
3

3
4

3
8
8

3
48 3

3
3

3 r
r

r
a
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setiksvoreP : 

 alumrof eht htiw sdnuopmoc ehT BA O3  B & A erehw ,  slatem noitisnart era

OiTaC:xe( 3) llew emos fo tsil feirb a sedivorp elbaT -  deiduts BA O3 ynaM .setiksvorep  

erom ro eno ogrednu netfo yeht tub ,cibuc ylraen ro cibuc era setiksvorep eht fo  

 wol ta ylralucitrap ,snoitisnart esahp larutcurts ehT .serutarepmet  setiksvorep   sedixo

yteirav suomrone eht fo esuaceb gnitseretni ylemertxe era  dilos fo - tats  e  anemonehp

 yeht .tibihxe  ynaM  egral a dna deredro yllacitengam era setiksvorep eht fo   fo yteirav

.dnuof eb nac serutcurts citengam  

p eht fo seitreporp cinortcele ehT  dellortnoc a ni deretla eb nac setiksvore

rennam   eht otni snoi fo noitutitsbus yb  A  ro  B  laedi morf serutraped yb ro ,setis

.yrtemoihciots  

 ygrene cinortcele ehT yeht taht ni lausunu yrev era setiksvorep eht fo sdnab  

owt tibihxe -  taht ruoivaheb lanoisnemid hcus seitreporp ni erutcurts euqinu ot sdael   sa

eht dna artceps nonohp ,noitcnuf cirtceleid ,ecafrus imreF ,setats fo ytisned eht  

.artceps noissimeotohp  
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setiksvoreP : 

 alumrof eht htiw sdnuopmoc ehT BA O3  B & A erehw ,  slatem noitisnart era

OiTaC:xe( 3) llew emos fo tsil feirb a sedivorp elbaT -  deiduts BA O3 ynaM .setiksvorep  

erom ro eno ogrednu netfo yeht tub ,cibuc ylraen ro cibuc era setiksvorep eht fo  

 wol ta ylralucitrap ,snoitisnart esahp larutcurts ehT .serutarepmet  setiksvorep   sedixo

yteirav suomrone eht fo esuaceb gnitseretni ylemertxe era  dilos fo - tats  e  anemonehp

 yeht .tibihxe  ynaM  egral a dna deredro yllacitengam era setiksvorep eht fo   fo yteirav

.dnuof eb nac serutcurts citengam  

p eht fo seitreporp cinortcele ehT  dellortnoc a ni deretla eb nac setiksvore

rennam   eht otni snoi fo noitutitsbus yb  A  ro  B  laedi morf serutraped yb ro ,setis

.yrtemoihciots  

 ygrene cinortcele ehT yeht taht ni lausunu yrev era setiksvorep eht fo sdnab  

owt tibihxe -  taht ruoivaheb lanoisnemid hcus seitreporp ni erutcurts euqinu ot sdael   sa

eht dna artceps nonohp ,noitcnuf cirtceleid ,ecafrus imreF ,setats fo ytisned eht  

.artceps noissimeotohp  
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setiksvoreP : 

 alumrof eht htiw sdnuopmoc ehT BA O3  B & A erehw ,  slatem noitisnart era

OiTaC:xe( 3) llew emos fo tsil feirb a sedivorp elbaT -  deiduts BA O3 ynaM .setiksvorep  

erom ro eno ogrednu netfo yeht tub ,cibuc ylraen ro cibuc era setiksvorep eht fo  

 wol ta ylralucitrap ,snoitisnart esahp larutcurts ehT .serutarepmet  setiksvorep   sedixo

yteirav suomrone eht fo esuaceb gnitseretni ylemertxe era  dilos fo - tats  e  anemonehp

 yeht .tibihxe  ynaM  egral a dna deredro yllacitengam era setiksvorep eht fo   fo yteirav

.dnuof eb nac serutcurts citengam  

p eht fo seitreporp cinortcele ehT  dellortnoc a ni deretla eb nac setiksvore

rennam   eht otni snoi fo noitutitsbus yb  A  ro  B  laedi morf serutraped yb ro ,setis

.yrtemoihciots  

 ygrene cinortcele ehT yeht taht ni lausunu yrev era setiksvorep eht fo sdnab  

owt tibihxe -  taht ruoivaheb lanoisnemid hcus seitreporp ni erutcurts euqinu ot sdael   sa

eht dna artceps nonohp ,noitcnuf cirtceleid ,ecafrus imreF ,setats fo ytisned eht  

.artceps noissimeotohp  
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eludoM –5 

slairetaM onaN fo ecneicS dna scitsuocA ,sevaw kcohS  

neewteb snoitcnitsid ,rebmun hcaM fo noitinifeD -  dna cinosbus,cinosartlu ,citsuoca

 fo scisaB .snoitacilppasti dna evaw kcohs a fo noitpircseD .sevaw cinosrepus

 ygrene dna mutnemom ,ssam fo noitavresnoc -  kcohs lamron fo noitavired

elpmis gnisu spihsnoitaler  eniknaR( snoitauqenoitavresnoc cisab - toinoguH  

 ,ebut kcohs a gnisu yrotarobal eht nisevaw kcohs gnitaerc fo sdohteM .)snoitauqe

.scitsiretcarahc sti dna ebut kcohsyddeR detarepo dnah fo noitpircsed  

onaN ot noitcudortnI.   D3 dna D2 ,D1 ni setats fo ytisneD ,ecneicS

.serutcurts :sisehtnyS  poT – mottoB dna nwod – loS dna gnilliM llaB ,hcaorppa pu –

 TNC.sdohtemleG –  ,sdohtem sisyloryP ,egrahcsid crA :sisehtnys ,seitreporP

gnikrow ,elpicnirP :epocsorcim nortcelE gninnacS.snoitacilppA  .snoitacilppa dna  

 01 sruoH  

 
 

:tnetnoC  
 sevaw kcohS  
  ebut kcohs yddeR  
  TNC – seitreporP  
 epocsorcim nortcelE  
 un hcaM rebm  
 elgna hcaM  
 MES  
 ebut egrahcsid crA  
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:rebmun hcaM  

 era muidem diulf a ni gnivom seidob fo sdeeps eht ,scimanydoreA nI

 ot ni deifissalc  eht sa denifed si tI .rebmun hcaM fo sisab eht no seirogetac tnereffid

,.e.i ,muidem nevig eht ni dnuos eht fo deeps eht ot tcejbo eht fo deeps eht fo oitar  

= rebmun * hcaM 𝑡𝑐𝑒𝑗𝑏𝑜  𝑑𝑒𝑒𝑝𝑠
𝑑𝑒𝑒𝑝𝑠  𝑓𝑜  𝑑𝑛𝑢𝑜𝑠  𝑛𝑖  𝑡ℎ𝑒 𝑚𝑢𝑖𝑑𝑒𝑚

 

 si tI  si muidem eht ni dnuos fo deeps eht dna deeps tcejbo eht si v suht .M sa detoned

= M ,neht ,a 𝑣
𝑎
. 

 si ti ,setacidni flesti eman eht sa tinu a evah t’nseod ti ,sdeeps fo oitar a si ti ecniS

.rebmun erupa  

:dnuos fo deepS  

a‘  dnuos fo deeps ehT ni( T erutarepmet a ta muidem sag yna ro ria ni  ۥ

=a ,yb nevig si )nivleK �ℽ 𝑇𝑅 ,  erehw �  eht si R dna staeh cificeps fo oitar eht si

.tnatsnoc sag cificeps  

:sevaw cinosrepus dna cinosbus ,cinosartlu ,citsuoca neewteb noitcnitsiD  

 a ylpmis si evaw citsuoca nA  nis/m 333 deeps eht htiw sevom ti .evaw dnuos

 .PTS ta ria dnuoS  evah sevaw   zH 02 neewteb seicneuqerf

,02ot .llams yrev si evaw citsuoca fo edutilpmA.zH000  

:sevaw cinosartlU  

 yeht tub .zH 000.02 dnoyeb seicneuqerf gnivah sevaw erusserp era sevaw cinosartlU

rt  evaw cinosartlu eht fo edutilpmA .dnuos fo taht sa deeps emas eht htiw leva

.llams osla si  

:sevaw cinosbuS  

 fo taht naht ressel si diulf eht ni gnivom ydob ro evaw lacinahcem eht fo deeps eht fI

vaw eht dna cinosbus sa ot derrefer si deeps a hcus neht dnuos  .evaw cinosbus a si e

on hcam evah sevaw cinosbus llA .1<  
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 gnivom ees ew taht sniart ro srac rotom sa hcus selcihev eht lla tsomla fo sdeeps ehT

.cinosbus osla si sdrib fo thgilf fo sdeeps ehT .yrogetac cinosbus eht ni llaf daor eht no  

 

 thgilf cinosbuS  

   ot seganam ti yb dettime dnuos eht ,deeps cinosbus htiw gnivom ydob a roF

                           ydob eht naht retsaf si ti ecnis ydob eht morf yawa& daeha evom  

cinosrepuS :sevaw      htiw slevart hcihw sevaw lacinahcem era sevaw cinosrepuS

retaerg sdeeps  rebmun hcaM ,hcihw rof sdeeps htiw , .e.i ,dnuos fo taht naht  .1>  

 niatruc dnuos nwo sti gnicreip yb daeha smooZ .deeps cinosrepus htiw ydob A

 decalpsid sretnec rieht htiw sevaw dnuos gnidnapxe fo seires a dniheb gnivael

uounitnoc  yrotcejart sti gnola yls .    

 sevaw cinosrepus fo edutilpmA .deeps cinosrepus htiw ylf nac senalp rethgif s’yadoT

.gnillevart si ti hcihw ni muidem eht stceffa ti & hgih eb lliw  

 

 thgilf    cinosrepuS  
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:elgna hcaM  

         a morf dettim sevaw dnuos gnidnapxe ot nward stnegnat nommoc fo rebmun A

 yb edam elgna eht .enoc hcam dellac enoc a etalumrof deeps cinosrepus a ydob

 si μ .μ elgna hcam dellac si )enoc eht fo elgna flah( enoc eht fo sixa eht htiw tnegnat

ot detaler  M‘ rebmun hcaM eht t  ۥ ,noitauqe eht hguorh  

 nis= μ −1  ( 1
𝑀

) 

 yehT .sevaw cinosrepyh dellac sevaw fo ssalc laiceps a evah ew, sevaw cinosrepus ni

rebmun hcaM hcihw rof sdeeps htiw levart ≥ 5  .  

gnidulcni seirtnuoc nezod a flah a ni tuo deirrac gnieb si hcraeseR   poleved ot ,aidnI

 hcaM fo sdeeps ta ylf selcihev rewopme nac hcihw ”stej marcs“ deman senigne

 rebmun ≥ 5 

:sevaw cinosnarT  

 si sihT .segnar cinosrepus & cinosbus eht no spalrevo hcihw egnar deeps a si erehT

 egnahc a si ereht ,hcihw ni niamod eht ni yllautca  ot cinosbus morf esahp fo

 ta retemarap niatrec ezirogetac ylesicerp ot tluciffid yrev semoceb ti ecniS .cinosrepus

 cinosnart si ti yaS eW .erutcip otni thguorb si egnar sihT .1=M )ta ro( raen sdeeps

yerg sa llac ew tahw si ti 2.1 > M < 8.0 sdeeps rof egnar   si ereht erehw aera

.sdeeps cinosrepus& cinosbus eht htob fo scitsiretcarahc eht fo emos fo gnippalrevo  

sevaw kcohS  

 :evaw kcohs a fo noitpircseD  

 .evaw kcohs a ot esir sevig ,sdeeps cinosrepus ta setagaporp taht doolf ynA

sevawkcohS  era  erutan ni decudorp   gninthgil nehw dna sekauqhtrae eht gnirud

raeh nac ew, cinosrepus ot cinosbus morf sesaercni ydob a fo yticolev nehw .sekirts  

dnuos gnimoob eht   “ moob cinoS“ dellac si tI. sevawkcohs fo    nac sevawkcohS

cinahcem fo noitapissid neddus yb decudorp eb nac eb  desolcne muidem ni ygrene la

 diulf a ni ytiunitnocsid a sa stsefinam taht ecafrus si evawkcohS. ecaps llams ni

ti hcihw ni muidem  i  yb deziretcarahc era yehT “ deeps cinosrepus htiw gnitagaporp s

 hcihw hguorht sag fo ytisned dna erusserp ni esaercni neddus  ti

 edutingam eht no gnidneped kaew ro gnorts sa deifitnedi era sevawkcohS.setagaporp
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 dnuob ecaps fo muidem eht ni erutarepmet dna erusserp ni segnahc suoenatnatsni fo

 wef fo redro eht fo si tnorf kcohs eht fo ssenkciht eht nihtiw sertemorcim . 

 roF  ,elpmaxe eht   kaew era srekcarc fo noisolpxe raelcun yb detaerc sevawkcohs

 wol yb deziretcarahc hcaM  .rebmun  

  :ygrenE dna mutnemoM ,ssaM fo noitavresnoc fo scisaB  

 degnahcnu seititnauq niatrec fo ecnanetniam eht snaem noitavresnoc taht wonk eW

 lacisyhp htiw .ssecorp  

:ssam fo noitavresnoc fo waL  sniamer metsys detalosi yna fo ssam latot ehT

 taht segnahc lacisyhp dna lacimehc yna fo tnednepedni si dna tnatsnoc ro degnahcnu

.metsys eht nihtiw rucco dluoc  

     si tahT 𝑚𝑑
𝑡𝑑
 =𝑚̇ .metsys lacisyhp a ni     tsnoc=  

noc fo waL :mutnemom fo noitavres  tnemom latot eht ,metsys detalosi ro desolc a nI

 latot eht  ,metsys detalosi na htiw edilloc seidob owt nehw rO .tnatsnoc sniamer

.noisilloc retfa eht ot lauqe noisilloc erofeb stcejbo fo mutnemom  

   𝑃1̇    = 𝑚𝑑 𝑣1
𝑡𝑑

 = ei   0 ,𝑚𝑣1 c=      tsno  

   𝑃2̇    = 𝑚𝑑 𝑣2
𝑡𝑑

 =0 ,ei  𝑚𝑣2      tsnoc=  

  𝑝1 → noisilloc erofeb mutnemoM  

  𝑝2 → noisilloc retfa mutnemoM  

:ygrene fo noitavresnoc fo waL ehT   desolc ro metsys detalosi eht fo ygrene latot

.metsys eht nihtiw gnirrucco segnahc yna fo tnednepedni si ti dna tnatsnoc si metsys  

 citenik ,U ygrene lanretni eht fo tsisnoc ssam tinu rep metsys eht fo ygrene latot teL

a V si ygrene laitnetop , K si ygrene ,P erusserp eht yb enod krow dn  

 sa nettirw eb nac ygrene fo noitavresnoc nehT  

     

     ℎ1+𝑢1
2=ℎ2  + 𝑢2

2 − − )3(   
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ebut kcohs yddeR  : 

 gnicudorp fo elbapac ebut kcohs detarepo dnah si tsisnoc ebut kcohs yddeR

irdnilyc gnol stI .ygrene namuh gnisu yb sevawkcohs  snoitces owt htiw ebut lac

era  ro desolc si dne rehto dna notsip htiw dettif si dne eno s’tI .mgarhpaid yb detarapes

.sgnidnuorrus eht ot nepo   

 

 

noitcurtsnoC : 

 retemaid mm03 tuoba fo ebut leets sselniats lacirdnilyc fo stsisnoc ebut kcohs yddeR

 htgnel dna  ebut revird si eno, mc05 htgnel fo hcae noitces owt otni dedivid si tI. m1

.mgarhpaid fo kciht mm1.0 yb detarapes ebut nevird si eno rehto dna  

.1   dne raf dna noitces revird eht fo dne raf ta dettif notsip a sah ebut yddeR ehT

.desolc si noitces revird eht fo  

.2   revird eht ni detnuom si eguag erusserp latigiD  mgarhpaid eht ot txen noitces

T. s srosnes cirtceleozeip ow  1 s dna 2  eht sdrawot trapa mm07 detnuom era

 eht fo dne desolc eht ta dedivorp si trop A . ebut kcohs eht fo dne desolc

 gnillif eht rof noitces nevird qer eht ot sag tset eht erusserp deriu . 

.3   ta dleh si hcihw, sag revird sa demret sag a htiw dellif si noitces revird ehT

 nevird sag eht. notsip eht fo noitca gnisserpmoc ot eud erusserp hgih ylevitaler

.sag nevird sa demret si noitces  
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:gnikroW  

 revird otni drah notsip eht gnihsup yb desserpmoc si sag revird ehT  litnu ebut

nehT. serutpur mgarhpaid   nevird sehsup dna noitces nevird eht otni sehsur sag revird

 evaw kcohs gnivom etareneg sihT .dne maertsnwod raf eht sdrawot sag

t sesiar ylsuoenatnatsni  kcohs eht sa sag nevird eht fo erusserp dna erutarepmet eh

. ti revo evom  

 kcohs yramirp gnitagaporp ehT era sevaw  lfer  maertsnwod eht morf detce  .dne

retfA   eht eht ,noitcelfer   ti stsoob hcihw noisserpmoc rehtruf seogrednu sag tset

t erusserp dna erutarepmet kcohs detcelfer yb seulav rehgih llits o  sevaw . 

 ti( suounitnoc ro deniatsus si erutarepmet dna erusserp fo seulav hgih fo etats sihT

 evaw noisnapxe na litnu dne maertsnwod eht ta )sdnocesillim redro eht fo emit sekat

 eht fo dne maertspu eht morf detcelfer  sezilartuen dna ereht sevirra ebut revird

 mgarhpaid eht tnatsni eht ta detaerc era sevaw noisnapxe eseht. yllaitrap noisserpmoc

.sevaw kcohs fo noitcerid eht ni levart yeht dna derutpur si  

 fo seitreporp eht no sdneped si era sevaw kcohs fo noitaerc lautcA  tset dna revird

 sevaw kcohs yramirp yb desuac esir erusserp. ebut kcohs eht fo noisnemid dna sesag

s srosnes yb desnes era sevaw kcohs detcelfer dna  1 s dna  2  era yeht dna ylevitcepser

rtceleozeip era srosnes erusserp eht.)ORC(yar edohtac latigid ni dedrocer  ci

.srecudsnart  

 fo emit esir ,tnemerusaem noitarud dnocesillim1 sevlovni tnemirepxe eht ecniS

tdiwdnab htiw sdnocesorcim wef eb dluohs epocsollicso  si erom ro zHM 1 fo h

morF .deriuqer   osla dna detaluclac si emit lavirra evaw kcohs ,ORC eht gnidrocer eht

aM    .detaluclac eb nac erutarepmet dna erusserp ,rebmun hc  

 dna eniknaR toinoguH  )snoitaler kcohS( snoitauqe : 

 noitidnoc ehT .ebut kcohs a ni W deeps a htiw gnitagaporp evaw kcohs a redisnoC

gnivlos yb denimreted eb nac dne maertsnwod eht ta evaw kcohs eht fo   snoitauqe eht

a ygrene dna mutnemom ssam fo noitavresnoc rof T. noiger kcohs eht ot deilppa s  eseh

.snoitaler toinoguH dna eniknaR sa nwonk era snoitauqe  

 fo daeha si hcihw eno ,tnorf kcohs eht ot ecnerefer htiw snoiger owt redisnoC

heb rehto dna tnorf kcohs  eht morf secnatsid hguone raf ta era snoiger eht htoB. ti dni
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 lacisyhp erehw snoiger owt ni deniatta snoitidnoc muirbiliuqe taht os tnorf kcohs

.mrofinu era .cte erutarepmet ,ytisned ,erusserp sa hcus snoitidnoc  

 

 teL  𝑝1,𝑇1,𝜌1  dna ℎ1  yplahtne dna ytisned, erutarepmet, erusserp fo seulav eht eb

 noiger eht ni deniatta snoitidnoc eseht ,ecneH. evaw kcohs eht fo noitaerc erofeb

.evaw kcohs eht fo daeha  

,ylralimiS 𝑝2,𝑇2,𝜌2  dna ℎ2  .serutpur mgarhpaid eht retfa seulav gnidnopserroc eht eb

 noitavresnoc eerht eht nehT .evaw eht dniheb noiger eht ni elbacilppa era yeht ecneH

 gniwollof eht ni detats sa era swal noitavresnoc eht ot sdnopserroc hcihw snoitaler

.ecnerefer fo emarf yranoitats kcohs gnikat  

    𝜌1𝑢1=𝜌2𝑢2   )1( .………………………  

   esnoC( )ssam fo noitavr  

 ,erehW  𝑢1 .kcohs eht fo daeha diulf eht fo yticolev  

  𝑢2 .kcohs eht gniwollof diulf eht fo yticoleV  

  

   𝑝1+𝜌1𝑢1
2    = 𝑝2+𝜌2𝑢2

2 )3( .…………………  

  )mutnemom fo noitavresnoc gninrecnoC(  

   ℎ1+𝒖𝟏
𝟐

𝟐
=ℎ2+𝒖𝟐

𝟐

𝟐
    )4( ...………………………  

  )ygrene fo noitavresnoc gninrecnoC(  



                                                         scisyhP gnireenignE                                                            1YHP51 2 

 

 tnemtrapeD ,scisyhP fo  TIBJS   egaP 911  
 

  etats fo noitauqe eht htiw gnola snoitauqe 3 esehT  

e.i  )5(..…………………………      TR= VP  

 eniknaR dellac snoitaler kcohs lamron gniwollof eht, snoitauqe evoba eht gnisU –

 hcihw ni devired eb nac snoitauqe toinoguh 𝑝5&𝑇5 rper  erutarepmet dna erusserp tnese

.evaw kcohs detcelfer eht dniheb dne maertsnwod eht ta  

.1  𝑝2
𝑝1

+1[= 𝜸𝟐
𝜸+𝟏

(𝑀2 − 1)] 

 

.2  𝑻𝟐
𝑻𝟏

=𝒑𝟐
𝒑𝟏

[
𝜸+𝟏
𝜸−𝟏+𝒑𝟐

𝑷𝟏

𝟏+(𝜸+𝟏
𝜸−𝟏 )𝒑𝟐

𝒑𝟏

 ] 

 

.3  𝑷𝟓
𝑷𝟐

=
( 𝜸𝟑 −𝟏)𝒑𝟐

𝒑𝟏
−(𝜸−𝟏)

(𝜸−𝟏)𝒑𝟐
𝒑𝟏

+(𝜸+𝟏)
 

 

.4  𝑻𝟓
𝑻𝟐

=𝒑𝟓
𝒑𝟐

[
𝜸+𝟏
𝜸−𝟏+

𝒑𝟓
𝒑𝟐

𝟏+(𝜸+𝟏
𝜸−𝟏 )

𝒑𝟓
𝒑𝟐

 ] 

 eniknaR era esehT – .snoitauqe toinoguH  

: ebut kcohs a gnisu yrotarobal eht ni sevaw kcohs gnitaerc fo sdohteM  

 yb yrotarobal eht ni detaerc eb nac sevaw kcohS  

 ebut ydder a gnisU .1  

saeler tneloiv A( noitanoteD .2 )noisolpxe ro ygrene fo e  

 rednilyc sag erusserp hgih yreV .3  

 noitsubmoC .4  

 sevisolpxe egrahc llams gnisU .5  
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ecneicS onaN ot noitcudortnI : 

icrexe yb degnarra rettaM 001 ot 1 fo shtgnel revo lortnoc gnis  onan   dna retem

 dna ezis rieht ot cificeps era taht scitsiretcarahc tibihxe serutcurts gnitalumrof eht

 dellac era slairetam gnitluser eht ,snoisnemid onaN   cinagro dna cinagronI .slairetam

onaN  .sepyt owt eht era slairetam  

SLAITERAM ONAN CINAGRONI : 

 onaN   sebut onan nobraC ,s’enerelluF sa hcus slairetam cinagroni derutcurts

 dna onaN   tI .enerelluf retsnimkcuB si mrof lluf s’enerelluF .yrogetac siht fo era seriw

 enerelluf hcaE .erutcurts depahs llab reccos sti fo esuaceb ,llab ykcuB dellac osla si

c elucelom  era seriw onaN .epahs ralubolg ni degnarra smota nobrac 06 fo sesirpmo

 yehT .slatem suoirav dna edixo cniz ,nocilis fo edam noisnemid eno ni stnemegnarra

 ni snel tub egnar retem onan ni retemaid gnivah era ertemorcim   seriw onaN  .egnar

itpo na ekil tca nac  ot ti gnidnib yb denut eb nac ecnatcudnoc rieht dna rebif lac

.selucelom tnereffid  

SLAIRETAM ONAN CINAGRO  

 .slairetam onan cinagro dellac era serutcurts onan gnivah sdnuopmoc nobraC

 AND a morf nekat sdnarts lareveS .digir ylevitaler si elucelom AND A  elucelom

 AND dezisehtnys yllaicifitrA .ssenffits rehgih htiw serutcurts morf ,denibmoc nehw

 sa esimorp wohs ,yticapac elbataeper eht ssessop serutcurts fles - ylbmessa   otni

8 na taht detaeper si tI .erutcurts lacirtemoeg - f etadidnac doog a si erutcurts dedis  ro

 eht ecudorp ot decudni eb dluoc sllec eht ,sllec fo AND eht gnitalupinam yB .gninolc

 tcudnoc neve hcihw edam neht eb dluoc serutcurtsonan desab nietorP .snietorp fo epyt

.yticirtcele  

:serutcurts mutnauQ  

ew sA  siv ew,slairetamonaN elacs klub morf nwod og  rewol fo slairetam eht ezilau

.swollof sa elacs onaN  eht ni snoisnemid  

3 ni( lairetam klub eht morf noitcuder eht nehW -  ti ,noitcerid eno ni si)snoitnemid

2 ni erutcurts a ni stluser -  dellac si dna snoisnemid D2 - mlif  .)1. gif(  
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        serutcurts mutnauq fo margaid citamehcS  

 eno ni eb lliw erutcurts tnatluser eht ylsuoivbo ,snoitcerid owt ni si noitcuder eht fI

 ,snoitcerid eerht eht lla ni si noitcuder eht fi .eriw mutnauq dellac si hcihw noisnemid

tniop a ot secuder lairetam eht   dellac osla si tI .tod mutnauq a sa nwonk llew si hcihw

 .retsulc ro elcitraponan a  

serutcurts mutnauq suoirav rof )soD( setats fo ytisneD : 

 nac ew ,snoisnemid eerht & owt ,eno ni sag nortcele sa snortcele eerf eht gnitaerT

ytisned rof noisserpxe ta evirra  .sesac evitcepser eht rof setats fo  

 ygrene fo noitcnuf sa serutcurts mutnauq suoirav eht rof )soD( setats fo ytisned ehT

 .gif ni nwohs era  

 eb lliw ytisned ehT .ylsuounitnoc suoirav ,slairetam D3 rof )E(g sa detoned SOD ehT

o eht fo redro eht fo yllacipyt  fo redr 01 62  / 𝑚3  2 a rof .ve - ,erutcurts D  

2 a ni sdnabbus SOD ehT -  yb nevig si erutcurts D  

=)E(D 𝑚∗

𝜋ħ2 

 pets a sa seirav )E( D sa detoned sod eht -  D  ni esir neddus eb lliw ereht ,.e.i noitcnuf

 sa hcus seulav ygrene niatrec ta )E( 𝐸1,𝐸2  ygrene eht esuaceb sneppah ti.)b2. gif( ,,,
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 eht nehw neve seunitnoc dnab bus tsrif eht fo )setats ygrene fo smret ni ( ssergorp

.strats dnabbus dnoces  

 

 dnoces eht nI .oS  ygrene nwo sti ot morf trapa ,dnabbus ereht ,setats   lanoitidda eb lliw

f noitubirtnoc  setats ygrene fo noitaunitnoc eht mor tsrif fo  sod eht ecneH .dnabbus

ecneh. dnabbus dnoces fo gninnigeb eht ta ecno ta sesir SOD   sesir ecno ta   eht ta

 dnoces fo gninnigeb niagA .dnabbus  & tsrif fo ssergorp ygrene eht denibmoc eht ,

 otni retne sdnabbus dnoces  driht eht dnabbus   eht ta rehtruf sesir SOD &,

 driht fo tnemecnemmoc suhT .dnabbus   .epahs esac riats a sekat noitairav llarevo eht

 eht fo ssenkciht eht fI .alobarap a eb lliw eht fo srenroc eht lla fo sucol eht ,revewoh

2- desaercni si lairetam D erom ,  abbus liw sdn aercni stluser hcihw detaerc eb l  eht fo es

 pets fI .htdiw   esaercni ssenkciht neht ,seunitnoc  3 sehcaer lairetam eht, timil si ti - 

 hcihw ta snoisnemid eht ,emit   na otni degrem  nees eb dluow spets elbaremunni

( SOD rof noitairav cilobarap fo epolevne 3 a rof eb dluohs ti sa -  eht.)lairetam D

 si ytisned fo yllacipyt  fo redro eht 01 81 /𝑚2 2 rof Ve - ).erutcurts D  

 = Ed )E( D 𝑚∗
�ℎ2 ∑ 𝐻(𝐸 − 𝐸𝑖  eht ni nortcele fo ssam evitceffe eht si *m erehW,Ed )

E( H dna ,erutcurts -𝐸𝑖  edisivaeH dellac noitcnuf pets a si )  orez era seulav sti.noitcnuf

< E  rof 𝐸𝑖  E rof 1 ,dna  ≥ 𝐸𝑖 

𝐸𝑖   eht si 𝑖𝑡ℎ 1 a roF.dnabbus eht ni level  ygrene -  D e.i ,erutcurts  ,eriw mutnauQ a rof ,.

3 fo esac eht ni sa htooms ton si noitairav SOD eht -  revo tnatsnoc neve ton erutcurts D
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 .osla dnab bus eht ehT  e seulav ygrene ta skaep stih ytisned 𝐸1  , 𝐸2  sesaerced dna ,…

 neewteb ni egnar eht ni yldipar  

evig si esac siht ni SOD ehT ,yb n snortcele   yb snoitcerid erom ro eno ni denifnoc era

 esoht ni lairetam eht fo snoisnemid eht gnicuder eht ,snoitcerid   eht fo ytisned s’etats  

,ygrene fi noitazitnauq ot eud segnahc  

1 ni decuder lairetam a si hcihW -  onan ot noitnemid ereht ,elacs  tnauQ si  fo noitazi

 ytisned eht noitcerid eno ni snortcele fo tnemenifnoc ot eud ygrene  a rof setats fo

2r o llew mutnauq -  mlif D yb nevig si Ed
EE
EEHn

h
mEdE

i

ii

(
)(2)( 2  

H(H erehW -Ei n.noitcnuf edisivaeH eht si ) i .noitcnuf etareneged eht si  

 sisehtnyS  fo s’lairetamonan :  lairetam fo sehcaorppa tnereffid owt era erehT

pot eht si enO .noitacirbaf - mottob eht si rehto eht dna hcaorppa nwod - .hcaorppa pu  

poT - euqinhcet nwod : nI  pot -  dna nekat si lairetam klub a yllareneg ,euqinhcet   nwod

 ro orcam eht dohtem siht nI .tcudorp dna epahs derised eht otni yfidom ot ti denihcam

 epyt siht fo selpmaxE .selcitrap ezisonan eht teg ew llit dellim era selcitrap ezis orcim

t era euqinhcet fo  spets fo ecneuqes a gnisu stiucric detargetni fo gnirutcafunameh

 llab ,sisehtnys lairetamonan roF .cte ,noitatnalpmi noi ,gnihcte ,yhpargohtil ,sa hcus

pot tnatropmi na si gnillim -  era serutcurts enillatsyrcorcim erehw ,hcaorppa nwod

syrconan ot nwod nekorb  si lairetam eht fo ytirgetni lanigiro tub ,serutcurts enillat

 .deniater  
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mottoB - euqinhcet pu : 

mottoB -  rof ,slairetam cisab eht morf gnihtemos dliub ot desu si euqinhcet pu

ezisonan eht teg ew llit pu selucelom/smota eht morf slairetam gnilbmessa ,elpmaxe  

onan rof tnatropmi yrev erofereht ,dna selcitrap -  cihpargohtil ekilnU .noitacirbaf

pot fo euqinhcet -  siht ,yrtsudni nocilis ni desu ylevisnetxe si hcihw ,hcaorppa nwod

mottob -  yletelpmoc ton si sisehtnys lairetamonan fo hcaorppa cihpargohtilnon pu

 ni nevorp  evitanretla tnatropmi emoceb ot laitnetop taerg sah tub ,tey gnirutcafunam

mottob fo selpmaxE .ssecorp cihpargohtil ot - fles era euqinhcet pu -  fo ylbmessa

slairetamonan los , -  ,ygolonhcet leg noitisoped ortcele  ruopav lacimehc dna lacisyhp ,

VC ,DVP( noitisoped  ,)D laixatipe  .cte ,noitalba resal ,htworg  

llaB - gnillim :  nwodpot si dohtem gnillimllaB taht ,hcaorppa   nekorb si lairetam klub si

elcitrap ezisonan otni nwod . 

:noitcurtsnoC A  sti tuoba gnitator rebmahc lacirdnilyc wolloh a fo stsisnoc llim llab

 eht ot elgna llams a ta ro latnoziroh rehtie eb yam llehs eht fo sixa ehT .sixa

.latnoziroh  

 

 
 

 edibrac netsgnut fo pu edam sllab yvaeh & drah era ereht rebmahc eht edisnI

/ eseht ,leets   si rebmahc eht. selcitrap ezis rellams ecudorp hcus ,detnuom   sixa sti taht

 eno ni etalumucca dna edils it edisni lairetam elbane ot latnoziroh eht ot denilcni si

.noiger  

gnikroW  

trats si rebmahc eht otni def & ezis niarg llams otni edam lairetam nevig ehT   etator

 nwo sti tuoba eht ,sixa   semoc era sllab ytivarg ot euD .sdrawpu deirrac steg era sllab
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 hgih a htiw elpmas eht ot stih& nwod sihT .deeps   eht litnu detaeper erudecorp

 ezisonan ot decuder teg ot lairetam  .elcitrap  

loS - euqinhcet leG : ehT   selcitrap dilos fo edam noitulos ladiolloc a fo eman a si los

 eb nac leg eht dna esahp diuqil a ni dednepsus ,retemaid ni mn derdnuh wef

.tnevlos a ni desremmi elucelomorcam dilos a sa deredisnoc  

loS -  leG  :euqinhcet ehT  s ladiolloc a fo eman a si los oitulo  selcitrap dilos fo edam n

 a ni dednepsus ,retemaid ni mn derdnuh wef  eb nac leg eht dna esahp diuqil

.tnevlos a ni desremmi elucelomorcam dilos a sa deredisnoc  

los ehT - tew a si ssecorp leg -  desab lacimehc fles - ylbmessa   rof ssecorp

( .noitamrof lairetamonan A osl   desu ylediw )noitisopeD noituloS lacimehC sa nwonk

 era sdohtem hcuS .gnireenigne cimarec dna ecneics slairetam fo sdleif eht ni yltnecer

 a morf gnitrats )edixo latem a yllacipyt( slairetam fo noitacirbaf eht rof yliramirp desu

s ,los( noitulos lacimehc  detargetni na rof rosrucerp eht sa stca hcihw )noitulos rof troh

.sremylop krowten ro selcitrap etercsid rehtie fo )leg ro( krowten  

 

 
 

:SEBUTONAN NOBRAC  

 sebutonaN nobraC   a naht renniht semit 000,01 tuoba fo sebut ralucelom a si

  .erugif eht ni nwohs sa snogaxeh nobrac fo steehs pu dellor fo tsisnoc ,riah namuh

retemaid ni sretemonan wef a gnirusaem selucelom elgnis era sebutonan esehT   dna

.htgnel ni snorcim lareves  

an ehT  teehs eht fo sdne owt eht woh nopu dneped seitreporp gnitcudnoc sebut on

 enil gniteem eht gnola smota fo tnemegnarra fo yaw ralucitrap a roF .gnola teem

 eht ,tnemegnarra fo epyt rehtona rof dna latem a ekil gnitcudnoc ebut eritne eht sekam

kil sevaheb ebut  rehtona edisni dellor si ebut onan epyt eno nehW .rotcudnocimes a e

 dna srotsisnart sebut onan rotcudnocimes gnisU .epyt onan dellaw itlum teg ew epyt

   .sebut onan gnisu edam era seriw onaN .detcurtsnoc era setag cigol  
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 onaN  sebut non - evitcaer  htiw dna   detacirbaf rotsisnart A. serutarepmet hgih

 .nortcele elgnis a fo wolf htiw ffo dna no dehctiws nac dnalloH ta ebut onan gnisu

.sretupmoc ni stiucric eht fo ezis eht secuder sihT sebut onan nobrac fo sisahtnyS  

egrahcsid crA : 
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 egrahcsid cra nobrac ehT  eht si ,senerelluf 06C gnicudorp rof desu yllaitini ,dohtem

ecudorp ot yaw tseisae spahrep dna nommoc tsom  sTNC  rehtar si ti sa , A .elpmis  

ehw sebutonan nobrac fo sisehtnys eht rof dohtem  ssorca deilppa si egatlov cra cd a er

 .eH sa hcus sag treni na ni desremmi sedortcele etihparg owt  

 etihparg fo toos nobrac eht ni 1991 ni devresbo erew sebutonaN sedortcele   na gnirud

 cra 001 fo tnerruc a gnisu yb ,egrahcsid  taht,spma   ecudorp ot dednetni saw

.senerelluf  setaerc dohtem sihT  sTNC  cra hguorht -  sdor nobrac owt fo noitaziropav

ppa yb detarapes ,dne ot dne decalp  yllausu si taht erusolcne na ni ,mm1 yletamixor

 wol ta sag treni htiw dellif A .erusserp   a yb nevird ,A001 ot 05 fo tnerruc tcerid

 egrahcsid erutarepmet hgih a setaerc ,V 02 yletamixorppa fo ecnereffid laitnetop

av egrahcsid ehT .sedortcele owt eht neewteb  nobrac eht fo eno fo ecafrus eht sezirop

dor llams a smrof dna ,sedortcele -  .edortcele rehto eht no tisoped depahs

gnicudorP  sTNC  ,cra amsalp eht fo ytimrofinu eht no sdneped dleiy hgih ni   eht dna

.edortcele nobrac eht no gnimrof tisoped eht fo erutarepmet   

  setamilbus edortcele evitagen eht ni deniatnoc nobrac eht ,ssecorp siht gniruD

hgih eht fo esuaceb -  cra ehT( serutarepmet egrahcsid –  erup fo noitaropave amsalp

d eht ot del sdor etihparg  nobrac fo yrevocsi ( ebutonan ).)sTNC  

sisyloryP  

 

sisyloryP   si  rehgih fo dnuopmoc lacimehc fo noitisopmoced eht ralucelom  

tni thgiew o  noitadixo on taht os negyxo ecnesba eht ni gnitaeh yb sdnuopmoc relpmis

004 ta deirrac sti, srucco 0 008 otC  0 ehT.C   dessap si enahtem sa hcus sag nobracordyh

 sag eht sisyloryp ot eud tneserp si tsylatac hcihw ni ebut ztrauq detaeh a hguorht

 .eerf era smota nobrac neht sesopmoced  ro ,eF,iN sa hcus tsylatac htiw dniB

 dna tsylatac eht no worg sebutonan nobraC.oC c si emas .gnilooc retfa detcello  
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sTNC fo noitacilppA   

s’lairetamonaN   ,lacitpo evitcnitsid elacs siht ta esuaceb tseretni fo era

 gnivah slairetam eseht ,siht ot eud egreme seitreporp rehto dna lacirtcele ,citengam

 , sisylatac , egarots noitamrofni citengam ni noitacilppa laitnetop fo egnar ediw

citengam dna lacitpo decnahne   llew sa , gnigami detegrat ni sa - ypareht cificeps . 

 .1  sa hcus raeg strops fo yteirav dna stniap eniram ,senibrut dniw rof desu neeb sah tI

.sdraobfrus dna ,sworra gnitnuh ,stab llabesab ,skcits yekcoh eci ,siks  

 .2 rof spit sa desu si tI  epocsorcim ecrof cimota  .seborp  

 .3 .htworg enob rof gnidloffacs sa tca nac sebutonan nobrac ,gnireenigne eussit nI  

s'ebutonan nobrac eht fo esuaceB  .4   serutcurts ynam ,seitreporp lacinahcem roirepus

 ot raeg strops dna sehtolc ekil smeti yadyreve morf gnignar desoporp neeb evah

dna stekcaj tabmoc  srotavele ecaps . 

 .5 ebutonaN - ab des  srotsisnart sa nwonk osla ,  dleif ebutonan nobrac - ceffe  t

srotsisnart   era taht dna erutarepmet moor ta etarepo taht edam neeb evah ,)sTEFTNC(

 eht fo ezis eht secuder sihT .nortcele elgnis a gnisu gnihctiws latigid fo elbapac

.sretupmoc ni stiucric  

:setoN  

seriW .1  etacirbaf eb yam tnerruc lacirtcele gniyrrac rof  dna sebutonan erup morf d

ebutonan -  htiw detacirbaf neeb evah seriw llams yltneceR .setisopmoc remylop

 dna reppoc gnideecxe ytivitcudnoc cificeps muinimula ;  tsehgih eht era selbac eseht

non ytivitcudnoc tsehgih osla dna ebutonan nobrac ytivitcudnoc - ac latem .selb  

2  evah sebutonan nobrac fo seitreporp lacinahcem dna lacirtcele lanoitpecxe ehT .

 dna cipocsorcim htob rof srotautca lacirtcele lanoitidart eht ot sevitanretla meht edam

.snoitacilppa cipocsorcam  

3 elgnis fo snoitacilppa gnisimorp eht fo enO . - c dellaw  si )sTNWS( sebutonan nobra

siV/VU gnorts rieht ot eud ,slenap ralos ni esu rieht - .scitsiretcarahc noitprosba RIN  

4  yb debrosba eb nac hcihw ,egnar ycneuqerf evaworcim eht ni krow sradaR  .

b ot radar eht esuac dluow tfarcria eht ot sTNWM eht gniylppA .sTNWM  debrosba e
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 tniap ot eb dluoc noitacilppa hcus enO .erutangis rellams a evah ot mees erofereht dna

.enalp eht otno sebutonan eht  

5 elgniS . -  deticxe neht ,sllec suorecnac dnuora detresni era sebutonan nobrac dellaw

 taeh ot meht sesuac hcihw ,sevaw oidar htiw .sllec gnidnuorrus eht llik dna pu  

 :MES  

elpicnirP  eht fo erutan evaw eht si MES fo gnikrow eht ni desu elpicnirp ehT:

 ekil evaheb stlov V fo ecnereffid laitnetop a rednu detarelecca nortcele nA.snortcele

 htgnelevaw fo evawa  

Em
h

Vem
h  

 

noitcurtsnoC :  hcihw edisni rebmahc detaucave ylhgih na fo stsisnoc sutarappa ehT

 .edona eht dna tnemalif eht fo sesirpmoc hcihw pot eht ta nug nortcele na si ereht

 eht si eno rehto eht dna ’C‘ snel gnisnednoc eht si eno ,sesnel citengam owt era erehT

cejbo  lacirehps, hcihw gnisu erutrepa yarps a si erehT .lioc a htiw.’O‘ snel evit

 dedivorp si egats dellac ecafrus talf  A ,deziminim eb lliw gnisucof gnirud noitarreba

.yduts rednu nemiceps eht ecalp ot sutarappa eht fo noitrop mottob eht ta  

 derettacs kcab, era yehT .sutarappa eht ni srotceted fo sepyt eerht era erehT

X dna ,rotceted nortcele noissime yradnoces ,rotceted nortcele -  hcihw rotceted yar

.noitacilppa ralucitrap eht nopu gnidneped ylevitceles desu eb dluoc  

:gnikroW  

i eb ot elpmas ehT  fo edisni ,hcihw retfa egats nemiceps eht no decalp si detagitsevn

.pmup muucav hgih a ot ti gnitcennoc yb detaucave si rebmahc eht  

 yb detarelecca era dna noissime cinoimreht yb tnemalif eht yb dettime era snortcelE

deilppa si laitnetop evitisop elbatius a   nehT .tnemalif eht ot tcepser htiw ,edona eht ot

 morf erutrepa yarps eht hguorht ssap nug nortcele eht morf snortcele detarelecca

 dna maeb eht segrevnoc snel gnisnednoc ehT .segreme maeb nortcele eht erehw

hgih emos   setanimile -  maeb ehT .snortcele elgna  evitcejbo eht hguorht sessap neht

 otni sretne neht maeb renniht a .dellortnoc eb nac maeb eht fo ezis eht erehw erutrepa

 eht fo trap derised eht ot no maeb eht sesucof hcihw, ’o‘ snel evitcejbo fo dleif eht

.nemiceps  
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 dellac slioc fo tes A  slioc nacs elbane ,snel evitcejbo eht htiw gnola decalp s  eht  maeb

 dellac yaw ralucitrap a ni nemiceps eht nacs ot .retsar  

 fo tcapmi eht ot eud nemiceps eht morf tuo dekconk era snortcele ,ecnedicni nopU

X eht dna snortcele yradnoces ,snortcele derettacs kcaB .maeb eht -  era dettime syar

 srotceted evitcepser eht yb detceted  dna  sihT .decudorp si langis gnidnopserroc

oc si langis ehT .neercs a no ssenthgirb gnidnopserroc fo tops orcim a otni detrevn  

 sllewd niaga ti erehw ,redro ni tops tnecajda txen eht ot detfihs si sucof maeb

:gnikroW  

 fo edisni ,hcihw retfa egats nemiceps eht no decalp si detagitsevni eb ot elpmas ehT

rebmahc eht  .pmup muucav hgih a ot ti gnitcennoc yb detaucave si  

 yb detarelecca era dna noissime cinoimreht yb tnemalif eht yb dettime era snortcelE

 nehT .tnemalif eht ot tcepser htiw ,edona eht ot deilppa si laitnetop evitisop elbatius a

t morf snortcele detarelecca  morf erutrepa yarps eht hguorht ssap nug nortcele eh

 dna maeb eht segrevnoc snel gnisnednoc ehT .segreme maeb nortcele eht erehw

hgih emos   setanimile -  evitcejbo eht hguorht sessap neht maeb ehT .snortcele elgna
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c eb nac maeb eht fo ezis eht erehw erutrepa  otni sretne neht maeb renniht a .dellortno

 eht fo trap derised eht ot no maeb eht sesucof hcihw, ’o‘ snel evitcejbo fo dleif eht

.nemiceps  

:snoitacilppA  

.yduts ot desu si MES  

)1(  .epocsorcim bus eht ni smsinagro lacigoloib fo ygolohprom lanretxE  

)2(  opmoc lacimehC noitis  

)3(  .noitagitsevni cisnerof ni desu osla si MES.erutcurts enillatsyrC  

)4(  secafrus latem no sreyal dedorroc eht yduts ot desU  

)5(  .sniarg nellop ekil snemiceps lacigoloib yduts ot desU  


